Smooth/Low Speed Cylinders

CL1Y/CL1X series

Reducing stick-slip in a low speedrange:
Smooth Cylinders' CL1Y Series
Stable operation possible even at

a IOW Speed Of 5 m m/S (Measurement based on JIS B 8377)

Low sliding possible even in Lightweight/Improved functions
bi-directional operation (New structure equivalent to the standard models)

- Better visibility for auto switches
. (only when the D-M9J/A90] are used in the CJ2Y, CM2Y, CG1Y)
Interchangeable with the standard models ¥ - Female rod end available as standard (CG1Y, CM2Y, CQSY, CQ2Y)

(CJ2y, CM2Y, MBY, CA2Y, CS2Y)

Can be operated regardless of the direction of pressure.

cJ2y . cmzy 2N CG1Y MBY
(210, 216) 2 (220 to 940) . “, F) (220 to 2100) A (232 to 100) -1
Z -« - = < 5
* 5> ’//
A =g .
CA2Y cQsy cQzy
(940 to 2100)

(212 to 925) (932 to 100)
. P /
i\ . 0
Reducing adhesion/quick extension!

Low Speed Cylinders CLIX Series
Smooth operation possible even at 0.5 mmiss

(1 mm/s for 16 or smaller)

Minimum operating pressure is reduced in half. | Improved functions

(Compared to previous version) (New structure equivalent to the standard models)
The new structure has improved low friction characteristics. - Better visibility for auto switches
(CM2X, CQSX, CQ2X) (only when the D-M9I/A90 are used in the CJ2X, CM2X)
. - Female rod end available as standard (CM2X, CQSX, CQ2X)
I Interchangeable with the standard models
CJ2X CcCM2X casx cQ2x i cux
(210, 16) A (220 to 240) ; (912 t0 25) _ (232 to 2100) = (210 t0 ©32) .
L ) e -
_.?’"3‘ g 9
PV
Clean room specification Low-Speed Rotary Actuators e U R

10-/11- Series
Low-speed compact rotary actuator  Low-speed rotary table

CRQ2X series I MSQX series =5

A
N

145



Smooth/Low Speed Cylinders

| L L e
T N
= © Low speed cylinder '\ N
g 006 || (-XB9, XB13) O Standard cylinder 7)
~ N \ 777
N
2 0.05 1 00 ge 0 ﬂ/ Q
H P Ao ta 1 8
@ S S, . =
5 o004 Replaceable . : 1] = pun g
g} 0 peed gde “\\ g L 2
£ N 4l 2
E;- 0.03 g g
~ 1 ‘n
g 0.02 / / \
g \\ T 4/
I~
£ |
= oo 2 e peed de l
Reducing adhesio b Low speed operz Sl
01 10 100 1000

Piston speed (mm/s)

_“ Smooth cylinder (CLIY)

I Low speed operation (from 5 mm/s)
I Low pressure operation
1 Pressure on both sides

- Pressing force control

- Balance control of winders etc.

- General low-speed operating applications
- Tension control

_g Low speed cylinder

(-XB9, XB13)

I Low speed operation

Function

@ Smooth cylinder

@ Low speed cylinder

_g Low speed cylinder (CLIX)

B Low speed operation (from 0.5 mm/s)
M Low pressure operation
M Pressure on both sides
M Reducing adhesion
- Load transfer without a lateral load (Lightweight trays etc.)

- Transfer with less adhesion (Wafers etc.)
- Higher-accuracy pressing force control

_G Standard non-lube cylinder

[ General applications

© Low speed cylinder| @ Standard non-lube

(cay) (COX) (-XB9, XB13) cylinder

CUX10: x
@ Low pressure operation © Others: © A A
@ Low speed operation O o O A
© Reducing adhesion @) [©) @) A
O Reducing quick extension O o O A

1 CUX10: x
© Pressing force control @) Others: O O A
@ Low sliding O [©) @) A

©: Excellent O: Good A:Usable x: Handle with caution.
® 146

N



CLY/CUIX series

[l Selection Procedures (Reference Example)

Transfer Thrust control, Handling, Pressing
Purposes

. Thrust control length 2 mm o longer
<
L 2 50 mm/s ~J 500 mm/s A 2
or more ormore = ——
Piston speed (4] Piston speed M (4] Control strokeJ
Less than Less than Thrust control length
50 mm/s 500 mm/s less than 2 mm
Without balancer or
v thrust control
Low sliding 0060
With balancer or
thrust control
. v . v .
Required _— Required _— Required _—
Low adhesionH (2] Low adhesionH (2] Low adhesion H (2]
Not required Not required Not required (Except CUX10)
v v

@ Consider using the smooth cylinder (CLIY). @ Consider using the low speed cylinder (CCIX).
© Consider using the low speed cylinder (-XB9, XB13).
O Consider using the standard non-lube cylinder.

B Glossary Explanation

Average piston speed Cylinder full stroke (length) divided by air pressure operating time.

Adhesive phenomenon Quick extension or delay occurs when cylinders are not operated for long hours.

Thrust control Control the pressing force by controlling air pressure in the cylinder.

Balancer Cylinders move along with the moving workpiece.

(o | [T EHLRGIIERSGERE  Calculate the cylinder thrust multiplying piston area by pressure. Piston area varies depending on models and bore sizes.

B Applicable Model/Bore Size

@ Smooth cylinder @ Low speed cylinder (New model)

(]
Type Smooth

: G . o
cylinder (New model) (C‘f)’('gs‘)'(naﬂdzel') Tie-rod Compact

Small [ ] ° [ ] CJ2 Model | CJ2Y |CM2Y|CG1Y|CA2Y|CS2Y | MBY |CQSY|CQ2Y | CJ2X |CM2X |CQSX|CQ2X | CUX
Round [ ] [ ] [ ] CM2 210 [ ] [ ] [ ]
[ ] [ ] CG1 012 [ ] [ ]
[ ] [ ] mMB 016 [ ] [ ] [ ] [ ] [ ]
Tie-rod [ ] CA2 220 [ ] [ ] [ ] [ ] [ ] [ ]
[ ] Cs2 025 [ ] [ ] [ ] [ ] [ ] [ ]
c [ ] [ ] [ ] cas 032 [ ] [ ] [ ] [ ] [ ] [ ] [ ]
b [ ] [ ] [ ] CcQ2 240 [ ] [ ] [ ] [ ] [ ] [ ] [ ]
Free mount [ ] [ ] CcuU 250 [ ] [ ] [ ] [ ] [ ]
O: Standard 263 L) L) L) °
280 ] [ ] [ ] [ ] [ ]
2100 [ ] [ ] [ ] [ ] [ ]
0125 [ ]
0140 [ ]
2160 [ ]
P.151|P.166-1|P. 184 |P.211|P.225|P. 196 |P. 238 | P. 246 | P. 264 |P.279-1 |P. 299 | P. 308 | P. 323

SMC 147 ®

O



Smooth/Low Speed Cylinders CQUY/CQUIX series

Added compact foot brackets.

B Compact foot bracket has the same width as the
cylinder. Overall width reduced by up to 43% (¢12)

\/{f*
Overall width \_Compact foot bracket

shortened

B More compact installation space possible
¢ Short pitch mounting is possible.
¢ Allows installation close against a wall.

Installed state Shortened
i llation width

Bore Compact Current | Reduced width for short
size foot type foot type pitch mounting (mm)

(mm) | width A (mm) |width B (mm)[ 3 unit T2 units |3 units
12 25 44 19 38 57
16 29 48 19 38 57
20 36 62 26 52 78
25 40 66 26 52 78
32 45 71 26 52 78
40 52 78 26 52 78
50 64 95 31 62 93
63 77 113 36 72 108
80 98 140 42 84 | 126
100 117 162 45 90 135

+ Short pitch mounting is possible only without auto switch.

H Height from the bottom of brackets to the center of
a cylinder is the same as the current model.

Compact foot bracket Current foot bracket

Applicable Cylinders: CQSY (P. 238), CQ2Y (P. 246) (Smooth Cylinders), CQSX (P. 299), CQ2X (P. 308) (Low Speed Cylinders)

® 148



Smooth Cylinders CLIY series

Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

Example) CDM2Y[C]20-50Z1- N W -moBW

Mounting
Pivot bracket Rod end bracket
Nil |None Nil |None
N | Pivot bracket is shipped together with the product, but not assembled. V | Single knuckle joint
= Applicable to only mounting C, T, U, E, V, and UZ. W | Double knuckle joint
Q |Rodend
Kit of pivot bracket Kit of pivot bracket
and single clevis and trunniol-___ (With rod end bracket N
V: Single @ W:Double a
knuckle joint g« knuckle joint z=

Q: Rod end P ﬂ
.

example) CDA2Y [D]40-100Z- N W -MoBW

Mounting
Pivot bracket Rod end bracket
Nil |None Nil |None
N | Pivot bracket is shipped together with the product, but not assembled. V | Single knuckle joint
= Applicable to only mounting D (Double clevis) and T (Center trunnion). W | Double knuckle joint
Kit of pivot bracket Kit of pivot bracket With rod end bracket
and trunnion V: Single knuckle joint ~ W: Double knuckle

and double clevis
=

joint

Applicable Cylinders: CJ2Y (P. 151), CM2Y (P. 166-1), CG1Y (P. 184), CA2Y (P. 211), MBY (P. 196) (Smooth Cylinders)

SMC 149 ®

O



CcJ2Y/CMm2y/CG1Y/MBY/
CA2Y/CS2Y/CQSY/CQ2Y series

. Minimum operatin

cJzy
&R
cmzy-z1 @/

mMBY
CA2Y

cs2y

casy \ %

“
cazy —
. /
%
® 150

O

10, 16

20, 25, 32, 40

20, 25, 32, 40

20, 25, 32, 40

50, 63, 80, 100

32, 40

50, 63, 80, 100

40

50, 63, 80, 100

125, 140, 160

12,16

20, 25

32,40

50, 63, 80, 100

SVC

0.03

0.02

0.02

0.02

0.005

0.03

0.02

0.01

151

166-1

167

184

196

211

225

238

246



Smooth Cylinder
Double Acting, Single Rod

J2Y Series

210, 316

How to Order

] CJ2Y
G 1. 72 1

Smooth cyllnder

0 Mounting 9 Bore size 0 Head cover port location 6 Pivot bracket
B Basic [10] 10 mm | Nil None
E Double-side bossed \ 16 \ 16 mm \ Nil | Perpendicular to axis § v N Pivot bracket is shipped
D Double clevis . together with the product.
L Single foot : + Only for CJ2D (double clevis)
M Double foot 9 Cyllnder standard stroke (mm) R Axial \ + Pivot bracket is shipped together with
Refer to “Standard Strokes” on page - the product, but not assembled.
F Rod flange 152. -
G Head flange * For double clevis, the product is

perpendicular to the cylinder axis.

= Foot/Flange brackets are shipped together with the product, but not assembled. ! .
+ For double-side bossed, the product is

6 Rod end bracket 0 Auto switch perpendicularto the cylinder axs. e Number of auto switches
Nil None [ Nil_|  Wwithoutauto switch | Nil 2 pes.
\ Single knuckle joint = For applicable auto switches, refer to the table below. S 1 pc.
Wik Double knuckle joint n “n” pcs.
T Rod end cap (Flat type) 9 Auto switch mounting type
V) Rod end cap (Round type) [A] Rail mounting | @ Made to Order
* Rod end bracket is shipped together with the product, but ‘ B ‘ Band mounting ‘ Refer to page 152 for details.
* :ol:niziﬁer?c?:??)in is not provided with the single knuckle joint. " fvﬁ;‘ r‘:l :r;ﬁfmhng, serews and nuts for 2 auto switches come

=+ Refer to page 158 for the double knuckle joint (with one-

" . + Refer to page 165 for auto switch mounting brackets.
touch connecting pin).

= Refer to “Ordering of Cylinder A bly” on page 152.
Applicable Auto Switches/Refer to pages 1341 to 1435 for further information on auto switches.
Blectica =3 Wiring Load voltage Auto switch model Lead wire length (m) Provited | Applicable
Type| Special function g Band mounting Rall mounting 05| 1|35 |None|
Slls L I AT inine ] incine | (NI | )| ©)| @) | ()| ™| 102
3-wire (NPN) sVA2Y M9INV M9N M9NV M9N ® |0 /0[(0|—| O |..n
< o Grommet Jwire (PNP) ! M9IPV M9P M9PV M9P ® | @0 0| — o
z o-wire 12V M9BV M9B M9BV M9B ® | ®/® O|—| O _
] Connector = H7C J79C = o | — o0 0 —
-g oi i indicati 3-wire (NPN) 5VA2V MONWV | MONW | MONWV | MONW | @ (@ (@ | O|—| O 16 cicit] Rl
B oot meicaton Yes|Gire PNP) |24 V| ™ — [ M9PWV | M9PW | M9PWV | M9PW | @ [@ [@[O[—| O oy
] 2-wire 12V M9BWV | M9BW | M9BWV | M9BW | @ (@ (@ | O|—| O —
g Water resisant Grommet 3-wire (NPN) sVA2Y MINAV*! | MONA*' | MONAV*'| MONA*' | O |O (@ |O|—| O C et
5| (2-color indicator) 3-uire (PNP) ' MOPAV*! | MOPA*' | MOPAV*!| M9PA*' | O |O (@ |O|—| O
@ 2-wire 12V M9BAV*'| MOBA*' |M9BAV*'| M9BA*' | O |O |@ | O|—| O —
Withdiagnosic ovput (20lr indl) 4-wire (NPN) 5V,12V = H7NF — F79F ® | —|®|O0|— O |ICcircuit
5 (NfN'eVuVu:v’a‘;H_\ | sv _ A9V | A% | A%V | A% |e |e|e|le|—| O |comt| —
E crommet| — | 200v - - AT2 A72H (@ [—[®[—|—| — [
o — L 100 V A93V A93 A93V A93 ® | ® 00| | O
3 No| , e 1oy [100Vorkess| AOV | A%0 [ A9V | A%0 [e@ [@[e[e[—[ O [iCawi Rey,
] Yes 24V — — C73C | A73C — o —ejej®| — | — |PC
2 Connector |No 24V or less — C80C A80C = ® | —|® /@ ® — Coiui
Diagnescndcaon (oo indialo) | Grommet | Yes — — — — A79W = e —\ e —|—| — —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
«2 The load voltage used is 24 VDC

= Lead wire length symbols: 0.5 m Nil (Example) MONW 5m - Z (Example) MONWZ
im M (Example) MONWM None - N (Example) H7CN
3m L (Example) MONWL

= Since there are other applicable auto switches than listed above, refer to page 166 for details.
= Auto switches marked with “O” are produced upon receipt of order.
 The D-A90J/M9CI/A71/A80LI/F701/J701 auto switches are shipped together, but not assembled. (For band mounting, only the auto switch mounting brackets are assembled before shipment.)

151 ®



CJ2Y series

Specifications
————
Bore size (mm) 10 \ 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum ing pressure 0.7 MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C

With auto switch: —10°C to 60°C (No freezing)

Symbol Cush'ion' Rubber bumper.(Standard equipment)
Lubrication Not required (Non-lube)
Rubber bumper Stroke length tolerance 10
Piston speed ‘ 5 to 500 mm/s
P 210 0.035J
Allowable kinetic energy ‘ 216 0.090J
Minimum Operating Pressure
—
10| Unit: MPa
Mgg‘ee' Made to Order I Bore size (mm) I 10 I 16 |
Click here for details | Minimum operating pressure | 0.03 |
Symbol Specifications
-XAL | Change of rod end shape
-XC3 | Special port location Standard Strokes
-XC9 | Adjustable stroke cylinder/Adjustable retraction type
Bore size (mm) Standard stroke (mm) Maximum stroke (mm)
10 15, 30, 45, 60, 75, 100, 125, 150 400
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

Mounting Brackets/Part No.

Mounting Bore size (mm)
bracket 10 16
Foot CJ-Lo10C CJ-Lo16C
Flange CJ-Fo10C CJ-Fo16C
T-bracket® CJ-T010C CJ-To16C

+ A T-bracket is used with double clevis (D).

152

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” in the Web Catalog. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.

Mounting and Accessories/ror details about accessories, refer to page 158.

@---Mounted on the product. O---Please order these separately. A---Order separately.

Mounting Basic

Double*!

et clevis

Flange

Mounting nut

Rod end nut

Standard

Clevis pin

Single knuckle joint

Double knuckle joint*!

Double knuckle joint (With one-touch connecting pin)

Option

Rod end cap (Flat/Round type)

[ [Oo|>|0[0]] @@

T-bracket

[ |lOo|>|0[0]] @@
[ |lo|>|0[0]] @@
O|o>[0[0|e|e]|

+1 A pin and retaining rings are included with double clevis and/or double knuckle joint.
+2 Stainless steel mounting brackets and accessories are also available.

Refer to page 159 for details.

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2YD16-60Z-NW-M9BW-B

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

# Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

Double clevis

Pivot bracket

Auto switch
Band mounting


https://www.smcworld.com/content/en-jp/products/custom/index.html

Smooth Cylinder
Double Acting, Single Rod

APrecautions

T Ty ey Ty

1 Be sure to read this before handling the products. 1
I Refer to page 9 for safety instructions and pages 10 to 19 for actuator !
. and auto switch precautions. '
U
\ Mounting

A\Caution

1. During installation, secure the rod cover and tighten by applying an appropriate tightening
force to the retaining nut or to the rod cover body.
If the head cover is secured or the head cover is tightened, the cover could rotate, leading
to the deviation.

2. Tighten the retaining screws to an appropriate tightening torque within the range given be-
low. Apply a Loctite® (no. 242 Blue) for mounting thread.

Bore size | Proper tightening torque for mounting thread (N-m)
(mm) (Tightening torque for mounting nut)
10 3.0t03.2
16 54105.9

3. To remove and install the retaining ring for the knuckle pin or the clevis pin, use an appro-
priate pair of pliers (tool for installing a type C retaining ring).
Especially with 510, use ultra thin pliers.

4. In the case of auto switch rail mounting type, do not remove the rail that is mounted. Be-
cause retaining screws extend into the cylinder, this could lead to an air leak.

Wel ghts

©

Bore size (mm) 10 16
Basic 22 46
Basic weight Axial piping 22 46
(When the stroke is zero) | Double clevis (including clevis pin) 24 54
Head-side bossed 23 48
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint (including knuckle pin) 25 21
Accessories Double knuckle joint (With one-touch connecting pin) 26 22
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
T-bracket 32 50

+ Mounting nut and rod end nut Calculation: Example) CJ2YL10-45.

are included in the basic weight.  Basic weight----- .22 (010)

Note) Mounting nut is not included « Additional weigh
in the basic weight for the
double clevis.

- 4/15 stroke
- 45 stroke
- 8 (Axial foot)

® Cylinder stroke
* Mounting bracket weight
22 +4/15x45+8=42¢g

CJ2Y series

153



CJ2Y series

Dimensions
Basic (B)
CJ2YB ‘Bore size‘ - ‘Stroke‘ ‘ Head cover port location | Z

Section Y detail

¢ Mounting nut
Rod end nut NN\ Y GA  Piping port 2 x M5 x 0.8 GB__ _
&\ gl -
e
(1]
/ A
B3s A F|NA NB
H S + Stroke
Z + Stroke
gil; Piping port M5 x 0.8
Head cover port location
Axial location (R)
* The overall cylinder length does not change.
Y% Refer to page 158 for details of the mounting nut.
(mm)
Bore size A B [ D F GA GB H MM NA NB NDh8 NN S Y4
10 15 | 12 | 14 4 8 8 5 28 M4x07 | 125 | 95 8. 000 M8 x 1.0 46 | 74
16 15 | 183 | 20 5 8 8 5 28 M5 x 0.8 125 | 95 102 M10 x 1.0 47 | 75
Single foot (L)
CJ2yL ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z
Y¢ Mounting nut
Rod end nut NN \ F GA Piping port 2 x M5 x 0.8 GB
Cover surface *\ | =~
’ um a \1 &
Q M T
/(y o| > T TL o3 f
|- o
N/ 5[ 1 v
N N 0
B-os
x| 5
LZ A Piping port M5 x 0.8
2x0LC X|_Y_|_NA NB
Mounting hole H S + Stroke
Z + Stroke

Head cover port location
. _ Axial location (R)
Y¢ Refer to page 158 for details of the mounting nut. « The overall cylinder length does not change.

(mm)
Bore size A|B|C|D|F|GA|GB|H |LB|LC|LH|LT|LX|LY|LZ MM NA | NB NN S| X|Yy |z
10 1512 | 14| 4 28 | 15|45 9 | 16|24 |16.5]| 32 | M4x0.7 |125{ 95| M8x1.0| 46 | 5 74
16 15 (18.3| 20 | 5 8 8 5 |28 |23 55|14 |23 |33 |25 |42 | M5x0.8 |125(9.5 | MI0x1.0 | 47 | 6 9 |75

154

®

-3

o
~




Smooth Cylinder .
Double Acting, Single Rod CJ2Y Series

Dimensions
—
Double foot (M)
CJ2YM [Bore size|-[Stroke| Z
H ¢ Mounting nut i
Sgp A Mounting nut “Yc Mounting nut
Rod end nut Piping port 2 x M5 x 0.8 GB__F NN
Cover surface
, " / ﬂ/
CINECE <
a4 5
(7 g At
‘ LX ‘
Lz
4xoLC
Mounting hole NA NELY X
S + Stroke
LS + Stroke
Z + Stroke

Y¢ Refer to page 158 for details of the mounting nut.

(mm)
Bore size A D F |GA|GB| H |[LB|LC|LH|LS |LT |LX|LY|LZ MM NA | NB NN S X Y z
10 15| 4 8 8 5 |28 |15 ]45| 9 |60 |16]| 24 |165) 32 | M4x0.7 |[125|/ 95| M8x1.0 | 46 | 5 7 | 86
16 15| 5 8 8 5 |28 |23 55|14 |65|23|33| 25| 42 | M5x0.8 [125| 9.5 |M10x1.0| 47 | 6 9 | 90
Rod flange (F)
CJ2YF ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z
Y¢ Mounting nut
Cover surface Rod end nut NN g_e Piping port 2 x M5 x 0.8 GB .
MM al %
) i HITH
N5 m| > ) g
&g Er Siiis R
FX FT BSs
Fz 2xoFC A F | NA NB
Mounting hole H S + Stroke
Z + Stroke
Piping port M5 x 0.8
‘
;
‘VA
Head cover port location
Axial location (R)
¢ Refer to page 158 for details of the mounting nut. * The overall cylinder length does not change.
(mm)
Bore size A B [ D F |[FB|FC | FT |FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 | 12 | 14 4 8 13 |45 16| 24 | 14 | 32 8 5 28 | M4x0.7 |125] 95 | M8x1.0 | 46 | 74
16 15 |18.3] 20 5 8 19 | 55|23 |33 | 20 | 42 8 5 28 | M5x0.8 |125| 95 | M10x1.0 | 47 | 75

155



CJ2Y series

Dimensions

Head flange (G)
CJ2YG |Bore si

~[stroke] Z

Rod end nut GA  Piping port 2 x M5 x 0.8 GB__ ¢ Mounting nut Cover surface
NN NN
)
© MM a ¥ &
o3 7 s WV /@ @ >
5 ) Siis: R EE
B A F|NA NB|| |FT FX 2xoFC
H S + Stroke F Fz Mounting hole
Z + Stroke
¢ Refer to page 158 for details of the mounting nut.
(mm)
Bore size A B [ D F FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 | 12 | 14 4 8 13 |45 |16 | 24 | 14 | 32 8 5 28 | M4x0.7 |[125] 9.5 | M8x1.0 | 46 | 82
16 15 |18.3| 20 5 8 19 | 55 | 283 | 33 | 20 | 42 8 5 28 | M5x0.8 |125| 9.5 | M10x1.0 | 47 | 83

Double clevis (D)
CJ2YD

[Stroke| 2

oCDH9"5*
GA Piping port 2 x M5 x 0.8 NB Clevis pin (2cdd973 5%
Rod end nut GB
(Y] MM (¢)
/ S Q 3 rh i S
3 {€ SSEE =
= ) | 3
BSs A LNA |
H S + Stroke )
Z + Stroke R
ZZ + Stroke
# A clevis pin and retaining rings are included.
(mm)

Bore size A B C |CD(cd)] CX cz D GA | GB H MM NA | NB R S u 4 zz
10 15 12 14 3.3 3.2 12 4 8 18 28 M4x0.7 | 125|225 5 46 8 82 87
16 15 183 | 20 5 6.5 | 18.3 5 8 23 28 M5x0.8 | 125 | 27.5 8 47 10 85 93

156



Smooth Cylinder .
Double Acting, Single Rod CJ2Y Series

Dimensions

Double-side bossed (E)

CJ2VE [Bore size| - [Stroke|Z

Section Y detail ¢ Mounting nut
Rodendnut NN \ Y 9_& Piping port 2 x M5 x 0.8
MM
&% ¥
7 el
2

B2, A F|NA NB

=

l_lﬂgp

0
B-os

Section YY detail

T 4D

S + Stroke F
Z + Stroke

Y¢ Refer to page 158 for details of the mounting nut.

(mm)
Bore size A B c D F | GA|GB | H MM NA | NB NDh8 NN s z
10 15 | 12 | 14 4 8 8 5 28 M4x07 | 125 | 95 8.0 02 M8 x 1.0 46 | 82
16 15 | 183 | 20 5 8 8 5 28 M5x08 | 125 | 95 10w M10x1.0 | 47 | 83

157



Single Knuckle Joint

Material: Rolled steel

CJ2Y series
Dimensions of Accessories (options)

Double Knuckle Joint e roledstee

Knuckle Pin

Material: Stainless steel

MM L oND hole Hio MM
A\
miln o
¥ il : g
t '
NX=52 Us? LA NxC8e] us? [
7 Li 12 7 L
(mm) (mm)
Part no. |/pplcable L |L | MM Roplable:
Part no. Part no.
art no ND#10o|NX| R1| U+ Y-010C 1521 21 [Maxo07 art No. |y t
1-J010C 339131/ 8 | 9 Y-J016C 16.6| 21 | M5x038 CD-J010| 10
-+0.048
1-J016C 5% [6.4/12|14 Partno. NDmo INX | R | U I¥-J015| 16
Y-Jo10C [3.338%(3.3'3°¢| 32 | 8 10 = For 12.1'0, a‘clevis pir\ is divema?dA '
Y-J016C | 53 | 59% | 65 | 12 | 10 = Retaining rings are included with a knuckle pin.

= A knuckle pin and retaining rings are included.

Double Knuckle Joint (With One-touch Connecting Pin)

One-touch Connecting Pin for Double Knuckle Joint materia: Staintess steel

o
T M
@ m Q
2 i J hs 1
S
° oDd9 1o
15 205
24
Applicable
Part no. MM | NDd9 | NDH10 | NX | R1 Partno. | 0 ve
Y-J10 M4x07 | 3.39%% | 3.3%9% | 32| 8 1Y-J10 10
Y-J16 M5x08 | 57550 519048 6.5 | 12 1Y-J16 16

Mounting Nut

Material: Carbon steel

Rod End Nut

Material: Carbon steel

(mm) (mm)
Applicable
Part no. d H1 Partno. |0 e C2 d Hz
SNJ-010C M8x1.0 | 4 NTJ-010C 8.1 | M4x0.7 | 3.2
SNJ-016C M10x1.0 | 4 NTJ-015C 9.2 | M5x08 | 4

158




Dimensions of Accessories (Options) CJ2 Y Series

Pivot Bracket (T'bracket) Clevis Pin Material: Stainless steel
——
(S + Stroke) _ (U), TDx1o o L
1S mt Li tm
| N g
[ ¥ Q
] | el
12 4x0TC E | 8l
M
-
TY L
™ (mm)
Appicable Included
Part no.|jy, ;| DA9 | d | L |Liim | t Telanng ing
(mm) CD-J010| 10 3.32%9 3 |152(122[1.2]0.3|TypeC32
Partno. | AP0\ 7G| TDwo [TH|TK|TN|TT TU[TV[TW|TX|TY|TZ CD-2015| 16 | 57355 |48|227|183)1.5]07] TyeC5
0.048 = Retaining rings are included with a clevis pin.
CJ-To10C 10 45]3.3% 29|18(3.1| 2| 9 |40|22|32|12| 8
CJ-T016C| 16 55| 59 |35(20|6.4(2.3|14|48|28|38|16|10
* A T-bracket includes a T-bracket base, single knuckle joint, hexagon socket head bolt and spring
washer.
+ For dimensions of (U) and (S + Stroke), refer to the double clevis drawing on page 156.
One-touch Connecting Pin for Double Clevis  waterit: stainiess steel Rod End Cap Material: Polyacetal
————
, 1 E Flat type/CJ-CFOOD Round type/CJ-CROOC
L A .MM A MM
_Jwl
oDd9 W1 } R ™
H We R P
N ¢ g
@
E \/7 i) s
g | Part no. Applicable
Flat type |Round type | bore size AR E 515 09 & |
(mm) CJ-CF010 | CJ-CRO10 10 8 |10| 13| M4x0.7 | 6 |10 8
B %%prgcgg:: Dd9 H L w CJ-CF016 | CJ-CR016 16 10 (12| 15| M5x0.8 | 7 |12 |10
CD-J10 10 3300 | 134 | 132 4
CD-J16 16 BEoean 18.2 19.5 5
Partno. | W1 | W2 Note
CD-J10 | 12 15 | Cannot be mounted on cylinders with air cushion,
CD-J16 | 15 18 | orrail mounting type auto switches.

# Please pay attention to the applicable cylinder.

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size Single Double Mounting Rod
(mm) Foot Flange knuckle joint | knuckle joint* nut end nut
10 — — 1-J010SUS | Y-JO10SUS —_ NTJ-010SUS
16 CJ-L016SUS | CJ-FO16SUS| 1-J016SUS | Y-JO16SUS |SNJ-016SUS NTJ-015SUS

# A knuckle pin and retaining rings are shipped together.

159



CJ2Y series

Precautions \

Assembly Procedures

1. Double Clevis (With One-touch Connecting Pin) (CD-J[J)

2. Double Knuckle Joint (With One-touch Connecting Pin) (IY-JO)

Insert the connecting pin

Insert connecting pin through One-touch connecting pin into the joint
the cylinder and pivot bracket. : -

—

U

= ol
# The above mounting instructions are for downward-facing\' -
ports. Refer to the following for upward-facing ports.

A ) > 3 . m
. . N0 | ;
CJ2 Air cylinder (Clevis type) ﬁ - J i L . \CJ2 Air cylindi
pem SRR WETR AR o ~ \ﬁ ! Double knuckle joint (/\ Ir cylinder
\ -~ 1 y
Pivot bracket (T-bracket) h > 1 One-touch connecting pin (
e Rotate the connecting pin. o i < |
_‘{‘!t' 3 9 Rotate the connecting pin. -
% 7 ".m
NP ! (
¢ - !
A= ' 'y J
e Assembly completed without tools. = | g
) ﬁ | 9 Assembly completed without tools. ==
ar | 2 AN
Y ;

How to Mount the Double Clevis (With One-touch Connecting Pin)

When connecting a double clevis cylinder to a pivot bracket (T-bracket), it is recommended that the pivot bracket (T-bracket) and the cylinder
be connected with the one-touch connecting pin first, before fastening the pivot bracket.
When connecting the cylinder after the pivot bracket (T-bracket) has been fastened, mount the cylinder according to the following procedure.

AWarning AWarning

For assembling the clevis type to the pivot bracket, + Perform the mounting within the following range.
refer to the figure below.

1. Insert the double clevis (One-touch connecting pin)
from the direction in the figure.

When port is facing upward ‘

Pivot bracket (T-bracket)

2. Push the one-touch connecting pin into the cylinder body
(Double clevis) until it clicks and is firmly fastened.

Double clevis
(With one-touch
connecting pin)

= Attach the double knuckle joint within 180° (+90° from center). Other mounting methods are the same as the above.

160




CJ2Y sSeries

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>
D-M9CI

D-M9CIW

D-M9CIA

[SEpp——

o s

-~

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-MoCIV
D-M9CIMV
D-M9TJAV

e

e

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

A

e
I

D-H7O
D-H7OW
D-H7BA
D-H7NF
D-H7C
=Hs
s e ———
S +
all e

Reed auto switch
<Band mounting>

D-A90

85 wp——er

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-A9CIV

L i

et
all. 1l

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-C701/C80
D-C73CLI/C80C

Ll
1l
|

~Hs ~
s sy ;
‘—tﬁ:’—““—H ‘1—,«)‘ ]

Al B

161 ®



CJ2Y series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Rail mounting> <Rail mounting>
D-A9C]
i
_1lB
D-M9CIV D-A9CIV
D-M9CIWV
D-M9UJAV

|

o LD

< =Hs

|

s F%
&
fo LD

D-F70J79 D-A7C1/A80
D-F70O0W/J79W D-A73C/A80C
D-F79F/F7BA D-A79W
" 3

A.E .B all [
D-F7OV/IF7TOWV D-A7CH/A80H
D-F7BAV
D-J79C

P = & o0 =g 2
Iﬁ A 5 all :'fﬁ

® 162



Auto Switch Mounting CJ2 Y Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto switch Band mounting
model
D-M9C]
D-M9LIV D-C70] R
D-M9CIW D-A9] D-C80 D-H7NF
D-M9CIWV D-A9CIV D-C73C D-H7OW
D-M9CIA D-C80C D-H7BA
D-M9CJIAV
Bore size A B A B A B A B
10 (5)6 (5)6 (1)2 (1)2 25 25 15 1.5
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)25 3 3 2 2
= The values in ( ) are measured from the end of the auto switch mounting bracket.
(mm)
Auto switch Rail mounting
model D-A7CH/ABOH
D-MoT] D-A73C/A80C
D-F70/J79
D-MoW D-A9C] D-A7L] DyE/ =W, J7IW
D-MOCIWV D-A9ClV D-A80 D-F700VIF7TOWV D-F7NT D-A79W
D-F79F
D-M9CIA
D-M9LCIAV DelzC
D-F7BA
D-F7BAV
Bore size A B A B A B A B A B A B
10 4.5 4.5 0.5 0.5 3 3 3.5 3.5 8.5 8.5 0.5 0.5
16 5 5 1 1 3.5 3.5 4 4 9 9 1 1
« Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch Band mounting
model
D-M9C] D-MoCIV D-C7C1/C80
D-M9CIW D-M9oCIWV D-H7C/H7OW D-C73C D-H7C D-A70]
D-M9CJA D-M9CJAV D-H7NF D-C80C D-A80
D-A9C] D-A901V D-H7BA
Bore size Hs Hs Hs Hs Hs Hs
10 17 18 17 19.5 20 16.5
16 20.5 21 20.5 23 23.5 19.5
(mm)
Auto switch Rail mounting
model
D-m9oC]
Kikar D-A7CIH/AB0H
D-MOCIWV. D-F701/J79 D-A73C D-F700V
D-MOCIA D-F7C0W/J79W D-A80C D-F700WV D-J79C D-A79W
D-F7BA/F79F D-F7BAV
D-M9LJIAV D-F7NT
D-A9C]
D-A9L1V
Bore size Hs Hs Hs Hs Hs Hs
10 17.5 17.5 23.5 20 23 19
16 21 20.5 26.5 23 26 22

163



CJ2Y series

Minimum Stroke for Auto Switch Mounting

(mm)
A itch Number of auto switches
Ui SV’.'”C Auto switch model § With 2 pcs. With n pcs. (n: Number of auto switches)
mounting With 1 pc. - 5
Different surfaces| Same surface Different surfaces Same surface
D-MoC] _
D-M9CIW 10 1500 1) 450 D) 15+35(—)”22 45 +15 (n—2)
B:'\AAQQEA (N=2, 4, 6.)Note 3) (n=2,3,4,5-)
n-2
D-MoCIV 5 15 Note 1) 35 15+35 2 35+25(n-2)
(N=2,4,6.)Nte3) (n=234,5-)
D-MICIWV 10 15Noe ) a5 15435022 35425 (n-2)
D-MOLIAV (N=2,4,6.)Note3) (n=2,3,4,5+)
n-2
Band mounting | p-A9CV 5 10 35 10 + 35(7) 35+25(n-2)
(N=2, 4, 6.)Note 3) (n=2,3,4,5-)
D-C70] 10 15 50 15+40(”T_2) 50 +20 (n-2)
ZED (n=2, 4, 6..) Note 3) (n=2,3,4,5-)
D-H7C/H7O0W (n—-2) -
D-H7BA 10 15 60 1544575 60+225(n-2)
D-H7NF (N=2,4,6..)Note3) (n=2,3,4,5)
D-C73C (n—-2) -
D-G80C 10 15 65 154507 50+27.5(1-2)
D-H7C (=2, 4, 6.)Note3) (n=2,3,4,5+)
10+10 (n-2)
SRLEON 5 - 5 - (n =4, 6...) Note 4)
10+15(n-2
D-A9C1V 5 — 10 — (n=4, 6--(-) Note)A)
D-M9LC] 10 _ 10 _ 15 + 15 (n - 2)
D-A9C] (n =4, 6...) Note 4)
D-MOCIWV 10 . 15 _ 15+ 15 (n—2)
D-M9[JAV (n=4, 6.-) Note 4)
20+15(n-2
D-MoCIW 15 - 15 - (n=4, 6«-(-) Note)A)
20+15(n-2
D-M9JA 15 — 20 - (n=4, 6--(-) Note)A)
D-A7L1/A80 _
Rail mounting | D-A7C1H/ASOH 5 — 10 — D,
D-A73C/A80C (n=4,6-)
D-A70H s _ 10 _ 15 + 15 (n - 2)
D-A80H (n =4, 6...) Note 4)
10+ 15 (n—2)
D-A79W 10 — 15 — (=4, ByNoio)
D-F70] 5 _ 5 _ 15+ 15 (N-2)
D-J79 (n =4, 6...) Note 4)
D-F700V 5 _ 5 _ 10+10(n-2)
D-J79C (n =4, 6...) Note 4)
D-F700W/J79W 10 _ 15 _ 15+20(n-2)
D-F7BA/F79F/F7TNT (n =4, 6...) Note 4)
D-F700WV 10 _ 15 _ 10+15(n-2)
D-F7BAV (n =4, 6...) Note 4)

Note 1) Auto switch mounting

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 4) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

However, the minimum even number is 4. So, 4 is used for the calculation when “n”is 1 to 3.

Auto switch model

With 2 auto switches

Different surfaces Note 1)

Same surface Note 1)

Auto switch

The proper auto switch mounting position is 5.5 mm inward
from the switch holder edge. The above A and B indicate values
for band mounting in the table of page 163.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch
and lead wire do not interfere with each other.

D-MOLC/M/9CIW/MOLIA

Less than 20 stroke Note 2)

Less than 55 stroke Note 2)

D-A90/A93

Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1.

164



Operating Range

Auto Switch Mounting CJ2 Y Series

Auto Switch Mounting Brackets/Part No.

(mm)
o itch model Bore size Auto switch o itch model Bore size (mm)
uto switch model 5 e Ty | S i 5 e
D-MQEIMQDE D-mo]
D-M9CIW/MOCIWV 25 3 D-MOCIV

[

5 D-M9TIA/MOLIAV D-M9IW BJ6-010 BJ6-016

3|D-A9C] 6 7 D-M9CIWV (Asetofa,b,c,d) (Asetofa, b, c,d)

E|p-c7tucsoic7acicsoc | 7 7 AV

| D-H7C/H7OW 4 4

9| p-H7BA/H7NF D-M9[JA Note2) BJ6-010S BJ6-016S
D-H7C 8 9 D-M9LJAV Note 2) (Asetofa, b, d, e) (Asetofa,b,d,e)
D-M9LC/MICIV - -

D-MICIW/MILIWV 3 | 35 I 3 /
D-M9CIA/MSLCIAV i
mounting| ¢ white (PBT) 7

o|D-A9LVA9LIV 6 6.5 2

S |D-A7C/A80/ATH/A80H 8 9 d

S |D-A73C/A80C -

E ;

F|D-ATOW s {2ine de-casted
D-F70/J79/F7CIW/J79W \@-
D-F70VIF7TOOWV/F79F 5 5
D-J79C/F7BA/F7TBAV
D-F7NT

* Values which include hysteresis are for guideline

purposes only, they are not a guarantee D-C701/C80
(assuming approximately +30% dispersion) and 9 g g
may change substantially depending on the Bam_i D-C73C/C80C BJ2-010 BJ2-016
ambient environment. mounting | D-H7C/H7COOW (A set of band and screw) (A set of band and screw)

D-H7BA/H7NF

BQ2-012(S) BQ2-012(S)
(A set of a and b) (A set of a and b)
D-M9C] Set screw
D-MoCIV (Accessory)
Notoy | D-MOCIW g
Rail | D-MOCWV BQ2-012
’ D-M9JA Notes) o
mounting D-M9LIAV Note5)
D-A9C]
D-A9CIV
Nut (Cylinder accessory)

Note 1) As the switch bracket is made of polyamide, its performance may be affected by chemicals
such as alcohol, chloroform, methylamines, hydrochloric acid, and sulfuric acid, so it cannot
be used in environments where these chemicals come into contact with the product.

Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected
from the switch unit, indicator LED may be damaged if the switch bracket is fixed on the
indicator LED.

Note 3) When the cylinder is shipped, the auto switch mounting bracket and the auto switch will
be included.

Note 4) For the D-M9[JA(V), order the BQ2-012S, which uses stainless steel mounting screws.

Band Mounting Brackets Set Part No.

Set part no. Contents
* Auto switch mounting band (a)

BJ2-000 * Auto switch mounting screw (b)
* Switch bracket (White/PBT) (e)

BJ4-1 « Switch holder (d)

BJ5-1 « Switch bracket (Transparent/Polyamide) (c)
* Switch holder (d)

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)
BBA4: For D-C7/C8/H7 types
Note 5) Refer to page 1440 for details on the BBA4.
When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.

165 ®



CJ2Y series

o= mmm s e e mmmmmm— -

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

Refer to pages 1341 to 1435 for the detailed specifications.

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1410 and 1411.

1 1
1 1
1 Type Model Electrical entry Features 1
: Band g D-H7A1/H7A2/H7B — :
1 D-H7NW/H7PW/H7BW a i Diagnostic indication (2-color indicator) 1
rommet (In-line)
1 Sold state D-F79/F7PIJ79 — 1
1 Rail D-F79W/F7PW/J79W Diagnostic indication (2-color indicator) 1
1 D-F7NV/F7PV/F7BV Grommet (Perpendicular) — 1
1 D-F7NWV/F7BWV Diagnostic indication (2-color indicator) 1
1 Band g D-C75/C76 - — - 1
1 D-C80 Grommet (In-line) Without indicator light I
1 Reed D-A73H/A76H — 1
" D-A80H Without indicator light
1 Rail 1
1 D-A73 Grommet (Perpendicular) — 1
I D-A80 Without indicator light I
1 1

= Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)) are also available. For details, refer to page 1360.

e

166



Smooth Cylinder

CM2Y series

020, 325, 932, 340

How to Order

B cwm2v(B] g Z1-
[ with auto switch fof0] | PA'Y[ 150] |z1-[ | ]-[M9BW]

With auto switch Rod end thread
(Built-in magnet)
. Male rod end
~——
Mounting n Female rod end

B Basic (Double-side bossed) Bore size )

L Axial foot 2020 Pivot bracket Number of auto switches
F Rod flange 25 [ 25 mm Nil None Nil 2 pes.

G Head flange 32 [32mm N Pivot bracket is shipped S 1 pe.

c Single clevis 40 20 mm together with the product. n “n” pcs.

D Double clevis *Only for G, T, U, E, V, UZ mounting types

U Flod runnion Port thread type " ine product but no sssempied. Auto switch

T Head trunnion Nil Rc Rod end bracket [ Nil_T without auto switch |
E Integrated clevis TN NPT Nil Noro = For applicable auto switches,

A" Integrated clevis (90°) TF G U - — refer to the table below.

- Vv Single knuckle joint

BZ Boss-cut/Basic — e .

FZ Boss-cut/Rod flange Cylinder stroke (mm) ‘g D°“b': ngCk;e joint Built-in Magnet Cylinder Model
uz Boss-cut/Rod trunnion Refer o “Standard Strokes” on : nod en If a built-in magnet cylinder without an

page 168. + No bracket is provided for the female ) . A .
- ~Ordering E. o of Cyiing rod end type. auto switch is required, there is no need
:efer t:l "r ering :(g;np e of Cylinder * A knuckle joint pin is not provided with  to enter the symbol for the auto switch.
ssembly” on page . the single knuckle joint. (Example) CDM2YB20-100Z1

* Rod end bracket is shipped together
with the product, but not assembled.

Appllcable Auto Switches/Refer to the Web Catalog for further information on auto switches.

k=3 Load voltage Lead wire length [m] .
Type| Special function E'gﬁ“”ca' 5 (gﬂ;'”ﬁ) - . AIRSTRENTEEE [ SGS T T e || 5 :;ﬁn“é';f:r Applicable load
Y b= P! P I In-line (NI M| L@
= 3-wire (NPN) M9INV M9N ® e e O o -
£ —— | crommet| [swre(nP) sv.12v MOPV | MoP | @ e |e[o| o |oo
g 2-wire 12V M9BV M9B ® & e O o —
5 Diagnostic 3-wire (NPN) MONWV | MINW ® @& e O o -
& | indication 8[swie PrP)] 24v |°V Y] ['mePwv | MoPW | @ @ [@ O o || Relay
k| (2-color indicator) Grommet 2-wire 12V M9BWV | M9BW ® & e O o —
2 Water resistant 3-wire (NPN) 5V. 12V MONAV*1| MONA*' | O | O | @ | O o 1C circuit
= (2-color indicator) 3-wire (PNP) | MYPAV*' | M9PA*' | O | O | @ | O o
@ 2-wire 12V MOBAV*'| M9BA*' | O |O | @ | O o —
2 3-wire -
s § a . E (NPN equivalent)| — 5V — A96V A96 e | —| o | — — IC circuit| —
33 e e | 24v | 1oy 100V [ AG3V=Z | A93 [ e e e e[ — — | Relay,
o« 2 100 Vorless| A90V A90 e [ —|e | — — IC circuit| PLC
*1 Water-resistant type auto switches can be mounted on the above models, but SMC cannot guarantee water resistance.
A water-resistant type cylinder is recommended for use in an environment which requires water resistance.
%2 The 1 m lead wire is only applicable to the D-A93.
Nil (Example) MONW # Solid state auto switches marked with a “O” are produced upon receipt of order.

* Lead wire length symbols: 0.5 m
im

L (Example) MONWL
Z (Example) MONWZ
* Since there are applicable auto switches other than those listed above, refer to page 166-18 for details.

+ For details on auto switches with pre-wired connectors, refer to the Web Catalog.
* The D-A9CICYMOCI auto switches are shipped together with the product but do not come assembled. (Only the auto switch mounting brackets are assembled before shipment.)

)

M (Example) MONWM
)
)

166-1 ®



CM2Y series

Integrated clevis

Symbol
Double acting, Single rod, Rubber bumper

B

Replacement Parts/Rod Seal

Specifications

Bore size (mm)

20 I 25 I 32 I 40

Action Double acting, Single rod

Piston speed 5 to 500 mm/s

Fluid Air

Proof pressure 1.05 MPa
operating pressure 0.7 MPa
operating pressure 0.02 MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C .
(No freezing)

Bore size (mm) Part no.
20 CM20Z-PS
25 CM25Z-PS
32 CM32Z-PS
40 CM40Z-PS

Grease Pack for Maintenance

When maintenance requires only grease, use the
following part numbers to order.
Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)
® 166-2

With auto switch: —10°C to 60°C

Lubrication Not required (Non-lube)
Stroke length tolerance “§¢mm
Cushion Rubber bumper

A rate 0.5 L/min (ANR) or less

Mounting Brackets/Part No.

Min. Bore size (mm)

Contents (for minimum
ordergty| 20 25 | 32 40

order quantity)

Mounting bracket

Axial foot™ 2 CM-L020B | CM-L032B | CM-L040B | 2 foots, 1 mounting nut
Flange 1 CM-F020B | CM-F032B | CM-F040B | 1 flange

Single clevis™* 1 CM-C020B | CM-C032B | CM-C040B | 1 single clevis, 3 liners
Double clevis 1 double clevis, 3 liners,
(with pin)&i, 1 CM-D020B | CM-D032B | GM-D040B | 4 clevis pin, 2 retaining rings
Trunnion (with nut) 1 CM-T020B | CM-T032B | CM-T040B | 1 trunnion, 1 trunnion nut

+ Order 2 foots per cylinder.
3 liners are included with a clevis bracket for adjusting the mounting angle.
w#x A clevis pin and retaining rings (split pins for 240) are included.

Mounting and Accessories/ror details about accessories, refer to pages 177 to 179.

Accessories Standard Option
Mounting Rod | 66y | Sindle Doubla | Rod Cig;i;l et |
_ nut end | “5" [kuckle | knuckle | end | pivot | PO | bracket
Mounting nut joint | joint bracket | bracket | ™ pin
Basic (Double-side bossed)| @ (1 pc.) | @ — [ [ ] [ ] —
Axial foot ®(2) [ ) — (] [ ] [ ] —
Rod flange e (1) [ ) — (] [ ] [ ] — — —
Head flange o (1) [ J — [ J [J ] —
Integrated clevis —Noe)) | @ — [ [ ] [ J [ ]
Single clevis —Notet) | @ — [ ] [ ) [ ) — [ ] [ ]
Double clevis Nete 3) —Notel) | @ |@Noes)| @ [ ] [ ] — — —
Rod trunnion @ (1)Ne2)| @ — [ J ] (] —
Head trunnion @ (1)Ne2| @ — [ [ J [ J — ® —
Boss-cut/Basic e (1) [ ) — (] [ ] [ ] —
Boss-cut/Flange o (1) [ ) — (] [ ] [ ] — — —
Boss-cut/Trunnion @ (1)Ne2) | @ — (] [ ] [ ] —

Note 1) Mounting nuts are not attached to the integrated clevis, single clevis and double clevis types.
Note 2) Trunnion nuts are mounted on the rod trunnion and head trunnion types.
Note 3) A pin and retaining rings (split pins for 340) are included with the double clevis and double knuckle joint types.
Note 4) A pin and retaining rings are included with the clevis pivot bracket.
Note 5) Retaining rings (split pins for 840) are included with the clevis pin.
Note 6) A pin and retaining rings are included with the pivot bracket.
Note 7) Retaining rings are included with the pivot bracket pin.
* Stainless steel mounting brackets and accessories are also available.
Refer to page 178 for details.

Standard Strokes

Bore size (mm) Standard stroke (mm) Manufaczumr;lzle stroke
20 5 to 1000
25 25, 50, 75, 100, 125, 150, 200, 250, 300 5to 1500
32, 40 5 10 2000

Note 1) Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” in the Web Catalog. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications.



Smooth Cylinder CM2Y Series

Option: Ordering Example of Cylinder Assembly

APrecautions

P e e e ey

Cylinder model: CDM2YC40-150Z1-NV-M9BW I Be sure to read this before handling |
) _ ! the products.
Single clevis Mounting C: Single clevis j For safety instructions as well as ac-
Pivot bracket  N:Yes 1 tuator and auto switch precautions,

Rod end bracket V: Single knuckle joint “ . .
Auto switch D-MIBW: 2 pes. I refer to the “Handling Precautions for

I'SMC Products” and the “Operation

* Pivot bracket, single knuckle joint and auto »” P .
switch are shipped together with the product, 1 Manual” on the SMC website: https:// 1
but not assembled. 1 www.smcworld.com 1

| R e |

Pivot bracket \ Operating Precautions

* Pivot bracket is only applicable to mounting

C,T,U,E, Vand UZ H
‘Auto switch * No rod end bracket is provided for the female AWarnlng
rod end type. 1. Do not rotate the cover.

If a cover is rotated when installing a cylinder or
screwing a fitting into the port, it is likely to

Weights damage the junction part with cover.
—— R
e  ACaution
Bore size (mm) 20 25 32 40 1. Not able to disassemble.
Basic (Double-side bossed) 0.14 0.21 0.28 0.56 Cover and cylinder tube are connected to each
Axial foot 0.29 0.37 0.44 0.83 other by caulking method, thus making it
impossible to disassemble. Therefore, internal
Flange 0.20 0.30 0.37 0.68 parts of a cylinder other than rod seal are not
Integrated clevis 0.12 0.19 0.27 0.52 replaceable.
X . Single clevis 0.18 0.25 0.32 0.65 2. Use caution to the popping of a retaining
Basic weight - rin
Double clevis 0.19 0.27 0.33 0.69 V:Ihg. aci 4 seals and ) ’
- en replacing rod seals and removing an
Trunnion - 0.18 028 0.34 066 mounting a retaining ring, use a proper tool
Boss-cut/Basic 0.13 0.19 0.26 0.53 (retaining ring plier: tool for installing a type C
Boss-cut/Flange 0.19 0.28 0.35 0.65 retaining ring). Even if a proper tool is used, it is
Boss-cut/Trunnion 017 0.26 0.32 0.63 likely to inflict damage to a human body or
- - peripheral equipment, as a retaining ring may be
Additional welgI.wt per 50 mm of s_troke 0.04 0.06 0.08 0.13 flown out of the tip of a plier. Be much careful
Clevis bracket (with pin) 0.07 0.07 0.14 0.14 with the popping of a retaining ring. Besides, be
Single knuckle joint 0.06 0.06 0.06 0.23 certain that a retaining ring is placed firmly into
Option Double knuckle joint (with pin) 007 | 007 | 007 | 020 :Ee groove of ;‘Jﬁ cover before supplying air at
e time of installment.
bracket . . .
Rod end 005 | 007 | 007 | 016 3. Do not use an air cylinder as an air-
Pivot bracket 0.06 0.06 0.06 0.06 hydro cylinder.
Pivot bracket pin 0.02 0.02 0.02 0.03 If it uses turbine oil in place of fluids for cylinder,
. it may result in oil leakage.
Calculation: Example) CM2YL32-100Z ! . . .
o Basic weight 44 (Foot, 032) 4. The oil stuc_:k to the cylinder is grease.
« Additional weight 08/50 stroke 5. The base oil of grease may seep out.
o Cylinder stroke-- 00 stroke The base oil of grease in the cylinder may seep

0.44 + 0.08 x 100/50 = 0.60 kg out of the tube, cover, crimped part or rod
bushing depending on the operating conditions
(ambient temperature 40°C or more, pressurized
condition, low frequency operation).

166-3 ®



CM2Y series

Basic (Double-side Bossed) (B)

CM2YB Bore size] - Stroke| [ |21

Width across flats B2 Hz
—

G 2xP

Width across flats B1 H1

EZ(RC, NPT, G)

R |

L

Mm /|

Effective thread length

AL 1.5
Width across flats KA /"~ A ‘K F - | 2xFL
H | S + Stroke F |
1 ZZ + Stroke |
Boss-cut
Female rod end
Female thread MM
T Y
i i |
ZZ + Stroke _J
ZZ + Stroke
(mm)

Bore size A |AL | B1 | B2 | D E F |FL| G| H |Hi |H| | K | KA MM NA NN P | S |ZZ

20 18 [15.5| 13 | 26 | 8 | 20033 | 13 |105| 8 | 41 | 5§ 8 |28 | 5 6 M8x1.25 | 24| M20x15 |1/8| 62 |116

25 22 195/ 17 | 32 | 10 | 2634, | 13[105| 8 | 45| 6 | 8 |335/55| 8 | M1ox1.25 | 30 | M26x15 |1/8] 62 | 120

32 22 |19.5| 17 | 82 | 12 | 265053 | 13 |10.5| 8 | 45 | 6 8 |37.5/55| 10 | M10x1.25 |345| M26x1.5 |1/8| 64 |122

40 24 |21 | 22 | 41 | 14 | 32503 | 16 [135| 11 | 50 | 8 | 10 (46.5| 7 | 12 | M14x 1.5 |425 M32x2 1/4 | 88 | 154

Boss-cut (mm) Female Rod End (mm)

Bore size zz Bore size A1 H MM zz

20 103 20 8 20 M4 x 0.7 95

25 107 25 8 20 M5 x 0.8 95

32 109 32 12 20 M6 x 1 97

40 138 40 13 21 M8x1.25 | 125

® 166-4

* When female thread is used, use a thin wrench

when tightening the piston rod.

* When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the

workpiece.



Axial Foot (L)
CM2YL

~[stroke|[ |21

Smooth Cylinder CM2Y Series

A K FI|G 2xP
Width across flats B1 |_ AL H2 (Rc, NPT, G) r_G_I F 2x NN
Width across flats KA Hy - e L (Effective thread length 2 x FL)
N3 a
EF S v
Width across flats B2 4xoLD
T Width across flats ONA N
oYL X S + Stroke X, Y
=z’ LS + Stroke
ZZ + Stroke
Female rod end ZZ + Stroke Female Rod End (mm)
H Bore size A | H MM zz
35 20 8 | 20 | M4x07 | 110
Female thread MM 25 8 | 20 M5x 0.8 110
Thread depth A1 32 12 20 M6 x 1 112
40 13 21 M8 x 1.25 142
MM * When female thread is used, use a thin wrench when
tightening the piston rod.
+= When female thread is used, use a washer etc. to prevent
the contact part at the rod end from being deformed
depending on the material of the workpiece.
+ Mounting bracket is shipped together with the product. (mm)
Boresize | A|AL| B [B1|B2|D | F |[FL| G |H |[H1|H2| | | K |[KA|LC|LD|LH|LS|LT|LX|LZ MM NA NN P|S|X|Y|Z|ZZ
20 18(155/40 (13|26 | 8 |13|105/ 8 |41 |5 |8 (28| 5 | 6 | 4 |68]25|10232|40|55| M8x1.25 |24 | M20x 1.5|1/8/62|20| 8 |21 |131
25 22195|47|17|32|10|13|105| 8 |45| 6 | 8 |335/55| 8 | 4 |6.8|28(102]3.2|40|55| M10x1.25 |30 | M26 x 1.5|1/8/62]|20| 8 |25|135
32 22|195|47 17|32 |12 |13 |105| 8 |45| 6 | 8 |375/55|10| 4 |6.8|28|104|3.2|40|55| M10x 1.25 |345| M26 x 1.5|1/8| 64| 20| 8 | 25|137
40 24|21|54 (22|41 (14|16 (13511 (50| 8 (10 (465| 7 (12| 4 | 7 |30|134|3.2|55|75| M14x15 |425| M32x2 |1/4|88|23|10|27 171
Rod Flange (F)
————
CM2YF - [stroke][]z1
Width across flats B2
4 x oFD Width across flats B1 N o~ .o
- H2 G 2xP
Mounting hole I3 G 2 x NN
117
| 2=
9 ek
] Effective
2xoFD MM/ 15 L_. thread length
040 Mounting FZ - [ 2xFL
hole -
220 to 032
i S + Stroke F
Width across flats KA ZZ + Stroke
Boss-cut Female rod end
Female thread MM
LR Wl
Al lv Thread depth A1 Female Rod End (mm)
- Boresize | A1 | H MM [ zz
| 20 8 | 20 | M4x0.7 95
25 8 | 20 | M5x0.8 95
ZZ + Stroke 32 12 | 20 M6 x 1 97
Boss-cut (mm) 40 13 | 21 | M8x1.25 | 125
" Boresize | 7z * When female thread .is used, use a thin
20 | 103 wrench when tightening the piston rod.
_ 2ZZ + Stroke + When female thread is used, use a washer
25 | 107 etc. to prevent the contact part at the rod
32 109 end from being deformed depending on
40 138 the material of the workpiece.
+ Mounting bracket is shipped together with the product. (mm)
Boresize | A |AL| B |[B1|B2|C2| D E F |FL|FD|FT|FX|FY|FZ| G | H |H1|H2| | | K [KA MM NA NN P|S|Z|ZZ
20 18 {155/ 3413|2630 | 8 | 20505 |13 [105] 7 | 4 |60|— (75| 8 |41| 5| 8 |28| 5 | 6 | M8x1.25|24| M20x 1.5 |1/8| 62|37 [116
25 22[19.5/40(17 |32 37 | 10| 260 | 13]105] 7 | 4 |60 | — 75| 8 |45| 6 | 8 [335(5.5| 8 [M10x1.25{30 | M26x 1.5 |1/8| 62 | 41 |120
32 2219.5/40 (17 |32 |37 |12 | 2600 |13|10.5| 7 | 4 (60| — |75| 8 |45| 6 | 8 [37.5/5.5| 10 |[M10x 1.25|34.5| M26 x 1.5 | 1/8| 64 | 41 | 122
40 24 |21|52 |22 |41 (47.3] 14 | 3284 |16(135| 7 | 5 (66|36 |82|11|50| 8 |10 (465 7 |12 | M14x 1.5 |425] M32x 2 |1/4| 88|45 |154




CM2Y series

Head FIange (G)

CM2YG

~[stroke|[ |21

Effective thread length 2 x FL

Hz  Width across flats B2 2xoFD 4xoFD
- G Hz it across flals B2
Width across flats B1 H12x NN G ZR)::,PNPT, - r_‘ o Mounting hole  Mounting hole
T T
s T WA [q} 7\ =
& nI 4 = A /(/ f \ >
of ©f AN H ik ™
’ IS
G
MM AL 11 1.5 \Width across flats ONA FX
Width across flats KA /* A K| |F FZ 040
H S + Stroke FT|
Z + Stroke 020 to 032
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1 m]@mﬁ
i
35
H
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A |AL | B Bi1 | B2 | C2 D E F FL | FD | FT | FX | FY | FZ | G H Hi1 | H2 1
20 18 | 155 | 34 | 13 | 26 | 30 8 | 20003 | 183 |105] 7 4 60 | — | 75 8 41 5 8 28
25 22 |195| 40 | 17 | 32 | 37 | 10 | 265033 | 13 | 105 | 7 4 60 | — | 75 8 45 6 8 |335
32 22 |195| 40 | 17 | 32 | 37 | 12 | 26033 | 13 |105| 7 4 60 | — | 75 8 45 6 8 |375
40 24 | 21 52 | 22 | 41 |473| 14 | 32449 | 16 | 135 | 7 5 66 | 36 | 82 | 11 50 8 10 | 465
(mm) Female Rod End (mm)
Bore size KA MM NA NN P S z zz Bore size A1 H MM zz
20 5 6 | M8x125 | 24 |M20x15]| 1/8 | 62 | 107 | 116 20 8 | 20 M4 x0.7 95
25 5.5 8 |Mi10x125| 30 |M26x15]| 1/8 | 62 | 111 | 120 25 8 | 20 M5x 0.8 95
32 5.5 10 |M10x1.25| 345 |[M26x1.5| 1/8 64 | 113 | 122 32 12 20 M6 x 1 97
40 7 12 | M14x15 | 425 | M32x2 | 1/4 | 88 | 143 | 154 40 18 | 21 | M8x1.25 | 125

® 166-6

# When female thread is used, use a thin wrench
when tightening the piston rod.

+ When female thread is used, use a washer efc. to
prevent the contact part at the rod end from being
deformed depending on the material of the

workpiece.



Smooth Cylinder CM2Y Series

Single Clevis (C)
cm2yc —[stroke|[ |Z1

Effective thread length FL

Width across flats B1 ~ H1 NN G o2xP G
(Re, NPT, G)
R R
2ol TR
El ) l f 1]!
mm/ AL ||| s
Width across flats KA AT K | FIT
H S + Stroke |
Z + Stroke
ZZ + Stroke
Female rod end Female Rod End (mm)

Female thread MM Bore size A1 H MM zz
Thread depth A1 ‘ 20 8 20 M4 x 0.7 121

25 8 20 M5 x 0.8 121

32 12 20 M6 x 1 123

40 13 21 M8x 1.25 | 159

3.5 + When female thread is used, use a thin wrench when
H tightening the piston rod.
+ When female thread is used, use a washer etc. to prevent
ZZ + Stroke the contact part at the rod end from being deformed

depending on the material of the workpiece.

mm)
Boresize | A |[AL|B1| CI |[CD|CX| D E FIFL|G|H|H1| | | K|KA|L MM NA NN P|RR| S |U|Z |ZzZ
20 18 155/ 13|24 | 9 (10| 8 | 2000, | 13105 8 |41 | 5 |28 | 5 | 6 [30| M8x1.25 |24 | M20x 1.5 [1/8| 9 | 62 | 14 | 133|142
25 22119517 | 30| 9 | 10 | 10 | 26.80x | 13 [10.5| 8 |45 | 6 (335/55| 8 |30 | M10x1.25 |30 | M26x 1.5 |1/8| 9 |62 | 14 |137 | 146
32 221195/ 17 | 30| 9 | 10 | 12 | 26805 | 13 [10.5| 8 |45 | 6 [37.5/5.5| 10 | 30 | M10x 1.25 34.5| M26 x 1.5 | 1/8| 9 | 64 | 14 | 139 | 148
40 24 |21|22|38|10| 15|14 | 3280 | 16 (13511 |50 | 8 (465 7 |12 |39 | M14x15 (425 M32x2 |1/4| 11|88 |18 (177|188
Double Clevis (D)
———————
~[stroke][ |1
., FEffective thread length FL oCD hole H10'8%*
Width across flats B1 - Hi NN G 2xP G Axisd938R
— (Re, NPT, G)
=i | i q‘ *
2| / @ S|
rcREsEe] & 2
MM/ AL s U
Width across flats KA A Kl |F
H S + Stroke L
__Z+Stroke RR
ZZ + Stroke _ J‘
Female rod end Female Rod End (mm)
Female thread MM Bore size A1 H MM zz
Thread depth At 20 8 20 M4 x 0.7 121
25 8 20 M5 x 0.8 121
32 12 20 M6 x 1 123
40 13 21 M8x1.25 | 159

* When female thread is used, use a thin wrench when
tightening the piston rod.
* When female thread is used, use a washer etc. to prevent

3.5

2Z + Stroke the contact part at the rod end from being deformed
depending on the material of the workpiece.
(mm)
Bore size | A |AL|B1|CD|CI |[CL|CX|CZ| D E F |FL H|Hi || |K|KA|L MM NA NN P|RR|S|U|Z|Zz

28| 5|6 |30 M8x1.25|24| M20x 1.5 [1/8] 9 |62|14|133]142
335/5.5| 8 |30 |M10x 1.25|30 | M26 x 1.5 |1/8| 9 |62 | 14 |137|146
375/5.5|10 |30 |M10 x 1.25|34.5| M26 x 1.5 |1/8] 9 |64 | 14 139|148
46.5| 7 | 12|39 | M14x 1.5 |425 M32x2 [1/4|11|88|18|177|188

25 22(195/17| 9 |30|25|10|19| 10| 2650, |13 [10.5 45

32 2219517 9 |30(25|10[19|12| 2650 |13[105 45

40 242122 (10|38 [41.2|15|30| 14| 3250 |16(135/ 11|50
= A clevis pin and retaining rings (split pins for @40) are shipped together.

G
20 18 [155/ 13| 9 [24|25|10|19| 8 | 2040 |13]105) 8 |41

8

8

©|lo|o|o

166-7 ®



CM2Y series

Rod Trunnion (U)

cm2yu ~[stroke|[ |21
9 Width across flats B2 G NN
33 Width across G 2xP 2x
?%? flats B1 H1 — (Rc, NPT, G) /
N g .gu;’l T 1
S
@h=r 4=
& % & L S g
TX L AL T Width across flats CINA L__iEﬂective thread length
Tz Akl [TT 15 2xFL
Width flats KA ’—Zj.
dh acioss Tt H S + Stroke F
ZZ + Stroke
Boss-cut
_1:: 1] H
1
4@@ : Zax
-
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A+ i é
o
i
3.5
H
ZZ + Stroke
+ Mounting bracket is shipped together with the product. (mm)
Bore size A | AL | B1 | B2 D E F FL | G H H1 I K | KA MM NA NN P
20 18 | 155| 13 26 8 20005 13 | 10.5 8 41 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8
25 22 |195| 17 | 82 | 10 | 2680 | 13 |105| 8 45 6 |335]| 55 8 | M10x1.25 | 30 | M26x1.5 | 1/8
32 22 |195| 17 | 32 | 12 | 265 | 13 |105| 8 45 6 |375| 55| 10 | M10x1.25 | 345| M26x15 | 1/8
40 24 | 21 22 | 4 14 | 32000 | 16 | 135 11 50 8 |465 ]| 7 12 | M14x15 |425| M32x2 1/4
(mm) Boss-cut (mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ z zz Bore size zz Bore size A1 H MM zz
20 62 8 10 | 82 | 82 | 52 | 36 | 116 20 103 20 8 | 20 M4 x 0.7 95
25 62 9 10 | 40 | 40 | 60 | 40 | 120 25 107 25 8 | 20 M5 x 0.8 95
32 64 9 10 | 40 | 40 | 60 | 40 | 122 32 109 32 12 | 20 M6 x 1 97
40 88 | 10 | 11 53 | 53 | 77 | 445 | 154 40 138 40 183 | 21 | M8x1.25 | 125

® 166-8

+# When female thread is used, use a thin wrench
when tightening the piston rod.

+# When female thread is used, use a washer etc.
to prevent the contact part at the rod end from
being deformed depending on the material of the
workpiece.



Head Trunnion (T)

CM2YT

~[stroke|[ |21

Effective thread length 2 x FL

Smooth Cylinder CM2Y Series

2XNN G  2xP G Width across flats B2 S5
Width across flats B1 _H17 \ "~ (Rc, NPT, G) g
F = i |5 s
plces:: & - ]
I'g’l AL | 15\ Width across flats CINA
Width across flats / A E
H S + Stroke T Tz
Z + Stroke
ZZ + Stroke
Female rod end
Female thread MM
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A | AL | B1 | B2 D E F FL | G H H1 I K | KA MM NA NN P
20 18 |1565| 13 | 26 8 2000 | 13 |105| 8 41 5 28 5 6 M8x1.25 | 24 | M20x1.5 | 1/8
25 22 [195| 17 | 32 | 10 | 2680 | 13 |105| 8 45 6 |335| 55 8 | M10x125 | 30 | M26x15 | 1/8
32 22 |195| 17 | 82 | 12 | 2680 | 13 | 105] 8 45 6 |375| 55| 10 | M10x1.25 | 345| M26x1.5 | 1/8
40 24 | 21 22 | 41 14 | 32000 | 16 | 135 11 50 8 |465]| 7 12 | M14x15 |425| M32x2 1/4
(mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ Y4 zz Bore size A1 H MM zz
20 62 8 10 32 32 52 | 108 | 118 20 8 20 M4 x 0.7 97
25 62 9 10 40 40 60 | 112 | 122 25 8 20 M5 x 0.8 97
32 64 9 10 | 40 | 40 | 60 | 114 | 124 32 12 | 20 M6 x 1 99
40 88 | 10 | 11 53 | 53 | 77 |1435| 154 40 18 | 21 | M8x1.25 | 125

# When female thread is used, use a thin wrench when
tightening the piston rod.

# When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.

166-9 ®



CM2Y series

Integrated Clevis (E)
~[stroke][ |1

CM2YE

MM

oEns
oD

LZ + Stroke -
L ZZ + Stroke
Z + Stroke ‘ | LP
H S + Stroke L R
E K * ul B{

2

>

V;zzl

Width across flats B1
Width across flats KA

Female rod end

40,058
7| eCDhi's

Ve

ﬁ\ |
_ g 4 |

el @

Effective thread length FL

T\\
[ e

Refer to page 178 for details
of clevis pivot bracket.

Integrated clevis (90°) (V)

35 Port
Female thread MM |
Thread depth A i é I ‘# @
1=
ZZ + Stroke
* The outer dimensions are the same as those for the integrated clevis (E).
(mm)
Bore size A |AL | B1 |CD|CI |CX| D E F |FL | G H | Hi I K |KA| L MM NA NN
20 18 |1565| 13 | 8 | 20 | 12 8 | 2080 | 13 |10.5] 8 | 41 5 | 28 5 6 12 M8 x 1.25 24 M20 x 1.5
25 22 [195] 17 | 8 | 22 | 12 | 10 | 2680 | 13 [10.5| 8 | 45 | 6 [335|55 | 8 12 | M10x1.25 | 30 M26 x 1.5
32 22 [19.5| 17 | 10 | 27 | 20 | 12 | 268es | 13 |10.5]| 8 45 6 |375|55| 10 | 15 M10x1.25 [345| M26x15
40 24 | 21 | 22 | 10 | 33 | 20 | 14 | 323« | 16 |13.5| 11 | 50 | 8 |465| 7 12 | 15 M14x1.5 |425 M32 x 2
(mm) Female Rod End (mm)
Bore size P |[RR| S u Z | zz Bore size A1 H MM zz
20 18| 9 62 |11.5| 115|124 20 8 20 M4 x 0.7 103
25 1/8 | 9 62 [11.5| 119 | 128 25 8 20 M5 x 0.8 103
32 1/8 | 12 | 64 |14.5| 124 | 136 32 12 20 M6 x 1 111
40 1/4 | 12 | 88 (14.5| 153 | 165 40 13 21 M8x1.25 | 136

® 166-10

+ When female thread is used, use a thin wrench

when tightening the piston rod.

+ When female thread is used, use a washer etc. to

prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.



CM2Y series
Dimensions of Accessories

With Single Knuckle Joint

Single Knuckle Joint
1-020B, 032B Material: Carbon steel

1-040B Material: Free-cutting steel

Y(MAX
| 5
oNDH10 MM ¥ oND+10
i MM N,
£ ' P
B o N
T e / MM . 3/ (ES\
/ S ==V,
NXi1 A / £
Ui H / A | U M
Ro| Z (MIN) LB
A
(mm) mm)
Boresize| A | H MM NDuio | NXi |Ui |[Re| Y | Z Partno. | At | A [ A+ | E1 [LB] MM | NDuio | NX |Ri| Ui
20 18 | 41 |M8x1.25| 99°°| 933 |14 |10 | 11 | 66 1-020B 20 461620 |36 |M8x125] 9¢™°| 94} 10|14
25, 32 22 | 45 |[M10x1.25 97%*° 9% | 14 | 10 | 14 | 69 1-032B | 25,32 |48 |18 |20 |38 M10x1.25 9%™*| 93; |10 | 14
40 24 | 50 |M14x1.5| 1273°° | 1653 | 20 | 14 | 13 | 92 1-040B 40 69 | 22 | 24 | 55 |M14x1.5| 120°° | 1655 |15.5) 20
With Double Knuckle Joint
oND hole H10 MM Y(MAX)
Axis d9 \| M
Rz Z (MIN)
(mm)
Boresize| A | H L MM ND | NXa | R2 | U2 | Y z
20 18 | 41 | 25 [M8x125| 9 821 10 | 14 | 11 | 66
25,32 | 22 | 45 | 25 |M10x1.25 53| 10 | 14 | 14 | 69
40 24 | 50 |49.7|M14x15| 12 |16%3| 13|25 | 13 | 92
Double Knuckle Joint
Y-020B, 032B Material: Carbon steel Y-040B Material: Cast iron
oND hole H10
MM oND hole H10 Axis d9
Axis d9 MM E2
i N o <IN <
9 = zj] "E,]: I Z|2 4
LA LUd] A1 Ui
L Ll
A (mm)
Partno. | fPpleable | A | A | Ei | LA | LB MM ND NX | NZ | Ri | Ui | powcecel [Soepin® "9size
Y-020B 20 46 | 16 | 20 | 25 | 36 | M8x 1.25 9 03| 18 5 14 CDP-1 Type C 9 for axis
Y-032B 25, 32 48 | 18 | 20 | 25 | 38 | M10x1.25 9 165 | 18 5 14 CDP-1 Type C 9 for axis
Y-040B 40 68 | 22 | 24 |49.7| 55 | M14x 1.5 12 16103 | 38 | 13 | 25 | CDP-3 | 03x18L
* A knuckle pin and retaining rings (split pins for 840) are included.
Double Clevis Pinmateria: Carbon steel (mm) Double Knuckle Pinmaterial: carbon steel (mm)
Bore size/020, 925, 632 Bore size/o40 Bore size/020, 025, 032 Bore size/o40
CDP-1 CDP-2 CDP-1 CDP-3
2x03 2x03
Through hole Through hole 88
& I o e i & I g
s I i
4 32 || ® 17g][[_192 75 4 a7 || %
412 116 A 25 T iis 49.

Retaining ring: Type C9 for axis Split pin: 63 x 18 L Retaining ring: Type C9 for axis Split pin: 63 x 18 L

* Retaining rings (split pins for 240) are included. * Retaining rings (split pins for 240) are included.

166-11 @



CM2Y series

Rod End
KJOD

d2
Edl
1= St
iy O
Tt 5 [«
ES -
11 0|
] R
-
a3 od4)
w d5
mm]
Allowable W . hl
Part no. | Material |421%20% | dly7 | d3 |B:2.| C1 |d2| d4 |d5|h1|L3mn|L4| L5 [L7|W oo 5 [i'g]
load [KN]
KJ8D [catnsee] 20 | 8 |M8x1.25] 12 | 9 |24]125]16]36] 16 [48]5 [13[14]14 12 |0.05
KJ10D |Carbonsteel| 25, 32 | 10 [M10x1.25| 14 | 10.5|28 |15 |19]43| 20 |57|6.5|15|17 |13 14 | 0.07
KJ14D[catonsee] 40 | 14 [M14x15] 19 [135]36]20 [25]57] 25 [75]8 [19]22]15 36 [0.16

-The allowable radial load shows the allowable value of a single rod end. When the rod end is used for

connecting to a cylinder, the allowable radial load conforms to the cylinder specifications.

« Refer to the Web Catalog for specifications and precautions.

® 166-12



Rod End Nut

Material: Carbon steel

Dimensions of Accessories CM2Y Series

Clevis Pivot Bracket (For CM2YE(V))

Material: Carbon steel

L
LV
RLR oLC holei$ i LX
¢ Axis 3%
a0 -0.076
£
[=] X
E[ 5- j
— ! | :
al LF| LG '
LE \2xoLD
oy
(mm) (mm)
Partno. | s | B | C | D d H Applicable Included
Part no. ble| | 1 c|p|LE|LF (LG |LH|LR|LT| X |LY LV ||
NT-02 | 20 |13 |150]125|M8x125] 5 4N | pore size pin part no.
NT-03 | 25,32 | 17 |19.6/16.5|Mi0x 125 6 CM-E020B| 20,25 |245| 8 |68 |22 | 15|30 | 30 | 10 |3.2| 12 | 59 |18.4] CD-S02
NT-04 | 40 |22 |254]21.0|Mi4x15] 8 CM-E032B] 32,40 |34 | 10| 9 | 25| 15|40 |40 |13 | 4 | 20| 75 | 28 | CD-S03

Mounting Nut

Material: Carbon steel

Note 1) A clevis pivot bracket pin and retaining rings are included.
Note 2) It cannot be used for the single clevis (CM2YC) and the double clevis (CM2YD).

Clevis Pivot Bracket Pin (For CM2YE(V))

Material: Carbon steel

a9,
=jd]
[=)
= m L2 m
H t L N_t
(mm) (mm)
Partno. | APlcadle | g | ¢ | D d H Applicable Included
Part no. o Das d L1 L2 m t e 7
SN-020B| 20 |26 | 30 |255|M20x 15| 8 bore size [EENTI g
SN-032B| 25,32 |32 | 37 [315|M26x 15| 8 CD-S02 20, 25 0076 7.6 245 | 195 1.6 0.9 | TypeC8foraxis
SN-040B| 40 41 |47.3]405|M32x 2.0 10 CD-S03 32,40 10367 9.6 34 29 1.35 | 1.15 | TypeC10foraxis
Note) Retaining rings are included.
Trunnion Nut
—
H Material: Carbon steel
30
*ﬂ s
[ F
CCRS }
e
i
d (mm)
Partno. | pleable | g | ¢ | p d H
TN-020B 20 26 | 28 |255|M20x1.5] 10
TN-032B| 25,32 | 32 | 34 |31.5|M26x 1.5 10
TN-040B 40 41 | 45 [40.5| M32x 2| 10
Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel
Part No. (Dimensions: Same as standard type)
Bore size Single Double Mounting Rod
(mm) aco IFEED knuckle joint | knuckle joint* nut end nut
20 CM-L020B-XB12 | CM-F020BSUS | 1-020BSUS | Y-020BSUS | SN-020BSUS | NT-02SUS
25,32 CM-L032B-XB12 | CM-F032BSUS | 1-032BSUS | Y-032BSUS | SN-032BSUS | NT-03SUS
40 CM-L040B-XB12 | CM-F040BSUS | 1-040BSUS | Y-040BSUS | SN-040BSUS | NT-04SUS

* A knuckle pin and retaining rings are shipped together. Refer to the XC27 for details on stainless steel
double clevis pins and double knuckle pins. The accessories need to be ordered separately from the

cylinder.

166-13 ®



CM2Y series

With Single Clevis

Z + Stroke CX
* oCD -
T
o
IR\ ol
™
268 17205
75 40 6.8 x3.4
R 57
Rotation Angle (mm)
Bore size A B° A° 4 B° + 90° Mounting Part no. Applicable bore size | CX Z + Stroke CD | LX | LZ
(mm) 20 133
20 25 85 200 CcMm2YC CM-B032 25 10 137 9| 44 60
25,32 21 81 192 (Single clevis) 32 139
40 26 86 202 CM-B040 40 15 177 10 | 49 65

With Rod Trunnion

Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.

With Head Trunnion

Z + Stroke Z + Stroke TX
oCD oCD
}Eﬁ WE
N . . q
6.8x3.4 6.8 17|20.5
" 75 40
57
6.8x34 (mm)
Rod trunnion Head trunnion
Mounting Part no. Applicable bore size | TX Z+ Sl:rokle Z+ S:okle CD LX Lz
CM-B020 20 32 36 108 8 66 82
CM2YU/CM2YT 25 112
M-B032 A 4 74
(Rod/Head trunnion) c 03 32 0 0 114 9 %0
CM-B040 40 53 44.5 143.5 10 87 103
Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.
Pivot Bracket Pivot Bracket Pin (For CM2YC)
—
* Pivot brackets consists of a set of two brackets.
75 40 40 7.5
3.4 34 [
Q,
) ©
Y ¢
2 @
24 ‘(r:n:: l
j &
3
&Y .
o < M T ° gI
g g |
s S I Kk
oCDER & &,  oCDRE 1 Lz |lm
t] L1 Nt
T T
28 ¥ ¥ 28
57 57 (mm)
(mm) Applicable Included
FErne ) bore size Part no. Das d L+ L2 m t retﬁhrgng
CM-B020 Note 2) 8 Note 1) A pivot bracket pin and retaining 1 20t0 32 | CDP-1 352 | 86 | 25 [19.2]1.75]1.15 | TpeCoforans
x ote pivot bracket pin and retaining rings -
CM-B032 9 are not included with the pivot bracket. 40 CD-S03 | 103%2 | 9.6 | 34 |29 [1.35]1.15 |TpeCioforais
CM-B040 10 Note 2) Only for the trunnion Note) Retaining rings are included with the pivot bracket pin.

® 166-14



CM2Y series

D-M9 D-A9

Auto Switch Mounting =

Auto Switch Proper Mounting Position (Detection at stroke end) and Mounting Height

Solid state auto switch
D-M9ol]
D-M9JE
D-MowW
D-M9[JA
=Hs

@2 =S

Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch.

\ B.|

D-molv

D-MOCIEV
D-M9IWV
D-M9JAV

-

Aand B are the dimensions from the end of the head coverfrod cover to the end of the auto switch

Reed auto switch

o oigEgp

Aand B are the dimensions from the end of the head coverfrod cover to the end of the auto switch

B

D-A9CIV

\ B

Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch

Applicable Cylinders: Standard Type [mm] Auto Switch Mounting Height  [mm]
Auto switch D-M9LCI(V) Auto switch D-M9LCI(V)
model D-M9CIE(V) D-ASCI(Y) model|  p-MoIE(V)
D-MOCIW(V) D-MOCIW/(V)
D-M9IA(V) D-M9IA(V)
Bore size A B A B D-A9CI(V)
20 11 9.5 7 5.5 Bore size Hs
25 10 10 6 6 20 245
32 11.5 10.5 7.5 6.5 25 27
40 17.5 15.5 18.5 11.5 32 30.5
+ Adjust the auto switch after confirming the operating conditions in the actual setting. 40 345

166-15 @



CM2Y series

Minimum Stroke for Auto Switch Mounting

Applicable Cylinders: Standard Type

n: Number of auto switches

[mm]

Number of auto switches
Auto switch model With 1 With 2 pcs. With n pcs.
i C.
F Different surfaces Same surface Different surfaces Same surface
- (n-2) -
D-M9C] 5 15%1 40%1 20 +35 552 55+35(n-2)
D-M9LIE (=2, 4 6-)% (n=2,3,4,5-)
(n-2)
; 20 +35 (-2 55 +35(n-2)
D-M9CIW 10 15%1 40%1 2
(n=2,4,6-)3 (n=2,3,4,5)
(n-2) R
N " " 25+ 35 -2/ 60+ 35 (n-2)
D-M9CIA 10 15%1 40%1 B (ne2.3.4 5.)
" 50+35(n-2)
D-A9C] 5 15 30%1 ) (n=2,3,4,5-)
- (n-2) R
D-M9CIV 5 15%1 a5 20+35 05 35+35(n-2)
D-M9LCIEV (n=2,4,6-)3 (n=2,3,4,5-)
(n-2) R
15+35 (-2 25+35(n-2)
D-A9CIV 5 15 25
(N=2, 4, 6.-)%3 (n=2,3,4,5)
D-MOCIWV 10 1591 5 20 +35 ("2_2) 35+35(n-2)
D-M9JAV (n=2,4,6)3 (n=2,3,4,5)

%3 When “n” is an odd number, an even number that is one larger than the odd number is to be used for the calculation.

#1 Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

<AL 5
35

-
—

Correct auto switch mounting position is 3.5 mm from the back
face of the switch holder.

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the auto
switch and lead wire do not interfere with each other.

D-M9LI(V)

D-M9LIE(V) 15 to 20 mm stroke*?2 40 to 55 mm stroke*2
D-MOCIW(V)

D-M9JA(V) 15 to 25 mm stroke*?2 40 to 60 mm stroke*2
D-A9](V) — 30 to 50 mm stroke*2

*2 Minimum stroke for auto switch mounting in types other than those mentioned in =1

® 166-16



Operating Range

Auto Switch Mounting CM2 Y Series

Auto Switch Mounting_j Brackets/Part Nos.

[mm]
. Bore size . Bore size [mm]
Auto switch model 20 [ 25 | 32 | 40 Auto switch model 220 225 232 240
D-A9C](V) 6 6 6 |6 D-M9LCI(V) ) ) . ,
D-MOLIE(V) “ “ “ “
D-M9[(V) D-MOCIW(V) BM5-020 BM5-025 BM5-032 BM5-040
D-M9CIE(V) s | 3| alss Yioe V( ) |(Asetofa b,c, d)|(Asetofa,b,c, d)|(Asetofa b, c d)|(Asetofa,b,cd)
D-MOCIW(V) - HASOY)
D-M9LIA(V) D-M9TIA(V)*2 BM5-020S BM5-025S8 BM5-032S BM5-040S
# Values which include hysteresis are for reference (Asetofbc.e f) (: set of b,hc, e.f) | (Asetofbcef | (Asetofb, ¢ e,f)
it it
purposes only. They are not a gugramee Switch bracket uto switc]
(assuming approximately +30% dispersion) and alT ——
; N ransparent (Polyamide) "
may change substantially depending on the White (PBT 0 Auto switch mounting screw
ambient environment. € ite (PET) 7 d | (Low carbon steel wire rod)
b

+ Band (c) is mounted so that the projected part is on the internal

f | (Stainless steel)

side (contact side with the tube).

#1 The switching bracket (made of polyamide) is not to be used in environments where it could be
exposed to chemicals (In particular, alcohol, chloroform, methylamine, hydrochloric acid, and
sulphuric acid, etc.), as they may affect the performance.

%2 When mounting a D-M9JA(V) type auto switch, if the switch bracket is mounted on the indicator
light, it may damage the auto switch. Therefore, be sure to avoid mounting the switch bracket on the

indicator light.

Band Mounting Brackets Set Part Nos.

Set part no. Contents
¥ - Switch bracket (White/PBT) (e)
BJ4-1 - Switch holder (b)
BJ5-1 - Switch bracket (Transparent/Polyamide) (a)

- Switch holder (b)

166-17 ®



CM2 series

D-H7/G5/G39A/K39A D-C7/C8/B5/B6/B59W/A3LJA/A44A

Auto Switch Mounting ggir g2 ﬁ

Other than the applicable auto switches listed in “How to Order,” the following auto switches are also mountable.
Refer to the Web Catalog for detailed specifications.

* With pre-wired connector is also available for solid state auto switches. For details, refer to the Web Catalog.
= Normally closed (NC = b contact) solid state auto switches (D-M9JE(V)) are also available. For details, refer to the Web Catalog.

1

1

! Type Model Electrical entry Features

: D-H7A1, H7A2, H7B —

1 D-H7NW, H7PW, H7BW Diagnostic indication (2-color indicator)
1 Solid state D-H7NF Grommet (In-line) With di ic output (2-color indicator)
1 D-H7BA Water resistant (2-color indicator)
1 D-G5NT With timer

1 D-G39A, K39A Terminal conduit —

! D-C73, C76, B53, B54 —

: D-C80, B64 Grommet (In-line) Without indicator light

1 Reed D-B59W Diagnostic indication (2-color indicator)
1 D-A33A, A34A Terminal conduit —

1 D-A44A DIN terminal —

1

1

Auto Switch Proper Mounting Position (Detection at stroke end) and Mounting Height

Solid state auto switch

D-H7C/H7OW/H7NF/H7BA

~Hs
@ E%@w“%\mirm\%’ﬂm
(B s P
A

D-G5NT

=~Hs
] @@@
@;{ A

B
=l

B
D-G39A/K39A
~Hs
AT =
\/\{EU 7 L
Bl

® 166-18

Reed auto switch

Mg
I~ A Bl
@ﬁgﬁﬁﬁfw
A

D-C7/C8

D-B5/B6/B59W

3 Al

D-A33A/A34A

=Hs
=h

o

=
&

B

A2l

A==z

D-A44A




Auto Switch Mounting CM2 Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Mounting Height

Applicable Cylinders: Standard Type imm] Auto Switch Mounting Height [mm]
Auto switch| D-G39A D-H70] Auto switch| D-H7J
model| D-K39A D-H7O0W D-B50] model| D-H7OW | D-B5CJ
D-A3CA | D-H7BA D-GSNT |D-C7LIC80| 1y pgy LAEEY D-H7BA | D-B64 g:ﬁgg: D-A44A
D-Ad44A D-H7NF D-H7NF D-B59W D-A30IA
Boresize\| A | B [A[B|[A[B|[A[B|[A][B B D-C7L] | D-G5NT
20 1 o655 |3 [15]75] 6 [15] 0 3 O\ 2D
25 0|0 ]55]|55 2 [65[65]05][05 3.5 | |Boresize Hs Hs Hs Hs
32 1505 7 6 [35|25]| 8 7 2 1 4 20 24.5 25.5 60 69.5
40 75155 |13 | 11 |95 |75 ]| 14 | 12 8 6 9 25 27 28 62.5 72
+ Adjust the auto switch after confirming the operating conditions in the actual setting. 32 305 315 66 755
40 34.5 35.5 70 79.5
Minimum Stroke for Auto Switch Mounting
=
Applicable Cylinders: Standard Type n: Number of auto switches [mm]
Number of auto switches
Auto switch model With 1 pc. With 2 pcs. With n pcs.
' e Different surfaces Same surface Different surfaces Same surface
D-C701 15+ 45 (02). 50 + 45 (n-2)
D-C80 10 1 0 (h=2,4,6)"" (n=2,3,4,5.)
B-HZHw 10 15 . 15+ 45 (02 60 + 45 (n-2)
B:n;ﬁé (n=2,4,6..) (n=2,3,4,5-)
D-G5NT 15 + 50 {1-2) 75 + 55 (n-2)
D-B5L/B64 10 15 & (=2 4,65 (1=2,3,4,5.)
(n-2) -
20 +50 {020 75 + 55 (n-2)
D-B59W 15 20 75 2
(N=2,4,6)* (n=2,3,4,5-)
Biﬁggﬁ 10 35 100 35+ 30 (n-2) 100 + 100 (n-2)
D-A3LIA - -
B-A3E4 (n=2,3,4,5-) (n=2,3,4,5-)
*1 When “n” is an odd number, an even number that is one larger than the odd number is to be used for the calculation.
Operating Range Auto Switch Mounting Brackets/Part Nos.
—————————— —
[mm]
Auto switch model poweie Auto switch model Borsiszelinm]
uto switeh m 20 [ 25 [ 32 | 40 o switeh m 520 025 032 040
D-C7L/C80 7|8 |8 |8 DHIC]
D-B5[/B64 D-H7OW
D-A3CIA/A44A 8|8 |9 9 D-H7NF BM2-020A BM2-025A BM2-032A BM2-040A
D-B59W 12 (12 |13 |13 D-C7L/C80
D-H7L/H7LIW/H7BA g BM2-020AS BM2-025AS BM2-032AS BM2-040AS
D-G5NT/H7NF 4| 4 45| 5 D-H7BA
D-B5[1/B64
- 8|9 |9 9
DiG39A/K30A D-B59W BA2-020 BA2-025 BA2-032 BA2-040
x Values which include hysteresis are for reference D-G5NT
purposes only. They are not a guarantee
(assuming approximately +30% dispersion) and D-A3LIA/A44A BM3-020 BM3-025 BM3-032 BM3-040
may change substantially depending on the D-G39A/K39A

ambient environment.

166-19 ®



\)



Smooth Cylinder

CM2Y series

620, 325, 332, 340

How to Order

With auto switch IRod end thread Made to Orderl
(Built-in magnet) .
3 .m. Male rod end Refer to page 168 for details.
~——
Mounting [ F_| Femalerodend
B Basic (Double-side bossed) Bore size )
L Axial foot 20 [20 Pivot bracket Number of auto switches
F Rod flange 25 [ 25 mm Nil None Nil 2 pes.
G Head flange 32 [32mm N Pivot bracket is shipped S 1 pe.
c Single clevis 40 20 mm together with the product. n “n” pcs.
D Double dlovia PV ket Shigpod togathgr wih
u Rod trunnion Port thread type the product, but no:)gssem%led. Auto switch
T Head trunnion Nil Rc Rod end bracket [ Nil_T without auto switch |
E Integrated clevis TN NPT Nil Nora * For applicable auto switches,
\' Integrated clevis (90°) TF G U - — refer to the table below.
- )\ Single knuckle joint
BZ Boss-cut/Basic i W Doublo knuskie ot Built-in M i M I
FZ Boss-cut/Rod flange Cylinder stroke (mm) LW _|_Double kuckle joint_] uilt-in Magnet Cylinder Model
uz Boss-cut/Rod trunnion Refer to “Standard S;’:"zigﬁ” rod end type. P If a built-in magnet cylinder without an
P : " ge 5% * A knuckle joint pin is not provided with - auto switch is required, there is no need
+ Refer to “Ordering Example of Cylinder the single knuckle joint. to enter the symbol for the auto switch.
Assembly” on page 169. + Rod end bracket is shipped together

with the product, but not assembled. (Example) CDM2YB20-100Z
Applicable Auto Switches/Refer to pages 1341 to 1435 for further information on auto switches.

. s - Load voltage y Lead wire length (m) . .
. . Electrical |z& Wirin Auto switch model Pre-wired Applicable
b= Snezaliineion entry Em (Outpl?t) DC AC : Tniine (?\iﬁ) (JA) (E) (g) N(?\T)e connector load
3-wire (NPN) M9INV M9N ® | —|® O0|— o .
Grommet | [ awire (PNP) sV 12V MOPV | MoP | e |—|elo[—[ o |cdo
= o 2.wire 12v M9BV M9B ® |— 10 0 |— o _
S Connector — H7C o —|o 00 —
@ Terminal 3-wire (NPN) 5V,12V = G39A [— [—|—[—]e® — 1 cirouit
.g conduit ” 2-wire 12V — K39A | — |—|—|—|@® — —— Relay,
= . O | 3-wire (NPN) | 24 V — MONWV | MONW | @ (@ @ O |— o . ’
§ |Clorostc diton 7 [Souire (PNP) sv.izv MOPWV | MoPW | @ |e e O | o || PC
@ 2-wire 12V MOBWV | MOBW | @ @ @ O o —
2 [ ater resisant | Grommet | [[Bwire (NPN) SV 12V MONAV*'| MONA*" [ O [O|@[O[—] o [ ...
3 2ool0r o ;‘gr) 3-wire (PNP) ' MOPAV*' | MOPA*' | O [O[@[O[—| ©
2-wire 12V M9BAV*! | M9BA*' | O |O|@|O o —
it dagrosti vt ook indaio) 4-wire (NPN) 5V, 12V = H7NF ® —|@® O|— o IC cireuit
@ | Suire (PN equivaent) | — 5V — A96V A96 [ BK K 3K B o IC circuit —
[>] 100V A93V A93 o 0o 0 0 — o*2 —
5 Grommet |2 | 12v 100 Vorless| A90V A90 o | o 0 0 — O*2 IC circuit
'§ [2] 100V, 200V = B54 o —|e| 0| — — Relay,
g _ 3 200 V or less — B64 o —|o|—|— — — PLC
< $ . — = C73C [ K K BK ] —
3 Connector g 2wire | 24V 24Vorless|  — C80C @ [—|e @@ — |[icaut
§ Terminal 12V — — A33A [ — [—|—[—|® — PLC
[ conduit | ¢ 100V, — AdA | — [—|—[— @ — — | Reta
DIN terminal | > 200 V = AddA | — [—[—=—|e@ — PLgY
d)| Grommet — — = B59W | e |— @ |—|— —
«1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
#2 The load voltage used is 24 VDC.
= Lead wire length symbols: 0.5 m Nil (Example) MONW = Auto switches marked with “O” are produced upon receipt of order.
im M (Example) MONWM + Do not indicate suffix “N” for no lead wire on the D-A3CJA/A44A/G39A/K39A models.
3m L (Example) MONWL
5m Z (Example) MONWZ
None N (Example) H7CN

= Since there are other applicable auto switches than listed above, refer to page 183 for details.

= For details about auto switches with pre-wired connector, refer to pages 1410 and 1411.

= The D-A90J0)/M90IOIC] auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)
= The D-C7001/C801/H7010] auto switches are assembled before shipment.

167




CM2Y series

Symbol

Integrated clevis

Double acting, Single rod, Rubber bumper

Specifications

Bore size (mm) 20

25

I 32 I 40

Ambient and fluid temperature

With auto switch:

Action Double acting, Single rod
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa
operating pressure 0.7 MPa
Without auto switch: ~10°C to 70°C

_10°C to 60°C (No freezing)

Lubrication Not required (Non-lube)
Stroke length tolerance *34mm
Cushion Rubber bumper

A rate 0.5 L/min (ANR) or less

Minimum Operating Pressure

Unit: MPa
I Bore size (mm) I 20 I 25 32 40
‘ Minimum operating pressure ‘ 0.02
oo 0] Made to Order: Mounting Brackets/Part No.
order | Individual Specifications =
(For details, refer to page 169.) - - —
Mounting bracket Min. Bore size (mm) Contents (for minimum
\Symbol\ Specifications 9 order q'ty 20 25 ‘ 32 40 order quantity)
-X1854 ‘ Low friction cylinder mounting Axial foot™ 2 CM-L020B | CM-L032B | CM-L040B | 2 foots, 1 mounting nut
Flange 1 CM-F020B | CM-F032B | CM-F040B | 1 flange
Made to Order Single clevis™* 1| CM-C020B | CM-C032B | CM-C040B | 1 single clevis, 3 liners
Click here for details Double clevis 1 double clevis, 3 liners
Symbol Specifications (with pin)i 1 CM-D020B | CM-D0328 | CM-D040B 1 clevis pin, 2 rélaining }\ngs
-XAO |Change of rod end shape Trunnion (with nut) 1 CM-T020B | CM-T032B | CM-T040B | 1 trunnion, 1 trunnion nut
-XC3 | Special port location *+ Order 2 foots per cylinder.
-XC6 |Made of stainless steel 3 liners are included with a clevis bracket for adjusting the mounting angle.
##x A clevis pin and retaining rings (split pins for 240) are included.
Adjustable stroke cylinder/Adjustable
-XC9 ;
reracton bype Mounting and Accessories o i i
XC10 | Dual stroke cylinder/Double rod type g /For details about accessories, refer to pages 177 to 179.
-XC13 | Auto switch rail mounting Acooseorias Standard Option
-XC20 | Head cover axial port " Noted)| _Noted) Note 7)
- i i Mounting |Rod end| Clevis Single Double | Clevis PN(“S 9 Pivot
XC25 | No fixed throttle of connection port _ o - B knuckle knuckle| pivot b |vztt bracket
_xC27 | Double clevis and double knuckle joint Mounting joint | joint | bracket | Pracket| pin
pins made of stainless steel Basic (Double-side bossed) | @ (1 pc.) [ J [ J [ J —
-XC29 | Double knuckle joint with spring pin Axial foot ®(2) [ ] — o [ ] —
-XC52 | Mounting nut with set screw Rod flange o (1) [ ] — [ [ ) — — —
Head flange o (1) [ ] — [ J [ ) —
Integrated clevis — Note 1) [ J — [ J [J [ ]
Replacement Parts/Rod Seal Single clevis e | @ e o  — | e | e
Double clevis Note 3) — Note 1) @ (@M @ [ ] — — —
Bore size (mm) Part no. Rod trunnion @ (1)Ned| @ — o o — °
20 CM20Z-PS Head trunnion @ (1) Noe2| @ — [ J [ ] - —
25 CM25Z-PS Boss-cut/Basic o (1) [ ] [ ] [ ] —
32 CM32Z-PS Boss-cut/Flange o(1) [ — (] [ ] — — —
40 CM40Z-PS Boss-cut/Trunnion @ (1)N\oe2d| @ — ® ° _

Grease Pack for Maintenance

When maintenance requires only grease, use the

following

part numbers to order.

Grease pack part number: GR-L-005 (5 g)

168

GR-L-010 (10 g)
GR-L-150 (150 g)

Note 1) Mounting nuts are not attached to the integrated clevis, single clevis and double clevis types.
Note 2) Trunnion nuts are mounted on the rod trunnion and head trunnion types.

Note 3) A pin and retaining rings (split pins for 040) are included with the double clevis and double knuckle joint types.
Note 4) A pin and retaining rings are included with the clevis pivot bracket.

Note 5) Retaining rings (split pins for 940) are included with the clevis pin.

Note 6) A pin and retaining rings are included with the pivot bracket.

Note 7) Retaining rings are included with the pivot bracket pin.

+ Stainless steel mounting and ac

ies are also

Refer to page 178 for details.

Standard Strokes

Bore size (mm) \

Standard stroke (mm)

\
\ 20, 25, 32, 40 |

25, 50, 75, 100, 125, 150, 200, 250, 300

Note 1) Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” in the Web Catalog. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.


https://www.smcworld.com/content/en-jp/products/custom/index.html

Smooth Cylinder CM2Y Series

Option: Ordering Example of Cylinder Assembly

Cylinder model: CDM2YC40-150Z-NV-M9BW

Single clevis

Auto switch

Mounting C: Single clevis

Pivot bracket  N: Yes

Rod end bracket V: Single knuckle joint
Auto switch D-M9BW: 2 pcs.

* Pivot bracket, single knuckle joint and auto
switch are shipped together with the product,
but not assembled.

* Pivot bracket is only applicable to mounting
C,T,U,E, Vand UZ

* No rod end bracket is provided for the female
rod end type.

Weights
——
(kg)
Bore size (mm) 20 25 32 40
Basic (Double-side bossed) 0.14 0.21 0.28 0.56
Axial foot 0.29 0.37 0.44 0.83
Flange 0.20 0.30 0.37 0.68
Integrated clevis 0.12 0.19 0.27 0.52
. . Single clevis 0.18 0.25 0.32 0.65
Basic weight -
Double clevis 0.19 0.27 0.33 0.69
Trunnion 0.18 0.28 0.34 0.66
Boss-cut/Basic 0.13 0.19 0.26 0.53
Boss-cut/Flange 0.19 0.28 0.35 0.65
Boss-cut/Trunnion 0.17 0.26 0.32 0.63
Additional weight per 50 mm of stroke 0.04 0.06 0.08 0.13
Clevis bracket (with pin) 0.07 0.07 0.14 0.14
X Single knuckle joint 0.06 0.06 0.06 0.23
gggﬁ; Double knuckle joint (with pin) 007 | 007 | 007 | 020
Pivot bracket 0.06 0.06 0.06 0.06
Pivot bracket pin 0.02 0.02 0.02 0.03
Calculation: Example) CM2YL32-100Z
* Basic weight:-- .44 (Foot, 032)
* Additional weight: .08/50 stroke
© Cylinder stroke:-- 00 stroke
0.44 +0.08 x 100/50 = 0.60 kg
Same Mounting Dimensions as the Low Friction Cylinder
—
CM2Y [Mounting|[Bore size||Stroke| Z —X1854 Dimensions

APrecautions

FEE_-_—_—_—_—_—_—_—_—_———————
1 Be sure to read this before handling |
I'the products. !
I Refer to page 9 for safety instructions !
jand pages 10 to 19 for actuator and
1 auto switch precautions. 1

-

\ Operating Precautions
AWarning

. Do not rotate the cover.
If a cover is rotated when installing a cylinder or
screwing a fitting into the port, it is likely to
damage the junction part with cover.

ACaution

1. Not able to disassemble.

Cover and cylinder tube are connected to each
other by caulking method, thus making it
impossible to disassemble. Therefore, internal
parts of a cylinder other than rod seal are not
replaceable.

Use caution to the popping of a retaining
ring.

When replacing rod seals and removing and
mounting a retaining ring, use a proper tool
(retaining ring plier: tool for installing a type C
retaining ring). Even if a proper tool is used, it is
likely to inflict damage to a human body or
peripheral equipment, as a retaining ring may be
flown out of the tip of a plier. Be much careful
with the popping of a retaining ring. Besides, be
certain that a retaining ring is placed firmly into
the groove of rod cover before supplying air at
the time of installment.

Do not use an air cylinder as an air-
hydro cylinder.

If it uses turbine oil in place of fluids for cylinder,
it may result in oil leakage.

The oil stuck to the cylinder is grease.
The base oil of grease may seep out.
The base oil of grease in the cylinder may seep
out of the tube, cover, crimped part or rod
bushing depending on the operating conditions
(ambient temperature 40°C or more, pressurized
condition, low frequency operation).

-

[

[

o s

Same mounting dimensions as the CM2Q

In order to adjust the mounting dimensions of the low
friction cylinder (CM2Q), extend the longitudinal dimension

(S, ZZ) by 3 mm.

S + Stroke
Specifications ‘ 2Z + Stroke |
Cylinder bore size (mm) 20 [ 25 | 32 | a0

Action Double acting, Single rod Bore size (mm) s 77
Direction of low friction Bi-directional 20 65 119
Fluid Air 25 65 123
Proof pressure 1.05 MPa 32 67 125

operating pressure 0.7 MPa 20 91 157

= Low friction operates bi-directionally.

# Add 3 mm to S and ZZ dimensions of the double acting, single rod type on pages
170 to 176 for the dimensions for each mounting bracket other than the basic type.

169



CM2Y series

Basic (Double-side Bossed) (B)

CM2YBBore size] - [stroke] [ |2

G
Width across flats B2 Hz G~ 2xP 2x NN
Width across flats B1 H1 / (Re, NPT, G) |/
Tl 2
w
a
f £ i~ g
A=) ‘ oy ¢
MM,/ Effective thread length A
AL 1.5 . NA
Width across flats KA |~ A ‘K Fl | 2xFL '
H | S + Stroke F |
1 ZZ + Stroke |
Boss-cut
Female rod end
Female thread MM
T H
i i |
ZZ + Stroke _J
ZZ + Stroke
(mm)
Bore size A |AL|B1 |B2| D E F|FL| G| H | Hi |H| I K | KA MM NA NN P | S |zz
20 18 |15.5/ 13 | 26 | 8 | 209955 | 13 |105| 8 | 41 | 5 8 |28 | 5 6 M8x125 | 24 | M20x1.5 |1/8]| 62 |116
25 22 [19.5] 17 [ 32 | 10 | 26805 | 13 [105] 8 [ 45| 6 | 8 [335/55] 8 | Miox1.25 [ 30 | M26x1.5 [1/8] 62 [120
32 22 |19.5| 17 | 32 | 12 | 265033 | 13 |105| 8 |45 | 6 8 |37.5/55]| 10 | M10x1.25 |345| M26x1.5 |1/8| 64 | 122
40 24 | 21 |22 | 41 | 14 | 32545 | 16 |135] 11 | 50 | 8 | 10 |46.5] 7 | 12 | M14x1.5 |425] M32x2 1/4 | 88 | 154
Boss-cut (mm) Female Rod End (mm)
Bore size zz Bore size A1 H MM zz
20 108 20 8 20 M4 x0.7 95
25 107 25 8 20 M5 x 0.8 95
32 109 32 12 20 M6 x 1 97
40 138 40 13 21 M8x1.25 | 125

* When female thread is used, use a thin wrench

when tightening the piston rod.

* When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the

170

workpiece.



Smooth Cylinder CM2Y Series

Axial Foot (L)
CM2YL

- [z
A K FI|G 2xP
Width across flats B1 |_ AL H> (Rc, NPT, G) rG..E. 2xNN
H
W

Width across flats KA - (Effective thread length 2 x FL)
Width across flats KA ki T

GEie JRes .

ol

Width across flats B2 4xoLD
T Width across flats ONA N 51
oYL X S + Stroke X, Y
=z’ LS + Stroke
ZZ + Stroke
Female rod end ZZ + Stroke Female Rod End (mm)

H Bore size A | H MM zz
35 20 8 | 20 | M4x07 | 110
Female thread MM 25 8 20 M5 x 0.8 110
Thread depth A1 32 12 20 M6 x 1 112
40 13 21 M8 x 1.25 142

= When female thread is used, use a thin wrench when
tightening the piston rod.

+= When female thread is used, use a washer etc. to prevent
the contact part at the rod end from being deformed

depending on the material of the workpiece.
+ Mounting bracket is shipped together with the product. (mm)

Boresize | A|AL| B [B1|B2|D | F |[FL| G |H |[H1|H2| | | K |[KA|LC|LD|LH|LS|LT|LX|LZ MM NA NN P|S|X|Y|Z|ZZ
20 18(155/40 (13|26 | 8 |13|105/ 8 |41 |5 |8 (28| 5 | 6 | 4 |68]25|10232|40|55| M8x1.25 |24 | M20x 1.5|1/8/62|20| 8 |21 |131
25 22195|47|17|32|10|13|105| 8 |45| 6 | 8 |335/55| 8 | 4 |6.8|28(102]3.2|40|55| M10x1.25 |30 | M26 x 1.5|1/8/62]|20| 8 |25|135
32 22(195|47|17|32|12|13|105| 8 |45| 6 375|55|10| 4 |6.8|28|104|3.2|40|55| M10x1.25 |345| M26 x 1.5|1/8| 64| 20| 8 | 25|137
40 24|21|54 (22|41 (14|16 (13511 (50| 8 (10 (465| 7 (12| 4 | 7 |30|134|3.2|55|75| M14x15 |425| M32x2 |1/4|88|23|10|27 171
Rod Flange (F)
————
CM2YF - [stroke][ ]z
Width across flats B2
4 x oFD Width across flats B1 N o~ .o
- H2 G 2xP
Mounting hole I3 G 2 x NN
117
| 2=
9 ek
] Effective
2xoFD MM/ 15 L_. thread length
040 Mounting FZ - [ 2xFL
hole —_—
220 to 032
i S + Stroke F
Width across flats KA ' ZZ + Stroke
Boss-cut Female rod end
Female thread MM
LR j Wl
Al lv Thread depth A1 Female Rod End (mm)
- Sa——— : Boresize | A1 | H MM [ zz
| 20 8 | 20 | M4x0.7 95
25 8 | 20 | M5x0.8 95
ZZ + Stroke 32 12 | 20 M6 x 1 97
Boss-cut (mm) 40 13 | 21 | M8x1.25 | 125
" Boresize | 2z * When female thread lis used, use a thin
— 20 | 103 [DELLEY wrench when tightening the piston rod.
[ A T - R ZZ + Stroke + When female thread is used, use a washer
_ 2 | 107 etc. to prevent the contact part at the rod
32 109 end from being deformed depending on
40 138 the material of the workpiece.
+ Mounting bracket is shipped together with the product. (mm)
Boresize | A |AL| B |[B1|B2|C2| D E F |FL|FD|FT|FX|FY|FZ| G | H |H1|H2| | | K [KA MM NA NN P|S|Z|ZZ
20 18 {155/ 3413|2630 | 8 | 20505 |13 [105] 7 | 4 |60|— (75| 8 |41| 5| 8 |28| 5 | 6 | M8x1.25|24| M20x 1.5 |1/8| 62|37 [116
25 22[19.5/40(17 |32 37 | 10| 260 | 13]105] 7 | 4 |60 | — 75| 8 |45| 6 | 8 [335(5.5| 8 [M10x1.25{30 | M26x 1.5 |1/8| 62 | 41 |120
32 2219.5/40 (17 |32 |37 |12 | 2600 |13|10.5| 7 | 4 (60| — |75| 8 |45| 6 | 8 [37.5/5.5| 10 |[M10x 1.25|34.5| M26 x 1.5 | 1/8| 64 | 41 | 122
40 24 |21|52 |22 |41 (47.3] 14 | 3284 |16(135| 7 | 5 (66|36 |82|11|50| 8 |10 (465 7 |12 | M14x 1.5 |425] M32x 2 |1/4| 88|45 |154




CM2Y series

Head FIange (G)

CM2YG

- [strokel[ ]z

Effective thread length 2 x FL

Hz  Width across flats B2 2xoFD 4xoFD
- G Hz it across flals B2
Width across flats B1 H12x NN G ZR)::,PNPT, - r_‘ o Mounting hole  Mounting hole
T T
s T WA [q} 7\ =
& nI 4 = A /(/ f \ >
of ©f AN H ik ™
’ IS
G
MM AL 11 1.5 \Width across flats ONA FX
Width across flats KA /* A K| |F FZ 040
H S + Stroke FT|
Z + Stroke 020 to 032
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1 m]@mﬁ
i
35
H
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A |AL | B Bi1 | B2 | C2 D E F FL | FD | FT | FX | FY | FZ | G H Hi1 | H2 1
20 18 | 155 | 34 | 13 | 26 | 30 8 | 20003 | 183 |105] 7 4 60 | — | 75 8 41 5 8 28
25 22 |195| 40 | 17 | 32 | 37 | 10 | 265033 | 13 | 105 | 7 4 60 | — | 75 8 45 6 8 |335
32 22 |195| 40 | 17 | 32 | 37 | 12 | 26033 | 13 |105| 7 4 60 | — | 75 8 45 6 8 |375
40 24 | 21 52 | 22 | 41 |473| 14 | 32449 | 16 | 135 | 7 5 66 | 36 | 82 | 11 50 8 10 | 465
(mm) Female Rod End (mm)
Bore size KA MM NA NN P S z zz Bore size A1 H MM zz
20 5 6 | M8x125 | 24 |M20x15]| 1/8 | 62 | 107 | 116 20 8 | 20 M4 x0.7 95
25 5.5 8 |Mi10x125| 30 |M26x15]| 1/8 | 62 | 111 | 120 25 8 | 20 M5x 0.8 95
32 5.5 10 |M10x1.25| 345 |[M26x1.5| 1/8 64 | 113 | 122 32 12 20 M6 x 1 97
40 7 12 | M14x15 | 425 | M32x2 | 1/4 | 88 | 143 | 154 40 18 | 21 | M8x1.25 | 125

172

# When female thread is used, use a thin wrench
when tightening the piston rod.

+ When female thread is used, use a washer efc. to
prevent the contact part at the rod end from being
deformed depending on the material of the

workpiece.



Smooth Cylinder CM2Y Series

Single Clevis (C)
cm2yc —[stroke][ |z

Effective thread length FL

Width across flats B1 ~ H1 NN G o2xP G
(Re, NPT, G)
R R
2ol TR
El ) l f 1]!
mm/ AL ||| s
Width across flats KA AT K | FIT
H S + Stroke |
Z'5* + Stroke
ZZ'’ + Stroke
Female rod end Female Rod End (mm)

Female thread MM Bore size A1 H MM (Z2Z)
Thread depth A1 ‘ 20 8 20 M4 x 0.7 121

25 8 20 M5 x 0.8 121

32 12 20 M6 x 1 123

40 13 21 M8x 1.25 | 159

3.5 + When female thread is used, use a thin wrench when
H tightening the piston rod.
 nE— s + When female thread is used, use a washer etc. to prevent
2Z'+ Stroke the contact part at the rod end from being deformed

depending on the material of the workpiece.

mm)
Boresize | A |[AL|B1| CI |[CD|CX| D E FIFL|G|H|H1| | | K|KA|L MM NA NN P |RR| S | U |(2)|(Z2)
20 18155/ 13 (24| 9 |10 | 8 | 2050 | 13 {105/ 8 |41 | 5 |28 | 5 | 6 |30 | M8x1.25 |24 | M20x1.5|1/8| 9 |62 | 14 | 133|142
25 22119517 | 30| 9 | 10 | 10 | 26.80x | 13 [10.5| 8 |45 | 6 (335/55| 8 |30 | M10x1.25 |30 | M26x 1.5 |1/8| 9 |62 | 14 |137 | 146
32 22 19517 30| 9 |10 | 12| 26305 | 13 |10.5| 8 | 45| 6 |37.5/5.5| 10 | 30 | M10x 1.25 [34.5| M26x 1.5 | 1/8| 9 | 64 | 14 | 139|148
40 24|21 |22|38|10 | 15|14 | 3230, | 16 [13.5| 11 |50 | 8 [46.5| 7 | 12|39 | M14x15 [425] M32x2 |1/4| 11|88 |18 |177|188
Double Clevis (D)
—————
~[stroke|[ |z
., FEffective thread length FL 2CD hole H108*®
Width across flats B1 - Hi NN G 2xP G Axisd938R
] (Rc, NPT, G)
== i i | ¥
2| / ﬁg S|
ks ) &3
MM/ AL s U
Width across flats KA A K| LLF
H S + Stroke L
_Z'5"+ Stroke RR
ZZ';’ + Stroke J‘
Female rod end Female Rod End (mm)
Female thread MM Bore size A1 H MM (Z2)
Thread depth At 20 8 20 M4 x 0.7 121
25 8 20 M5 x 0.8 121
32 12 | 20 M6 x 1 123
40 13 | 21 | M8x1.25 | 159

* When female thread is used, use a thin wrench when
tightening the piston rod.
* When female thread is used, use a washer etc. to prevent

3.5

ZZ'5" + Stroke the contact part at the rod end from being deformed
depending on the material of the workpiece.
(mm)
Bore size | A |AL|B1|CD|CI |[CL|CX|CZ| D E F |FL H|Hi || |K|KA|L MM NA NN P |[RR| S | U |(2)|(Z2)

28| 5|6 |30 M8x1.25|24| M20x 1.5 [1/8] 9 |62|14|133]142
335/5.5| 8 |30 |M10x 1.25|30 | M26 x 1.5 |1/8| 9 |62 | 14 |137|146
375/5.5|10 |30 |M10 x 1.25|34.5| M26 x 1.5 |1/8] 9 |64 | 14 139|148
46.5| 7 | 12|39 | M14x 1.5 |425 M32x2 [1/4|11|88|18|177|188

25 22(195/17| 9 |30|25|10|19| 10| 2650, |13 [10.5 45

32 2219517 9 |30(25|10[19|12| 2650 |13[105 45

40 242122 (10|38 [41.2|15|30| 14| 3250 |16(135/ 11|50
= A clevis pin and retaining rings (split pins for @40) are shipped together.

G
20 18 [155/ 13| 9 [24|25|10|19| 8 | 2040 |13]105) 8 |41

8

8

©|lo|o|o

173



CM2Y series

Rod Trunnion (U)

CM2YU

- [stroke][_]

Y4

Width across flats B2

& Width across G 2xP G 2xNN
?g,? flats B1 H1 — (Rc, NPT, G) /
N g .gu;’l T 1
S
/ﬁ%\ Z nI R
&% & sl S g
TX L AL T Width across flats CINA L__iEﬂective thread length
1z A K |TT 15 2xFL
Width flats KA ’—Zj.
~Shasoe 2 H S + Stroke F
ZZ + Stroke
Boss-cut
_1:: 1] H
1
4@@ : Zax
-
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A+ i é
o
i
3.5
H
ZZ + Stroke
+ Mounting bracket is shipped together with the product. (mm)
Bore size A | AL | B1 | B2 D E F FL | G H H1 I K | KA MM NA NN P
20 18 | 155| 13 26 8 20005 13 | 10.5 8 41 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8
25 22 |195| 17 | 82 | 10 | 2680 | 13 |105| 8 45 6 |335]| 55 8 | M10x1.25 | 30 | M26x1.5 | 1/8
32 22 |195| 17 | 32 | 12 | 265 | 13 |105| 8 45 6 |375| 55| 10 | M10x1.25 | 345| M26x15 | 1/8
40 24 | 21 22 | 4 14 | 32000 | 16 | 135 11 50 8 |465 ]| 7 12 | M14x15 |425| M32x2 1/4
(mm) Boss-cut (mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ z zz Bore size zz Bore size A1 H MM zz
20 62 8 10 | 82 | 82 | 52 | 36 | 116 20 103 20 8 | 20 M4 x 0.7 95
25 62 9 10 | 40 | 40 | 60 | 40 | 120 25 107 25 8 | 20 M5 x 0.8 95
32 64 9 10 | 40 | 40 | 60 | 40 | 122 32 109 32 12 | 20 M6 x 1 97
40 88 | 10 | 11 53 | 53 | 77 | 445 | 154 40 138 40 183 | 21 | M8x1.25 | 125

174

+# When female thread is used, use a thin wrench
when tightening the piston rod.

+# When female thread is used, use a washer etc.
to prevent the contact part at the rod end from
being deformed depending on the material of the
workpiece.



Smooth Cylinder CM2Y Series

Head Trunnion (T)

CM2YT —[stroke][ |z

Effective thread length 2 x FL
. 2xNN G 2xP G
Width across flats B1 _H17 (Rc, NPT, G)
i HE

¥

MM/ AL 15\ Width across flats CINA
Width across flats KA A L_E_

Width across flats B2

l/

0,02
0TDeo 057

H S + Stroke T Tz
Z + Stroke
ZZ + Stroke
Female rod end
Female thread MM
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A AL | B1 B2 D E F FL G H H1 I K KA MM NA NN P
20 18 | 155| 13 26 8 20303 13 |105| 8 M 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8
25 22 | 195]| 17 32 10 26303 13 |105| 8 45 6 |335| 55 8 M10x 1.25 | 30 M26 x 1.5 1/8
32 22 | 195 17 32 12 26.00m 13 |105| 8 45 6 |375| 55 10 | M10x1.25 | 345 | M26x1.5 1/8
40 24 21 22 41 14 32303 16 | 185 | 11 50 8 |465| 7 12 M14x15 | 425 M32 x 2 1/4
(mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ Y4 zz Bore size A1 H MM zz
20 62 8 10 32 32 52 | 108 | 118 20 8 20 M4 x 0.7 97
25 62 9 10 40 40 60 | 112 | 122 25 8 20 M5 x 0.8 97
32 64 9 10 40 40 60 | 114 | 124 32 12 20 M6 x 1 99
40 88 10 11 53 53 77 | 1435 | 154 40 13 21 M8x1.25 | 125

# When female thread is used, use a thin wrench when
tightening the piston rod.

# When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.

175



CM2Y series

Integrated Clevis (E)
~[stroke|[ |z

CM2YE

MM

oEns
oD

LZ + Stroke -
L ZZ + Stroke
Z + Stroke ‘ | LP
H S + Stroke L R
E K * ul B{

2

>

V;zzl

Width across flats B1
Width across flats KA

Female rod end

40,058
7| eCDhi's

Ve

ﬁ\ |
_ g 4 |

el @

Effective thread length FL

T\\
[ e

Refer to page 178 for details
of clevis pivot bracket.

Integrated clevis (90°) (V)

35 Port
Female thread MM |
Thread depth A i é I ‘# @
1=
ZZ + Stroke
* The outer dimensions are the same as those for the integrated clevis (E).
(mm)
Bore size A |AL | B1 |CD|CI |CX| D E F |FL | G H | Hi I K |KA| L MM NA NN
20 18 |1565| 13 | 8 | 20 | 12 8 | 2080 | 13 |10.5] 8 | 41 5 | 28 5 6 12 M8 x 1.25 24 M20 x 1.5
25 22 [195] 17 | 8 | 22 | 12 | 10 | 2680 | 13 [10.5| 8 | 45 | 6 [335|55 | 8 12 | M10x1.25 | 30 M26 x 1.5
32 22 [19.5| 17 | 10 | 27 | 20 | 12 | 268es | 13 |10.5]| 8 45 6 |375|55| 10 | 15 M10x1.25 [345| M26x15
40 24 | 21 | 22 | 10 | 33 | 20 | 14 | 323« | 16 |13.5| 11 | 50 | 8 |465| 7 12 | 15 M14x1.5 |425 M32 x 2
(mm) Female Rod End (mm)
Bore size P |[RR| S u Z | zz Bore size A1 H MM zz
20 18| 9 62 |11.5| 115|124 20 8 20 M4 x 0.7 103
25 1/8 | 9 62 [11.5| 119 | 128 25 8 20 M5 x 0.8 103
32 1/8 | 12 | 64 |14.5| 124 | 136 32 12 20 M6 x 1 111
40 1/4 | 12 | 88 (14.5| 153 | 165 40 13 21 M8x1.25 | 136

176

+ When female thread is used, use a thin wrench

when tightening the piston rod.

+ When female thread is used, use a washer etc. to

prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.



CM2Y Sseries

Dimensions of Accessories

With Single Knuckle Joint

Single Knuckle Joint

1-020B, 032B Material: Carbon steel

Youax 1-040B Material: Free-cutting steel
| A
oNDH10 MM ¥ oND+10
i MM N,
& ' P
B N o i N
T / MM LET 3/ {"}
NX1 A / S S/
Uy H / A LUy M
Re Z (MIN) LB
A
(mm) mm)
Boresize]| A | H MM NDwo | NXi [Ui [R: [ Y | Z Partno. | e T A [Ai[E1[LB] MM [ NDwo | NX [Ri|Us
20 18 | 41 | M8x1.25 95 9%, |14 | 10 | 11 | 66 1-020B 20 46| 16|20 |36 (M8x1.25| 9| 933 |10 | 14
25,32 | 22 | 45 |[M10x1.25 9%*° 9% | 14 | 10 | 14 | 69 1-032B | 25,32 |48 |18 |20 |38 M10x1.25 9%™*| 93; |10 | 14
40 24 | 50 |M14x1.5| 1273°° | 1653 | 20 | 14 | 13 | 92 1-040B 40 69 | 22 | 24 | 55 |M14x1.5| 120°° | 1655 |15.5) 20
With Double Knuckle Joint
oND hole H10 MM Y(MAX)
Axis d9 \ M
R2 Z (MIN)
(mm)
Boresize]l A | H | L MM ND | NXa | R2 | U2 | Y | Z
20 18 | 41 | 25 |M8x1.25 9 55| 10 | 14 | 11 | 66
25,32 | 22 | 45 | 25 |M10x125| 9 63 10 | 14 | 14 | 69
40 24 | 50 |49.7|M14x15) 12 |163%7| 13| 25 | 13 | 92
Double Knuckle Joint
Y-020B, 032B Material: Carbon steel Y-040B Material: Cast iron
oND hole H10
mm oND hole H10 Axis d9
Axis 49 MM ==
o N| o XNl <
9 = 2 j] "E,]: I Z|2 4
LA Uy AU
L Ll
A (mm)
Partno. | fPpleable | A | A | Ei | LA | LB MM ND NX | NZ | Ri | Ui | powcecel [Soepin® "9size
Y-020B 20 46 | 16 | 20 | 25 | 36 | M8x 1.25 9 851 18| 5 14 CDP-1 Type C 9 for axis
Y-032B 25, 32 48 | 18 | 20 | 25 | 38 | M10x1.25 9 165 | 18 14 CDP-1 Type C 9 for axis
Y-040B 40 68 | 22 | 24 |49.7| 55 | M14x 15 12 16105 | 38 | 13 | 25 CDP-3 23x18L
* A knuckle pin and retaining rings (split pins for 840) are included.
Double Clevis Pinmateria: Carbon steel (mm) Double Knuckle Pinmaterial: carbon steel (mm)
Bore size/020, 925, 632 Bore size/o40 Bore size/020, 025, 032 Bore size/o40
CDP-1 CDP-2 CDP-1 CDP-3
2x03 2x03
Through hole Through hole 88
+ I 2 Hw ST 5
il B I i
4 32 || ® 17g][[_192 75 4 a7 || %
4.2 s 25 T 11s 49,
Retaining ring: Type C9 for axis Split pin: 63 x 18 L Retaining ring: Type C9 for axis

* Retaining rings (split pins for 040) are included.

Split pin: @3 x 18 L

* Retaining rings (split pins for 240) are included.

177



CM2Y series

Rod End Nut

gg
iE
_Hl

Material: Carbon steel

(mm)
Partno. | Apleable | g | ¢ | D d H
NT-02 20 |13 [15.0{125|M8x1.25| 5
NT-03 | 25,32 | 17 [19.6/165|M10x1.25| 6
NT-04 40 | 22[254[21.0|M14x15] 8

Clevis Pivot Bracket (For CM2YE(V))

RLR oLC hole:5s2

Material: Carbon steel

(mm)
Mounting Nut Applicable Included
g Part no. a ey L |[LC|LD|LE|LF|LG|LH|LR|LT|LX|LY|LV pin part no.
] Material: Carbon steel CM-E020B| 20,25 [245| 8 |6.8|22 | 15|30 | 30 | 10 |3.2| 12 | 59 |18.4] CD-S02
& CM-E032B| 32,40 34 |10| 9 |25 (15|40 |40 |13 | 4 |20 | 75 | 28 | CD-S03
Note 1) A clevis pivot bracket pin and retaining rings are included.
[=) Note 2) It cannot be used for the single clevis (CM2YC) and the double clevis (CM2YD).
°
H mm  Clevis Pivot Bracket Pin (For CM2YE(V))
Partno. | tpletle | g | ¢ | p d H Material: Carbon steel
SN-020B 20 26 | 30 |25.5|M20x1.5| 8 3
SN-032B| 25,32 | 32 | 37 |31.5|M26x15] 8 B2
SN-040B 40 41 |47.3|40.5|M32x2.0| 10 m L2 m
t L N t
. (mm)
JTrunnion Nut Partno. | APPlicable | p g d | L | L | m [ Udec
H Material: Carbon steel poralsize CHEIINE) Gl
30| B CD-S02 20, 25 56 7.6 | 245 | 195 1.6 0.9 | TypeC8foraxis
7 CD-S03 | 32,40 o 96 | 84 29 | 1.35 | 1.15 |TypeC f0foraxis

ol -
5| o

—

b

(mm)

Part no.

Applicable

bore size

D d H

TN-020B

20

28

255|M20x1.5] 10

TN-032B

25,32

34

31.5|M26x1.5] 10

TN-040B

40

45

405/ M32x2| 10

Note) Retaining rings are included.

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bc()rnb:rzl)ze [Feati AT knu?:ll?lglfoint knu%l?l:bjloeint* Moxtlng erfziogut
20 CM-L020BSUS | CM-F020BSUS | 1-020BSUS | Y-020BSUS | SN-020BSUS | NT-02SUS
25,32 |CM-L032BSUS | CM-F032BSUS | 1-032BSUS | Y-032BSUS | SN-032BSUS | NT-03SUS
40 CM-L040BSUS | CM-F040BSUS | 1-040BSUS | Y-040BSUS | SN-040BSUS| NT-04SUS

# A knuckle pin and retaining rings are shipped together.

Refer to the XC27 for details on stainless

steel double clevis pins and double knuckle pins. The accessories need to be ordered separately
from the cylinder.

178



With Single Clevis

Dimensions of Accessories CM2Y Series

Z + Stroke CX
* oCD -
T
o
IR\ ol
™
268 17205
75 40 6.8 x3.4
R 57
Rotation Angle (mm)
Bore size A B° A° 4 B° + 90° Mounting Part no. Applicable bore size | CX Z + Stroke CD | LX | LZ
(mm) 20 133
20 25 85 200 CMm2YC CM-B032 25 10 137 9 | 44 60
25,32 21 81 192 (Single clevis) 32 139
40 26 86 202 CM-B040 40 15 177 10 | 49 65

With Rod Trunnion

Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.

With Head Trunnion

Z + Stroke Z + Stroke TX
oCD oCD
}Eﬁ WE
N . . q
6.8x3.4 6.8 17|20.5
" 75 40
57
6.8x34 (mm)
Rod trunnion Head trunnion
Mounting Part no. Applicable bore size | TX Z+ Sl:rokle Z+ S:okle CD LX Lz
CM-B020 20 32 36 108 8 66 82
CM2YU/CM2YT 25 112
M-B032 A 4 74
(Rod/Head trunnion) c 03 32 0 0 114 9 %0
CM-B040 40 53 44.5 143.5 10 87 103
Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.
Pivot Bracket Pivot Bracket Pin (For CM2YC)
—
* Pivot brackets consists of a set of two brackets.
75 40 40 7.5
3.4 34 |
Q,
) ©
Y &
2 @
24 ‘(r:n:: l
j &
3
&Y .
o < M T ° gI
g 3 |
s S I Kk
oCDER & &,  oCDRE 1 Lz |lm
t] L1 Nt
T T
28 ¥ ¥ 28
57 57 (mm)
(mm) Applicable Included
FErne ) bore size Part no. Das d L+ L2 m t retﬁhrgng
CM-B020 Note 2) 8 Note 1) A pivot bracket pin and retaining 1 20t0 32 | CDP-1 352 | 86 | 25 [19.2]1.75]1.15 | TpeCoforans
x ote pivot bracket pin and retaining rings -
CM-B032 9 are not included with the pivot bracket. 40 CD-S03 | 103%2 | 9.6 | 34 |29 [1.35]1.15 |TpeCioforais
CM-B040 10 Note 2) Only for the trunnion Note) Retaining rings are included with the pivot bracket pin.

179



CMZ2Y Series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch

D-M9O
D-M9COW
D-M9CIA
<Hs
all 8|

A and B are the dimensions from the end of the head

cover/rod cover to the end of the auto switch.
D-M901V
D-M9COWV
D-M9OAV

5 el zn

Al B

A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

D-H70/H70OW/H7NF/H7BA/H7C
=Hs

~ vz I B
@%ﬁ@@@ww
A

B

e
&

D-G5NT
= Hs
%@@ 3 S— g 5
- = B
3 Al

D-G39A/K39A

of]
S

® 180

Reed auto switch

D-A90I
| B
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.
D-A9C1V

-

A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

D-C7/C8/C73C/C80C

iﬂ§
@ ===
[ ® A
A

D-B5/B6/B59W

=Hs

@ ﬁq@@ L \%
3 Al Bl
D-A33A/A34A

Al Bl
D-A44A




Auto Switch Mounting CM2 Y Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
A_uto
Suiteh e D-c70) D-A3TA | D-H7OJ
D-B50] D-C80 D-G39A D-H7C
B:mgng((vv)) D) D-B64 p-c7ac | DBSOW D-k39A | DH7Ow | D-GSNT
D-C80C D-A44A D-H7NF
Boresize\] A B A B A B A B A B A B A B A B
20 1 9.5 7 55 | 15 0 75 6 4 25 1 0 6.5 5 3 15
25 10 10 6 6 0.5 0.5 6.5 6.5 35 | 35 0 0 5.5 55 | 2 2
32 115 | 105 7.5 65 | 2 1 8 7 5 4 15 0.5 7 6 35 25
40 175 | 155 | 135 | 115 | 8 6 14 12 11 9 7.5 55 | 13 1 9.5 7.5
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto -Mo]
switch | D-MOCIV g‘ggE B-eaw D-A3DIA
|| D-| - -A9L] - -
model| D-MSLIWV/ 1y pegyy | B-89H | D-C73C | p.G3on | D-Ag4A
D-M9JAV D-G5NT | B-G80 D-C80C D-K39A
D-A9LIV - BH W :
D -H7NF
Bore size Hs Hs Hs Hs Hs Hs
20 235 25.5 225 25 60 69.5
25 26 28 25 27.5 62.5 72
32 29.5 31.5 285 31 66 755
40 335 35.5 325 35 70 79.5

181



CM2Y series

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs. (n: Number of auto switches)
pe. Different surfaces Same surface Different surfaces Same surface
20+35(=2 55+ 35 (n—2)
- Note 1) Note 1)
D-MoCI 5 15 Note aoee (h=2, 4, 6. N0 (n=2,3,4,5-)
20+35(=-2) 55 + 35 (n — 2)
- Note 1) Note 1)
D-MOCIW 10 15Nete dotee (h=2,4, 6. N0ted (n=2,3,4,5)
25 +35(N=2) 60 + 35 (n—2)
-| Note 1)
D-M9CIA 10 25 4otte (n=2, 4, 6. Note3) (n=2,3,4,5-)
15+350-2) 50 + 35 (n—2)
D-A9] 5 15 30 (n=2, 4, 6.4 Note ) (n=2,3,4,5-)
20 +35(N-2) 35+ 35 (n—2)
D-M9CIV 5 20 35 (n=2, 4, 6. Note3) (n=2,3,4,5-)
15 +35(0=2) 25+35(n-2)
D-A90IV 5 15 25 (n=2, 4, 6.4 Note3) (n=2,3,4,5-)
D-M9IWV 20+35(=2) 35+ 35 (n-2)
D-M9CIAV 10 20 35 (n=2,4, 5.._)2Nme 3) (n=2,8,4,5)
D-C701 15+450-2) 50 + 45 (n —2)
D-C80 10 1 50 (n=2, 4, 6. Note3) (n=2,3,4,5-)
D-H7| 15+450-2) 60 + 45 (n—2)
D-H7OIwW 10 15 60 2
D-H7NF (h=2,4,6.)Note3) (n=2,3,4,5-)
D-C73C (n-2) -
D-G80C 10 15 65 15 + 50 > 65+ 50 (n—2)
D-H7C (n=2,4,6-)Noted) (n=2,3,4,5)
D-B501/B64 10 15 75 15 + 50N =2) 75+ 55 (n - 2)
D-G5NT (n=2, 4, 6...) Note 3) (n=2,34,5-)
20+50{N=2) 75 + 55 (n - 2)
D-B59W 15 20 75 (=24, 6,__)2Note 3) (n=2,3,4,5-)
D-A3CIA/G39A 10 a5 100 35+30(n-2) 100 + 100 (n - 2)
D-K39A/A44A (n=2,3,4,5-) (n=2,3,4,5"-)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

-

LY

35J

15
e

— 1]

The proper auto switch mounting position is 3.5 mm inward

from the switch holder edge.

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the auto
switch and lead wire do not interfere with each other.

DgAom! Note 2

) Note 2)
D-MOCOIW Less than 20 stroke Less than 55 stroke
D-M9TJA Less than 25 stroke Note 2) Less than 60 stroke Note 2)
D-A90] — Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those in Note 1.

Operating Range

(mm) (mm)
. Bore size . Bore size

Auto switch model 20 | 25 | 32 | 40 Auto switch model 20 [ 25 | 32 | 40
D-M9CI(V) D-B59W 12 [12 [13 | 13
D-M9CIW(V) 35| 3 | 35| 3 D-H7C/H7O0W 4| a 45| 5
D-M9TIA(V) D-G5NT/H7NF ’
D-A9C1(V) 6 | 6 6|6 D-H7C 71859 |10
D-C7C1/C80 7 8 8 8 D-G39A/K39A 819 9 9
D-C73C/C80C
D-B50C1/B64
D-A3CIA/A44A s]8]°|°®

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially depending on the ambient environment.
Note) The D-A90] and D-A91V cannot be mounted on 250.

182



Auto Switch Mounting Brackets/Part No.

Auto Switch Mounting CM2 Y Series

" Bore size (mm)

Auto switch model 220 225 232 240
D-M9I(V) Note 1) Note 1) Note 1) Note 1)
D-M9CIW(V) BM5-020 BM5-025 BM5-032 BM5-040
D-A9(V) (Asetofa,b,c,d) | (Asetofa,b,c,d) | (Asetofa,b,c, d) | (Asetofa,b,c,d)

BM5-020S BM5-025S8 BM5-032S8 BM5-040S
o Note 2)
D-MOTIA(V) Nete2 (Asetofb,c,ef) | (Asetofb,c,ef) | (Asetofb,cef) | (Asetofb,c,e,f)
Switch bracket Auto switch
a | Transparent (Polyamide) Note 1)
e White (PBT) 0 / Auto switch mounting screw
b ﬂ r d | (Low carbon steel wire rod)
/ f | (Stainless steel)
A
A
(With switch installed)
* Band (c) is mounted so that the projected part is
on the internal side (contact side with the tube).

D-H7O
g::;ﬁ:v BM2-020A BM2-025A BM2-032A BM2-040A
D-C701/C80 (Asetof cand d) | (A setof cand d) | (A set of c and d) | (A set of c and d)
D-C73C/C80C
D-H7BA BM2-020AS BM2-025AS BM2-032AS BM2-040AS

(Asetofcandf) | (Asetofcandf) | (Asetofcandf) | (A setofcandf)
g:ggg[lvlvBG‘l BA2-020 BA2-025 BA2-032 BA2-040
D-G5NT (A setof cand d) | (A set of c and d) | (A set of c and d) | (A set of c and d)
D-A3CJA/A44A BM3-020 BM3-025 BM3-032 BM3-040
D-G39A/K39A (Asetofcandd) | (Asetofcandd) | (Asetofcandd) | (Asetofcandd)

Note 1) As the switch bracket is made of polyamide, its performance may be affected by chemicals such as
alcohol, chloroform, methylamines, hydrochloric acid, and sulfuric acid, so it cannot be used in
environments where these chemicals come into contact with the product.

Note 2) When mounting a D-M9OA(V) type auto switch, if the switch bracket is mounted on the indicator light, it
may damage the auto switch. Therefore, be sure to avoid mounting the switch bracket on the indicator

light.

Band Mounting Brackets Set Part No.

Set part no. Contents
L *Switch bracket (White/PBT) (e)
BJ4-1 *Switch holder (b)
BJ5-1 *Switch bracket (Transparent/Polyamide) (a)
*Switch holder (b)

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 1341 to 1435 for the detailed specifications.

= With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1410 and 1411.
= Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)) are also available. For details, refer to page 1360.

1
1
1
1 Type Model Electrical entry Features
1 D-H7A1/H7A2/H7B —
! Solid stat D-H7NW/H7PW/H7BW Diagnostic indication (2-color indicator)
olid state
: D-H7BA a { (in-ine) Water resistant (2-color indicator)
rommet (In-line
1 D-G5NT With timer
I D-B53/C73/C76 —
Reed " Py "
1 D-C80 Without indicator light
1
1
.

183 ®



Smooth Cylinder

G 1Y Series
020, 025, 932, 340, 950, 363, 280, 100

How to Order

B cG1Y[BI25] -[100]
Mcgew -[100

Z_
Z_

With auto switch I_l
(Built-in magnet) Bore size Rod end thread Made to Order
Refer to page 185
- 20 20 mm .i . Male rod end :
B o Mounting 25 | 25 mm | _F_| Female rod end for details.
Z* |Basic (without trunnion mounting female thread) 25 iﬁ 2: Pivot bracket Number of auto
L il oo TN Nowe | T
F Rod flange gg Zg mm “ it bracket s shpped ogether it e o S 1pc.
mm s
G Head flange <Oy, g ypes n n” pcs.
U* Rod trunnion 80_| 80mm itk g o e e bl st
T Head trunnion 100H) 100 mm Rod end bracket Auto switch
i od end bracke
D Clevis Port thread type il Nors ‘ Without aut? switch
* Not available for 880 or 6100. Nil Rc 220 to 9100 - — * For applicable auto switches,
Mounting b i i v Single knuckle joint refer to the table below.
® g bracket is shipped together with TN NPT 220 10 2100 o
the product, but not assembled. w Double knuckle joint
= The cylinder for F, G, L, D mounting types is M5x0.8 | 020, 925 . B 3 - .
Zh: Bads)ic (without trunnion mounting female TF G 232 to 9100 ‘ |"\‘0cc’| zfgl:%;s provided for the female BUl"-In Magnet CVIInder MOdeI
thread). . f " .
i = Rod end bracket is shipped together If a built-in magnet cylinder without an
Cylinder stroke (mm) with the product, but not assembled.

+ Refer to “Ordering Example of Cylinder
Assembly” on page 185.

Refer to “Standard Strokes” on
page 185.

* A knuckle joint pin is not provided
with the single knuckle joint.

auto switch is required, there is no need
to enter the symbol for the auto switch.
(Example) CDG1YB32-150Z

Applicable Auto Switches/Refer to pages 1341 to 1435 for further information on auto switches.
5 Load voltage Auto switch model Lead wire length (m)
Tye Special Electrical 5 Wiring Applicable bore size Pre-wired |  Applicable
P function entry | 8| (Output) DC AC 220 to 963 80,2100 | 0.5 | 1 | 3 | 5 |None|connector load
= Perpendicular In-line In-line (Nil) |(M)[ (L) [(Z) [ (N)
) MINV MON = ® @@ O|—| O
. sv.i2y WPV _| 9P e elelol= o om
= — circuit
_ Grommet 3-wire (PNP) — — G5P e — e O 6}
5 M9BV M9B = ® @@ O|—| O
= 2-wire 12V = = K59 o |— Oo|l—| O —
5 Connector| — H7C — o — o006 —
] " MINWV MONW = ®|®/®/O|—| O
3 W il R SN = = G59W ®[O—[ O | IC |Relay,
@ | Diagnostic indication = 3-uire (PNP) MOPWV [ M9PW ®/® O O |cireuit| PLC
g (2-color indicator) — = —|@®|O0|—| O
) M9BWV M9BW @@ O|—| O
'% Grommet 2-wire 2v — — —|®|O|—] O —
(7] 3-wire (NPN) 5V 12V MONAV*! | MINA*! Ol@|O|—]| O IC
Water resistant 3-wire (PNP) M9OPAV*' | M9PA*! O|@|O|—| O [circuit
(2-color indicator) . MOBAV*' | M9BA*! = c|le@|O o
2-wire 12y = G5BA" @ [—|@[0[—| 0 | —
4-wire (NPN) 5V,12V H7NF G59F e —|e —| O [ICcircuit
= Ve e (NPN equivalent) | — 5V — A96V Al — [ BK 3K 2K ) O [ICcircuit| —
£ ) 100 V A93V A — e @ee/e| [ O7 | —
,% Grommet [No| 100Vorless| A90V A90 = ® (@@ ® | OF |[(Ccircut
<} — Yes 100V, 200V B54 o — o0 —| —
;:3 No|  2-wire 2av | 12V 200V orless B64 o |— 0| —|— — R:E:y,
5 Conmector eS| — C73C = o —eojo] —
3 No 24V orless csoC — ®|—|®/®|/®| — [Ccicut
| Digusic ndeson ol indea] | Grommet [Yes| — — B59W o —|0|—|—| — —

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee the water resistance.

+2 The load voltage used is 24 VDC.
= Lead wire length symbols: 0.5 m

(Example) MONW
M (Example) MONWM
. L (Example) MONWL
Z (Example) MONWZ
- N (Example) H7CN

+ Since there are other applicable auto switches than listed, refer to page 195 for details.

+ For details about auto switches with pre-wired connector, refer to pages 1410 and 1411.

+ Auto switches marked with “O” are produced upon receipt of order.

+ The D-A90I0/M90IOO auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

184



Symbol
Rubber bumper

-

Smooth Cylinder CG1 Y Series

Specifications
Bore size (mm) 20 [ 25 [ 32 | 40 | 50 | 63 | 80 [ 100

Action Double acting, Single rod
Type Non-lube
Fluid Air
Proof pressure 1.05 MPa

operating pressure 0.7 MPa
Ambient and fluid temperature W“C\Z::: :Etg zm:z: _: gog Ig ggog (No freezing)
Piston speed 5 to 500 mm/s
Stroke length tolerance Up to 1000*3* mm, Up to 1500*3° mm
Cushion Rubber bumper

Basic, Basic (without trunnion mounting female thread),
Axial foot, Rod flange, Head flange,

Mounting Rod trunnion, Head trunnion,
Clevis (used for changing the port location by 90°)
A rate 0.5 L/min (ANR) or less
Allowable Male | 08 | 0.41 | 066 | 1.20 | 2.00 | 3.40 | 5.90 | 9.90
kinetic Rubber | fod end
energy bumper
) f:;":r:z 011 | 018 | 0.29 | 0.52 | 0.91 | 1.54 | 271 | 4.54

= Cylinder sizes @80 and @100 do not have rod trunnion and head trunnion types.
Foot, flange and clevis types of cylinder sizes from 20 to 863 do not have trunnion mounting
female thread.
Operate the cylinder within the allowable kinetic energy.

de 10 .. .
Wetler | Made to Order Minimum Operating Pressure
Click here for details - Unit: MPa
Symbol Specifications \ Bore size (mm) [ 20 [ 25 [ 32 [ 40 | 50 [ 63 | 80 [ 100 |
-XA[] | Change of rod end shape ‘ Minimum operating pressure ‘ 0.02 ‘ 0.01
-XC6 | Made of stainless steel
Standard Strokes
—————————
Replacement Parts/Seal Kit Bore size (mm) Standard stroke (mm) Note 1) | Max. stroke (mm)
20 25, 50, 75, 100, 125, 150, 200 Up to 1500
Bore size N 25, 50, 75, 100, 125,
(mm) Kit no. Contents 25, 32, 40, 50, 63, 80, 100 150, 200, 250, 300 Up to 1500
20 CG1Y20Z-PS | Piston seal 1pe. Note 1) Intermediate strokes not listed above are also available.
25 CG1Y25Z-PS | Rod seal 1pc. Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
32 CG1Y32Z-PS | Tube gasket 1 pe. Cylinders Moiel Sgl:ction” in thf Wefblglatl'i‘llog In{f&{xddi'lion, the proguclsftlhat.exceed the
20 CG1Y40Z-PS | Grease pack (10 g) 1 pe. standard stroke might not be able to fulfill the specifications due to the deflection etc.

When maintenance requires only grease, use the
following part numbers to order.

Grease pack part number: GR-L-005 (5 g) ordering Example of cy"nder Assembly

GR-L-010 (10 g)
GR-L-150 (150 g) Clevis
Cylinder model: CDG1YD20-100Z-NW-M9BW

Auto switch

Mounting D: Clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Pivot bracket

+ Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,
but not assembled.

185


https://www.smcworld.com/content/en-jp/products/custom/index.html

CG1Y series

Mounting Brackets/Part No. Mounting Procedure
= =
- Mounting procedure for trunnion
Mounting |Order| Bore size (mm) Contents Follow the procedures below when mounting a
bracket | qty | 20 25 32 40 50 63 80 | 100 pivot bracket on the trunnion.
2 foots,
Note | | | | | ol ol X "
Foot (2] CGL020 | CG-L025 | CG-032| CG-0MD | CGLOSD | GG | CG-OBD | CBLIOD [g 10 e 220 to 063 ‘sTé%?é'A°5n‘}ﬁ“4“'?vr“§
ios. Fembaning
Flange | 1 |CGF020|CaF025| CGFo32 | CG-FO40 | CG-Fo50 | CG-Fos3 | Ca-Foso | ca-Fioo |1 flange. Syfindor body possible
4 mounting bolts = _
Trunnion pin| 1 | C6-T020 | 0G-T025 | C6-T02 | CG-T040 | CGT0s0 | c6-Togs | — | — |2 mionins, 1 | [ !
P 2 trunnion bolts, 2 flat washers ! . Flat washer
i runnion pin
: | | | | | | | | 1 clevis, 4 mounting bolts, | Put The exterior]
Clevis | 1| CG-0020| CG:Di25| CG-D032 | C&-D040 | CG:DU50| CG-D083 00080 CG0100 v ATV IE, Pwot(bumirkeztse on the exterior)
Pivot bracket | 1| CGAM04 | G254 | CG032264 | CGUL24 | CO05024 | CE8324A | CGAAL24 | CG-100244 |1 pivot bracket

Note) Order two foots per cylinder.

Accessory

# For details about the single knuckle joint, double knuckle joint, knuckle pin, clevis pin, and rod
end nut, refer to page 190.
+ Stainless steel mounting brackets and accessories are also available. 220 to 263

Refer to page 191 for details. Clevis pin
Retainng /(PUt grease)

Weights 4

Mounting procedure for clevis
Follow the procedures below when mounting a
pivot bracket on the clevis.

Gyinderbody Retaining

o

(mm) ]
Bore size (mm) 20 25 32 40 50 63 80 100
Basic 011|018 028 | 044 | 083 | 1.17 ]| 223 | 343 | Pivot bracket
. Axial foot 0.22 1| 0.31 | 044 | 066 | 1.31 | 1.89 | 3.19 | 5.18 il

‘S;Z'ﬁt Flange 0.19 | 0.28 | 0.42 | 0.64 | 117 | 1.67 | 2.94 | 4.78

Trunnion 0.12 | 0.20 | 0.31 | 0.49 | 0.97 | 1.31 — —

Clevis 0.16 | 0.26 | 0.43 | 0.67 | 1.23 | 1.85 | 2.94 | 4.71 280, ﬂ(;ll 0.0 "
Pivot bracket 0.08 | 0.09 | 0.17 | 0.25 [ 0.44 | 0.80 | 0.98 | 1.75 M;:;‘ (pif';?;e'. 5!!3@ ?ne;am
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57 ijﬂ];ﬂ]f - "
Double knuckle joint (with pin) 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31
Additional weight per 50 mm of stroke| 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49
Weight reduction for female rod end |-0.01|-0.02|-0.02|-0.05|-0.10|-0.10|-0.18 | -0.27

Calculation (Example) CG1YL20-100Z (Foot, 620, 100 st)
* Basic weight 0.22 (Foot, 820)
* Additional weight 0.05/50 stroke
® Air cylinder stroke 100 stroke
0.22 + 0.05 x 100/50 = 0.32 kg

Pivot bracket

| A\Precautions |

e e e il

1 Be sure to read this before handling the products. 1
1 Refer to page 9 for safety instructions and pages 10 to 19 for actuator and auto switch precautions. 1

- e e e e e R e e e e e e e e e e e e e e e e e e e e e ]

\ Operating Precautions \ \ Disassembly/Replacement
A Warning A\ Caution
1. Operate within the specified cylinder speed. 1. Do not replace the bushings.
Otherwise, cylinder and seal damage may occur. The bushings are press-fit. To replace them, they must be replaced
2. When the cylinder is used as mounted with a single together with the cover assembly.
side fixed or free (basic, flange types), a bending 2. To replace a seal, apply grease to the new seal before
moment will be applied to the cylinder due to the installing it.
vibration generated at the stroke end, and the cylinder If the cylinder is put into operation without applying grease to the
may be dam.aged_. In such a case, mount a brack_et to seal, it could cause the seal to wear significantly, leading to
reduce the vibration of the cylinder or use the cylinder premature air leakage.
at a piston speed low enough to prevent the cylinder . . .
from vibrating at the stroke end. 3. C_yllnders with 250 or larger bore sizes cannot be
disassembled.
ACaution When disassembling cylinders with bore sizes of 20 through 240,
N ) ) ) grip the double flat part of either the head cover or the rod cover
1. Tighten clevis bracket mounting bolts with the with a vise and loosen the other side with a wrench or a monkey
following proper tightening torque. wrench etc., and then remove the cover. When retightening,
220: 1.5 N-m, 825 to 32: 2.9 N-m, 940: 4.9 N-m, tighten approximately 2 degrees more than the original position.
©50: 11.8 N-m, 963 to 80: 24.5 N-m, 9100: 42.2 N-m (Cylinders with @50 or larger bore sizes are tightened with a large

tightening torque and cannot be disassembled.)

® 186



Smooth Cylinder CG1 Y Series

Dimensions: 220 to 100
Basic: CG1YB

Width across s KA~ F_ GA 2 x P GB Section TA/TB 2xTC
X
M H V(Hc. NPT, G) > e
a|| B Himp /
:,2}1 o v % ° Z !
t PSR
S -
\s\ﬁlljacmss flats B AL <& TXTC cj
<L.U45 TA| 1= || TE
H S + Stroke F TG |.TF
ZZ + Stroke NA
Female rod end
MM Section TA/TB (mm)
B"(ﬁnﬁi)ze e ™ TE | TF | TG

i 20 M5 x 0.8 8 4 0.5 55
+0.08

'e‘\‘: ém_[ % 25 M6 x 0.75 10'§ 5 1 6.5
N2 (| 32 M8 x 1.0 12'9% 55 | 1 7.5
40 M10x 1.25 D 6 1.25 8.5

50 M12x1.25 16%9% 75 | 2 10
|H | 63 M14x15 | 189% | 115 | 3 14.5

ZZ + Stroke

# Cylinder sizes @80 and 100 do not have trunnion mounting
female thread on the width across flats NA.

(mm)
B‘?:ﬁms')ze S""(kn‘jrﬁ;”ge A|AL|B | c|D|E|F | H|H].I J K | KA MM NA
20 18 | 155 | 13 | 14 8 | 12| 2 | 3 | 5| 26 |Max07depth7| 5 6 | M8x125 | 24
25 22 |195| 17 |165| 10 | 14 | 2 | 40 | 6 | 31 |M5x08depth7.5 55| 8 | Mi0x1.25 | 29
32 22 |195| 17 |20 | 12 | 18 | 2 | 40 | 6 | 38 |M5x08depth8| 55| 10 | MIOx1.25 | 355
40 Uptotsoo | 0 27 [ 19 26 [ 16 [25 [ 2 [ 50 | 8 [ a7 |Mextdephiz| 6 [ 14 [ miaxts | 44
50 35 |32 | 27 |32 | 20 | 30 | 2 | 58 | 11 | 58 |M8x125depthi6| 7 | 18 | M18x15 | 55
63 35 |32 | 27 |38 | 20 | 32 | 2 | 58 | 11 | 72 [MI0x15depthi6| 7 | 18 | M18x15 | 69
80 40 |37 | 32 |50 | 25 | 40 | 3 | 71 | 13 | 89 |MI0x15depth22|10 | 22 | M22x15 | 86
100 40 |37 | 41 |60 | 30 | 50 | 3 | 71 | 16 | 110 |Mi2x1.75depth22| 10 | 26 | M26x15 |106
(mm)
i Rc, NPT port G port
el R el e e
20 77| 11 | 11 | 14| 12 | 12 | 1/8 |12 | 12 |M5x08
25 77 | 11 | 11 | 119 | 12 | 12 | 1/8 |125 | 125 [M5x08
32 79 | 11 | 11 [121 | 12 | 12 | 18 [105 | 105 s
40 87 | 12 | 12 | 139 | 13 | 13 | 18 |13 | 10 18
Up to 1500
50 102 | 13 | 13 | 162 | 14 | 14 | 14 |14 | 1a 1/4
63 102 | 13 | 13 | 162 | 14 | 14 | 1/a |14 | 1a 1/4
80 122 | — | — | 196 | 20 | 20 | /8 |175 | 175 | 38
100 122 | — | — | 196 | 20 | 20 | 12 |[175 | 175 | 12
Female Rod End (mm)
E;‘;r: At | H MM 2z
20 | 8 | 13 | M4x07 92
25 | 8 | 14 | M5x08 93
32 | 12 | 14 | Mex1 95

40 13 15 M8 x 1.25 104
50 18 16 M10x 1.5 120
63 18 16 M10x 1.5 120
80 21 19 M14x1.5 144
100 25 22 M16x 1.5 147
+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.

187




CG1Y series

Mounting Bracket

Axial foot: CG1YL

. led Y
e e 1 ! ==
i f
4xoLD 4% w F 2xeLC w
- Lz X y (Knock pin position) y X M
z LS + Stroke
ZZ + Stroke
Axial Foot (mm)
Bore size (mm) B LC LD LH LS LT LX Lz M w X Y z 2z
20 34 4 6 20 53 3 32 44 3 10 15 7 47 118
25 38.5 4 6 22 53 3 36 49 35 10 15 7 52 | 1235
32 45 4 7 25 53 3 44 58 3.5 10 16 8 53 125.5
40 54.5 4 7 30 60 3 54 71 4 10 16.5 8.5 63.5 144
50 70.5 5 10 40 67 4.5 66 86 5 17.5 22 1 75.5 | 169.5
63 82.5 5 12 45 67 4.5 82 106 5 17.5 22 13 75.5 | 169.5
80 101 6 1 55 74 4.5 100 125 5 20 28.5 14 95 | 202.5
100 121 6 14 65 74 6 120 150 7 20 30 16 95 206

# Other dimensions are the same as basic type.

= For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket when the piston rod is retracted at the stroke end, extend
the piston rod to tighten the nut using a tool, and mount a workpiece on the rod end.

= Refer to the basic type for the female rod end.

Rod flange: CG1YF

4xoFD F, FT
*Q;} "“"T“{z} S i
&l T @&g@ il e —
A L]
FX:015 H
B
Head flange: CG1YG
2 4xoFD
.-

! ]| Lo oS

. @,\@\

@ x v 5 é i

w 5 /
| A
FT| || F FXeo15
ZZ + Stroke B
Flange (mm)
Bore size (mm) | B E F | I | FD | FT | n | Headfange

20 0 | 12 2 28 | 55 | 6 35 120
25 24 | 14 2 32 | 55 | 7 40 126
32 53 | 18 2 38 | 66 | 7 40 128
40 61 25 2 46 6.6 8 50 147
50 76 | 30 2 58 9 9 58 171
63 92 32 2 70 11 9 58 171
80 104 | 40 3 82 | 11 | 7 207
100 128 | 50 3 | 100 | 14 | 14 | 7 210

Note) End boss is machined on the flange for oE.
= Other dimensions are the same as basic type.
= Refer to the basic type for the female rod end.

188



Smooth Cylinder CG1 Y Series

Mounting Bracket

Rod trunnion: CG1YU

Bracket mounting range

. Trunnion (mm)
' Bore si
/ = L ore size TDe8 TR TS
1 \ (mm)
TR /1 2
HR Y = 20 8% 39 28
// \ | 25 10385 43 33
LT 32 12358 545 40
—— 40 1 65.5 49
z 50 16555 80 60
63 185658 98 74
Bore size 1z Rod side | Head side
(mm) Z Z
Head trunnion: CG1YT ™® 2 75 5 To1
TS Bracket 25 53 51 106
ol | mounting range
ga | x 32 67.7 51 108
Ko | 40 78.7 62 125
i i, <& |In I ‘ |/ 50 98.6 71 147
&1 A7 R = s AR 63 1192 7 147
NS | |1 oS I ©, - * Constructed of a trunnion pin, flat washer and hexagon
| socket head cap bolt.
| ‘\ | Note) Refer to page 190 for pivot bracket.
i o —/ * Other dimensions are the same as basic type.
‘ e * Refer to the basic type for the female rod end.
Z + Stroke TZ

Clevis: CG1YD

020 to 063

8xJ, cz

oCD hole H10",
Axis d9

LIT

o
Rz i ’/\_ © s N
[ \ &
,___4/ \ = |
L1 1
_ Z + Stroke _ J
ZZ + Stroke J iv4
(The above shows the case port location is changed by 90°.)
280, 100
0CD hole H10
Axis d9

Z + Stroke.
ZZ - Stroke

* A clevis pin and retaining rings are shipped together for the clevis type.

Clevis (mm)
Bore size
(mm) CcD CX cz L RR Vv
20 8 — 29 14 1 —
25 10 - 33 16 13 —
32 12 — 40 20 15 —
40 14 — 49 22 18 —
50 16 — 60 25 20 —
63 18 = 74 30 22 =
80 18 28 56 35 18 26
100 22 32 64 43 22 32
Bore size Applicable pin
(mm) s 2 £Z pF:Jan noAp
20 434 | 126 | 137 CD-G02
25 48 133 | 146 CD-G25
32 59.4 | 139 | 154 CD-G03
40 714 | 159 | 177 CD-G04
50 86 185 | 205 CD-G05
63 105.4 | 190 | 212 CD-G06
80 64 228 | 246 1Y-G08
100 72 236 | 258 1Y-G10

Note) * Refer to page 190 for pivot bracket.

* Other dimensions are the same as basic type.
= Refer to the basic type for the female rod end.

189



CG1Y series
Dimensions of Accessories

Single Knuckle Joint Double Knuckle Joint
———————————————
1-G02, GO3 1-G04, G05, G08, G10 Y-G02, GO3 Y-Go04, G05, G08, G10
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
MM ONDHio MM ©NDio Ly
N
T {3 & =
‘A& / MM oND hole H1o
I LafLu] M MM oND hole o Axis d9
L N
- Axis d9 — T
‘ om R e
Part no. [WAENE A | Al | Ly [ MM R | Ui | NDwo | NX = iy
) A1l Uy |2
20 |34[8.5[016] 25 M8x1.25 [103[115] 8%™ | 8 e A1|U1
25,32 | 41 [105[020] 30 [ Mi0x1.25 [128] 14 | 10°6°* | 103 LL1 | I
40 [ 421402230 | Mi4x15 [ 12|14 ] 10%° | 18 A
50,63 |56 | 18 [028] 40 [ Mi8x15 | 16 [20 | 148 | 2238 A
80 | 712103850 M2x15 |21 |27 18" | 28 (mm)
100 [79 [21 [044] 55 | M26x15 [24 [31 [ 22 32 Part ool | e MM [ Re | us ND| Nx [ Nz| L [Ikdedin
no. | (mm partno.
f Y-G02| 20 [34]85[016[25 | M8x1.25 [103]115] 8 | 8:2:[16[21IV-Go2
Knuckle Pin Y-G03 | 25,32 41 | 105020 30 | W10x125 [128] 14 [ 10| 10:32 | 20 | 256 IV-G03
Y-G04| 40 [42]16[022[30 | Mi4x15[ 12|14 |10[18:25]36 [416] IV-Go4
r Y-GO5 (50,63 56 | 20 [ 028 [ 40 | Mi8x15 [ 16 | 20 | 14 [ 22:35 [ 44 [506 | IV-G05
M 8|5 Y-G08| 80 [71]23[038[50 | M22x15] 21|27 |18 28:25]56 |64 | V-G08
m ™ - Y-G10[ 100 [79 [ 24 [o44[55 | M26x15[24 |31 [22[ 3225 [ 64 [72 [ IV-G10
L AN * A knuckle pin and retaining rings are included.
t Nt ()
Material: Carbon steel mm .
Tppicaboboe Pivot Bracket (Order separately)
Partno. | D | L | d | L |m| t | Included
) size (mm} retaining ring
Y-G02 20 885 | 21 [ 7.6 [16.2] 1.5 | 0.9 |Type C8for axis 220 to 263
_I¥-G03 | 25,32 | 10%5%%2 [25.6 | 9.6 [ 20.2 | 1.55 [ 1.15 [ Type Ci0foraxis Material: Carbon steel
__1Y-Go4 40 10837 | 41.6 [ 9.6 [ 36.2 [ 1.55 | 1.15 | Type C10 foraxis TU, 57d
_IY-GO5 | 50,63 | 14352 |50.6 | 13.4]44.2 | 2.05 | 1.15 | Type Cléforads . W’
__1Y-Gos 80 18888 | 64 | 17 | 56.2 | 2.55 | 1.35 | Type C18 for axis
Y-G10 100 [ 228% | 72 | 21 [64.2|255]1.35 |Type C22foraxs &
* Retaining rings are included. e
9 oTE*S10
. . 0 | HE Knock pin hole
Clevis Pin =
— v
(=0 §
[SYi=}
Sl 280, 2100
n L N m Material: Cast iron
t - L Nt oTR oTd N
Material: Carbon steel (mm)
Applicable bore Included
Part no. pEize mm) Dd9 Ljd|L | m|t retaining ring \
_CD-G02 20 854 (434 7.6 | 38.6 | 1.5 | 0.9 |Type CBforaxis
CD-G25 25 1088% | 48 [ 9.6 | 42.6 [ 1.55 | 1.15 | Type C0foraxis
CD-G03 32 12:8%8 [ 59.4 [ 115 | 54 | 1.55 | 1.15 | Type Ci2foraxis == ;
_CD-G04 40 147858 | 71.4 [ 134 65 [ 2.05 | 1.15 | Type Cl4 foraxs o ‘L
CD-G05 50 16365 | 86 | 15.2 | 79.6 | 2.05 | 1.15 | Type Ciffor axis TY T
CD-G06 63 188853 | 1054 | 17 | 97.8 | 2.45 | 1.35 | Type C18 for axis ™w Tz
* Retaining rings are included. (mm)
* A clevis pin and a knuckle pin are common for the bore size 80 and 2100. TR
Part no. Sze(nm) | TB | Td | TE | TF | TH | TN | TR | TT
CG-020-24A 20 36 | 8 [ 10 [55] 25 [(293)] 13 [ 3.2
w _CG-025-24A 25 43 [ 10 [ 10 [ 55| 30 [(331)] 15 [ 3.2
CG-032-24A 32 50 | 12 [ 10 [ 6.6 | 35 [(404)] 17 | 4.5
3 a CG-040-24A 40 58 | 14 [ 10 [ 6.6 | 40 [(492)] 21 [ 4.5
. CG-050-24A 50 70 [ 16 [ 20 [ 9 | 50 [(604)[ 24 | 6
CG-063-24A 63 82 | 18 [ 20 [ 11 | 60 [(746)] 26 | 8
8 ©) CG-080-24A 80 73 [ 18 | — [ 11 | 55 [ 285 ] 36 | 11
- CG-100-24A 100 90 [ 22 [ — [13.5] 65 [ 824 [ 50 [ 12
)l B1 — - -
Material: Garbon steel (mm) Partno. el Tu | TV |TW | TX | TY | T2 [PPIgERIEPIn
Applicable bore CG-020-24A 20 [(18.1)[(358)[ 42 | 16 | 28 [38.3 8ds5 078
Partno. | ™ size (mm) < | B C|D CG-025-24A | 25 [(207)[(398)] 42 | 20 | 28 |42.1] 1005352
_NT-02 20 M8x125 | 5 | 13 | (15) |125 CG-032-24A 32 [(236)[(494)] 48 [ 22 | 28 |53.8[ 12dsfo)
-03 25,32 M10x1.25 | 6 | 17 | (19.6) | 165 CG-040-24A 40 [ (27.3)[(584) 56 | 30 | 30 |64.6| 14dsgsm
-G04 40 M14x15| 8 | 19 | (21.9) | 18 CG-050-24A 50 [(29.7)[(724)[ 64 | 36 | 36 [79.2] 16dsf%)
-05 50, 63 M18x1.5 | 11 | 27 | (31.2) | 26 CG-063-24A 63 [(34.3)[(904)] 74 | 46 | 46 |97.2] 18de0%)
-08 80 M22x1.5 | 13 | 32 | (37.0) | 31 CG-080-24A 80 — | — 172185 45 | 110 1805353
-10 100 M26x1.5 | 16 | 41 | (47.3) | 39 CG-100-24A | 100 [ — [ — [ 93 [100] 60 [ 130 22d«3%:

190



Dimensions of Accessories CG1 Y Series

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No.

Bcz::nii)ze Axial foot*! Flange*! Single knuckle joint Double knuckle joint*2 Rod end nut
20 — — 1-G02SUS Y-G02SUS NT-02SUS
25 — —

1-GO3SUS Y-GO3SUS NT-03SUS
32 CG-L032SUS CG-F032SUS
40 CG-L040SUS CG-F040SUS 1-G04SUS Y-G04SUS NT-G04SUS
50 CG-L050SUS CG-F050SUS

1-GO5SUS Y-GO5SUS NT-05SUS
63 CG-L063SUS CG-F063SUS
80 CG-L080SUS CG-F080SUS 1-G08SUS Y-G08SUS NT-08SUS
100 CG-L100SUS CG-F100SUS 1-G10SUS Y-G10SUS NT-10SUS

#1 A knuckle pin and retaining rings are shipped together. Refer to the XC27 for details on stainless steel double clevis pins and double knuckle pins. The
accessories need to be ordered separately from the cylinder.

Dimensions

The single knuckle joint, double knuckle joint, mounting nut, and rod end nut are the same as the standard type.

Axial foot

F\ M
LX
LZ 4xoLD ZZ + Stroke
(mm)
Bore size B LD LH LT LX Lz M X Y z zz
32 44 72 | [25] [3] [44] 60 35 | [16] 6 [53] [117.5(125.5)]
40 53.5 72 | [30] [3] [54] 75 [4] [16.5] 65 | [63.5] [135(144)]
50 69 [10] [40] 4 [66] 90 5.5 215 | 115 | [755] | [157.5(169.5)]
63 81 [12] [45] 4 82 [ 110 7 215 | 115 | [755] 159(171)
80 995 | 12 [55] 4 [100] | 130 7 28 17 [95] 190(204)
100 125 [14] [70] [6] [120] 160 8 [30] 15 [95] 193(207)
#1 [ ]: Same as the standard type ( ): Denotes the dimensions for long strokes
*2 Supplied with 4 mounting screws.
Rod flange > -
The head flange has the same dimensions. N
= 2
m| % (mm)
b Bore size B FD FT FX z
32 50 [6.6] 6 [38] 34
B, 40 60 [6.6] 6 [46] 44
50 75 [9] [9] [58] [49]
FX 4 FT 63 90 [ [11] [9] [70] | [49]
B 4x0oFD 80 100 | [11] 9 [82] 62
100 125 | [14] 10 [100] 61

«1[]: Same as the standard type
%2 Supplied with 4 mounting screws.

191



CG1Y series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Solid state auto switch
D-M9C]
D-M9CIW
020 to 063
~Hs

Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch.

D-G5, K5, G5OW
D-K59W, D-G59F, D-G5NT
020 to 0100

~Hs

D-H70, H7OW
D-H7NF
020 to 063

~Hs

D-H7C

Reed auto switch

D-A90I

020 to 063

Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch.

D-C7,C8
220 to 063

D-C73C, C80C
020 to 063

D-B5, B6, B59W

020 to 0100

~Hs

Auto Switch Proper Mounting Position (Detection at stroke end) (mm) Auto Switch Mounting Height

- LB]

(mm)

Auto switch | p-M9] D-H7OW DG5KE) Auto switch D-H7C
model | p-MoCIV D:H7NF D-C70) | cemson model | p_MorT (v) D:H7DW D-B5/B6 D-K59W
D-M9OW D-A90 [prisn) [D-CBO | D-B50 | meow D-MIOW (V) iz ne” | D-C73C | D-B5OW D-GSNT
D-MOIWV | D-A9LIV D-C73C D-B64 D-M9IA (V) D-C80C |D-G5/K5 D-G59F
D-H70] D-GENT D-H7BA
D-M9CIA c |D-C80C | D-A9C (V) Py D-G5CIW D-H7C
DAMSTIAV D-H7 D-GSBA D-C7/C8
Bore Bore
size A B A B A B A B A B A B A B ||size Hs Hs Hs
20 33 |32 |29 |28 |28.5/27.5|29.5|285|25 |24 |23.5/225|26.5|23.5 20 26.5 27 275
25 325|325(|28.5(285(28 (28 |29 |29 |245|245|23 (23 |26 |26 25 29 29.5 30
32 34 |33 |30 |29 |29.5/285|30.5/29.5|26 |25 |24.5/23.5|27.5|26.5 32 32.5 33 335
40 39 |36 |35 |32 |345|31.5(355|325|31 (28 |29.5/26.5|32.5|29.5 40 37 37.5 38
50 46 |44 |42 |40 |415|39.5/425|40.5|38 (36 |36.5|34.5/39.5|37.5 50 425 43 435
63 445/455|405|415/40 |41 |41 |42 [365(|375(35 |36 |38 |39 63 49.5 50 50.5
80 — | —|—=|—=|—=|—|—=|— |495|445|48 [43 |51 |46 80 — — 59
100 — | —|—|—|— | — | — | — |485|455|47 |44 |50 |47 100 = — 69.5

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

® 192



Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting CG1 Y Series

(mm)
Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs. (n: Number of auto switches)
e Different surfaces Same surface Different surfaces Same surface
(n-2) _
D-M90] 5 15 Note 1) 40 Note 1) 204357 55_+232 (2 52)
(n=2,4,6.)Note3) (n=2,3,4,5+)
(n-2) B
D-M9CIW 10 15 Note 1) 40 Note 1) 204357 55_+23;’>3 (2 52)
(N=2,4,6..)Noted) (n=2,3,4,5-)
n-2 _
D-M9UIA 10 25 40Noto 1) 25+3575 forssn-2
(=2, 4, 6..)Noted) (n=2,3,4,5+)
n-2 _
D-ASC] 5 15 30 Note 1) 15+35 5 50_+232 (2 52)
(n=2,4,6..)Note ) (n=2,3,4,5-)
- 2)
20435022 35+ 35 (n-2)
D-M9CIV 5 20 35 2
(N=2,4,6.)Note3) (n=2,3,4,5)
n-2
15 + 35 25+35(n-2)
D-A9CIV 5 15 25 2
(n=2,4,6..)Note3) (n=2,3,4,5-)
D-M9CIWV 10 20 a5 20 + 35§"T'2) 35+35(n-2)
D-M9CJAV (=2, 4, 6..)Noted) (n=2,3,4,5+)
(n-2)
D-C70 5 15 50 15+ 45T 50 +45 (n-2)
D-C80 (N=2,4,6.)Note3) (n=2,3,4,5+)
D-H70 (n-2)

. 15+ 45 60 +45 (n—-2)
D-H7OW 10 15 60 B MZNO‘Q 9 (=2, 3,4, 5.
D-H7NF (n=24,6-)

D-C73C 5 15 5 15+ 5o§”—£2) 65 +50 (n—2)
D-C80C (=2, 4, 6..)Noed) (n=2,3,4,5-)
D-B501 -
D-B64 s 5 s 15+5o§”—22) 75455 (n-2)
D-G50] (N=2, 4, 6.-) Noto ) (n=2,3,4,5.)
D-K590] T
n-2
20 + 50 75 + 55 (n - 2)
D-B59W 10 20 75 2
(N=2,4,6.)Noted) (n=2,3,4,5-)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A

15,

Correct auto switch mounting position is 3.5 mm from the back

face of the switch holder.

B

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the
auto switch and lead wire do not interfere with each other.

pHAED Note 2

) Note 2)
D-MOCOIW Less than 20 stroke Less than 55 stroke
D-M9CIA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A90] Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1.

193



CG1Y series

Operating Range

(mm) (mm)
) Bore size ) Bore size
Auto switch model Auto switch model
20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 20 (25 | 32 | 40 | 50 | 63 | 80 | 100
D-M9CI(V) D-H700/H7mW |
D-M9CIW(V) 45| 5 | 45|55 | 5 | 55| — | — D-H7NF 414|455 6|85
D-M9CIA(V) D-H7C 7 8.5 9 10 | 95 |105| — —
D-A9CI(V) 7|6 |88 |8]09]|— D-G5L1/G5C1W/G59F
D-C7/C80 s Lol s l10l10 |l —1_ D-G5BA/K59/K59W 4 | 4 |45| 5 | 6 |65|65| 7
D-C73C/C80C D-G5NT 4 4 45| 5 6 | 65|65 7
D-B501/B64 8 10 9 10 10 11 11 11
D-B59W 13 18 | 14 | 14 | 14 | 17 | 16 | 18
* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially depending on the ambient environment.
Auto Switch Mounting Brackets/Part No.
—
Auto switch Bore size (mm)
model 20 25 32 40 50 63 80 100
D-M9C1(V) Note 1) Note 1) Note 1) Note 1) Note 1) Note 1)
D-M9CIW(V) BMA3-020 BMA3-025 BMA3-032 BMA3-040 BMA3-050 BMA3-063 — —
D-A9C(V) (Asetofa, b, c,d)|(Asetofa,b,c, d)|(Asetofa,b,c, d)|(Asetofa b, c d)|(Asetofa,b,c, d)|(Asetofa,b,c,d)
D-M9TIA(V) Note2)| BMA3-020S BMA3-025S BMA3-032S BMA3-040S BMAB3-050S BMA3-063S _ _
(Asetofb,c, e f) | (Asetofb,c, e f) | (Asetofb,c, e f) | (Asetofb,c, e f) | (Asetofb,c, e f) | (Asetofb,c, e, f)
Switch bracket Auto switch
a | Transparent (Polyamide) Note 1)
e|White (PBT) 0
Auto switch mounting screw
d | (Low carbon steel wire rod)
/ f | (Stainless steel)
Q (With switch installed)
Auto switch mounting band | * Band (c) is mounted so that the projected part is on the internal side (contact side with the tube).
D-H70
R BMA2-020A | BMA2025A | BMA2-032A | BMA2:040A | BMA2-050A | BMA2-063A B _
D-C701/C80 (A setof candd)| (A setof c and d) | (A set of c and d) | (A set of ¢ and d) | (A set of c and d) | (A set of c and d)
D-C73C/80C
D-H7BA BMA2-020AS BMA2-025AS BMA2-032AS BMA2-040AS BMA2-050AS BMA2-063AS _ _
(Asetof candf) | (Asetof candf) | (A setof candf) | (A setof candf) | (A set of c and f) | (A set of c and f)
D-B5[1/B64
D-B59W
D-G501/K59 BA-01 BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10
D-G500W/K59W | (A set of c and d) | (A set of c and d) | (A set of ¢ and d) | (A set of c and d) | (A set of c and d) | (A set of ¢ and d) | (A set of c and d) | (A set of ¢ and d)
D-G5BA/G59F
D-G5NT

Note 1) As the switch bracket is made of polyamide, its performance may be affected by chemicals such as alcohol, chloroform, methylamines, hydrochloric
acid, and sulfuric acid, so it cannot be used in environments where these chemicals come into contact with the product.

Note 2) When mounting a D-M9JA(V) type auto switch, if the switch bracket is mounted on the indicator light, it may damage the auto switch. Therefore, be
sure to avoid mounting the switch bracket on the indicator light.

Band Mounting Brackets Set Part No.

Set part no. Contents
- Switch bracket (White/PBT) (e)
BJ4-1 - Switch holder (b)
BJ5-1 - Switch bracket (Transparent/Polyamide) (a)
- Switch holder (b)

® 194

[

Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance
with the operating environment. (Since the auto switch mounting bracket is not
included, order it separately.)
BBAB3: D-B5/B6/G5/K5 types
Note) Refer to page 1439 for details on the BBA3. When the D-G5BA type auto
switch is shipped independently, the BBA3 is attached.



Auto Switch Mounting CG1 Y Series

Cylinder Mounting Bracket, by Stroke/Auto Switch Mounting Surfaces

Auto switch mounting surface varies depending on mounting brackets and cylinder strokes. Refer to the table below.

(mm)

Auto switch model

Basic, Foot, Flange, Clevis

Trunnion

With 1 pc.
(Rod cover side)

With 2 pes.
(Different surfaces)

With 2 pes.

(Same surface)

With 1 pc.
(Rod cover side)

With 2 pes.
(Different surfaces)

With 2 pes.
(Same surface)

Auto switch mounting

surface Port surface Port surface Port surface o
B S e
QO & &F &g
Auto switch type
D-M9(V)
D-M9CIW(V)
D-M9TIA(V) 10 st or more 15t0 44 st 45 st or more 10 st or more 15t0 44 st 45 st or more
D-A9(V)
D-C7/C8 10 st or more 15 to 49 st 50 st or more 10 st or more 15 to 49 st 50 st or more
UL 10 st or more 15to0 59 st 60 st or more 10 st or more 15to0 59 st 60 st or more
D-H7NF
D-C73C/C80C/H7C 10 st or more 15to 64 st 65 st or more 10 st or more 15 to 64 st 65 st or more
D-B5/B6/G5/K5
D-G5]W/K59W 10 st or more 15t0 74 st 75 st or more 10 st or more 15t0 74 st 75 st or more
D-G59F/G5NT
D-B59W 15 st or more 20to 74 st 75 st or more 15 st or more 20to 74 st 75 st or more

# Trunnion type is not available for 80 and 100.

R e e e e e e e e e T R

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 1341 to 1435 for the detailed specifications.

* With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1410 and 1411.
* Normally closed (NC = b contact) solid state auto switches (D-M9LJE(V)) are also available. For details, refer to page 1360.

1 1
1 1
1 - - - 1
1 Type Model Electrical entry Features Applicable bore size (mm) 1
I D-H7A1/H7A2/H7B — I
1 Solid state D-H7NW/H7PW/H7BW Diagnostic indication (2-color indicator) 220 to 063 1
] D-H7BA Water resistant (2-color indicator) 1
1 D-G5NT Grommet (In-line) With timer 220 to 6100 1
! D-C73/C76 — 1
! T ——— - 920 to 063 1
1 Reed D-C80 Without indicator light 1
1 D-B53 — 220 to 6100 1
1 1
1 1
=

195



Smooth Cylinder

MBY Series

232, 340, 950, 63,

How to Order

BN wvBY([BJ40)
[ MDBY [B]40]

With auto switch
(Built-in magnet)

-[1501Z-
-[1501z-

Mounting
B Basic ;
L Axial foot Bore size
F Rod flange 32 | 32mm
G Head flange 40 | 40mm
C Single clevis 50 | 50 mm
D Double clevis 63 | 63mm
T Center trunnion 80 | 80mm
100 | 100 mm
Port thread type
Built-in Magnet Cylinder Model Nil Re
If a built-in magnet cylinder without an TN | NPT
auto switch is required, there is no need TF G

to enter the symbol for the auto switch.
(Example) MDBYB40-100Z

280, 100

lAccessories 1

%%—IMQBWI |
MadetoI(El

TNL ] tore ] Ffer o page 197
. for details.
“ Pivot bracket
« Only for D and T mounting types Number of auto switches
= Pivot bracket is shipped together Nil
with the product, but not assembled. L 2pcs.
S 1 pc.
Accessories 2 3 3 pcs.
Nil None n “n” pes.
\' Single knuckle joint
w Double knuckle joint L e Auto switch

Cylinder stroke (mm)
Refer to “Standard Strokes” on page 197.

= A knuckle joint pin is not provided
with the single knuckle joint.
= Rod end bracket is shipped together
with the product, but not assembled.

.m. Without auto switch

# For applicable auto switches,
refer to the table below.

+ Refer to “Ordering Example of Cylinder Assembly” on page 198.

Applicable Auto Switches/Refer to pages 1341 to 1435 for further information on auto switches.

! ! Electrical fi, Wiring Load voltage Auto switch model | Lead wire length (m) Pre-vited Applicable
LEe Seecalilpcey entry g (Output) DC AC nEi-r:g:g m‘oajnn!(ijng (?“‘50 (’\14) (E) é) connector load
3-wire (NPN) 5V.12V] M9N = [ ] ® @ O o ‘IC ’
Grommet 3-wire (PNP) | 24V ! — M9P — o | ®|O O circuit
—_— 2-wire 12V M9B = ® & e O o
§ Terminal 3-wire (NPN) 5V,12V = G39 — | === — —
E conduit 2-wire 12V = K39 — === =
€ | Diagnostic indication Eal ) 5V,12V MONWE S e @006 0O | C
3 (2-color indicator) yesl 2 Wire (PNP) M9PW — ® (@@ [O| O | circuit | Relay,
% 2-wire 12V M9BW — ® ¢/ O| O — PLC
% X 3-wire (NPN) | 24V — MONA*! = O |©0|®|O| O IC
2 (;I.vca;g,riizlisc‘;?,) Grommet | | 3-wire (PNP) svizv MOPA*T | — O [ofe]o] O | direuit
3 2-wire 12V M9BA*! — O |©0|®|O] O —
With diagnostic output (2-color indicator) 4-wire (NPN) 5V,12V F59F = [ J — @O O IC circuit
Magnetic field resistant 2-wire _ P3DWA = e — o0 @] _
(2-color indicator) (Non-polar) P4DW — — |—e|e® O
3-wire (NPN equivalent)|  — 5V — A96 — [ J [ 2K 2K ] O IC circuit| —
I L 100V | A93 — e |ejef[o] O | —
.‘;’ Grommet |No| 100Vorlesss A90 = [ ] ® | @ | ® | O* |ICcircuit| Relay,
g o |Yes| 100V,200V| A54 = o |—|o0 — PLC
2 No X 12V |200Vorless] A64 = e —|e|—| —
E Torminal 2-wire 24V — = 233 — — B G
@ conduit — A34 — |—=|=]— —
< DIN terminal | 100Y, 200V — A44 — === = RPeII_ag,
Diagnostic indication (2-color indicator) | Grommet — — A59W — ® |—|eo | —| —

#1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

A water resistant type cylinder is recommended for use in an environment which requires water resistance.
#2 The load voltage used is 24 VDC.

* Lead wire length symbols: 0.5 m..

Tm.

-Nil (Example) MONW
M (Example) MONWM

+ Auto switches marked with “O” are produced upon receipt of order.
+ Since there are other applicable auto switches then listed above, refer to page 210 for details.
+ The D-A9L)/MOL/P3DWAL] auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled for the D-A9LY/M9L]

before shipment.)

® 196

3m.
5m.

L (Example) MONWL
Z (Example) MONWZ



Smooth Cylinder MBY Series

Specifications
————
Bore size (mm) 32 | 40 | 50 | 63 | 80 100
Action Double acting
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and fluid

Without auto switch: —10°C to 70°C

(No freezing)

Center trunnion

temperature With auto switch: —10°C to 60°C

Cushion None

Lubrication Not required (Non-lube)

M . Basic, Axial foot, Rod flange, Head flange, Single clevis, Double clevis,
ounting

Allowable leakage rate

0.5 L/min (ANR)

Standard Strokes

Minimum Operatlng Pressure Bi:ﬁms')ze Standard stroke (mm) Max. m:;g;aleclurab\e
- Unit: MPa 32 | 25,50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 1000
Bore size (mm) | 32 [ 40 [ 50 [ 63 | 80 [100 40| 25,50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 1000
Min. operating pressure| ~ 0.02 0.01 50 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 1000
63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 1000
80 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800 1000
: 100 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800 1000
Made 10 Note 1) Intermediate strokes not listed above are also available.
r | Made to Order :
orde Click here for details Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
- Cylinders Model Selection” in the Web Catalog. In addition, the products that exceed the
Symbol Specifications standard stroke might not be able to fulfill the specifications due to the deflection etc.
-XALO | Change of rod end shape
-xcy | lie-rod; Cushion valve, Tie-rod nut, ete. Accessories/ror details, refer to page 204.
made of stainless steel ——
-XC14 | Change of trunnion bracket mounting position — " ia Fod Hoad | Single | Double | Center
_-XC27/| Double clevis and double knuckle joint R 3SIC | foot | flange | flange | clevis | clevis |trunnion
pins made of stainless steel Rod end nut ® ° ° ° ° ° °
-XC29 | Double knuckle joint with spring pin SEnEER Clevis pin — — — — — ® —
-XC30/| Rod trunnion Single knuckle joint o [] ] [) ) [ ] [ ]
: . Double knuckle joint
I Made of stainless steel Option o [ [ Y [ [ Y [
XCB5| | Combination of XC7 and XC68) (with pin)
. Rod boot [ ] [ ] [ ] ] [ ] [ ] [ ]
-XC68 Made of stainless steel
(with hard chrome plated piston rod) Mounting Brackets/Part No
Bore size
H 2 4 1
Replacement Parts/Seal Kit (mm) g Y < & <) W)
Axial foot Note1) MB-L03 MB-L04 MB-L05 MB-L06 MB-L08 MB-L10
B y Flange MB-F03 MB-F04 MB-F05 MB-F06 MB-F08 MB-F10
"(::r:')ze Kit no. Contents Single clevis | MB-C03 | MB-CO4 | MB-CO5 | MB-C06 | MB-C08 | MB-C10
Double clevis MB-D03 MB-D04 MB-D05 MB-D06 MB-D08 MB-D10
32 MBY32Z-PS n
Note 1) Order two foots per cylinder.
40 GCA2Y40Z-PS |Rod seal 1pe. Note 2) Accessories for each mounting bracket are as follows: Axial foot, Flange, Single clevis: Body mounting bolt,
50 CA2Y50Z-PS |Piston seal 1pc. Double clevis: Body mounting bolt, Clevis pin, Flat washers and Split pins. — Refer to page 204 for details.
63 CA2Y63Z-PS | Cylinder tube gasket 2 pcs.
80 CA2YB0Z-PS |Grease pack (10 g) 1 pc.
100 CA2Y100Z-PS

When maintenance requires only grease, use the
following part numbers to order.
Grease pack part number: GR-L-005 (5 g)

GR-L-010 (10 g)
GR-L-150 (150 g)

197 ®


https://www.smcworld.com/content/en-jp/products/custom/index.html

MBY Series

Ordering Example of Cylinder Assembly

Cylinder model: MDBYDA40-150Z-NW-M9BW

Double clevis

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

# Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,
but not assembled.

Weights
——
(kg)

Bore size (mm) 32 40 50 63 80 100

Basic 044 | 059 | 1.04 | 1.29 | 241 | 3.36

Axial foot 0.56 | 0.73 | 1.26 | 1.57 | 2.91 | 4.02

Basic weight Flange 0.73 | 0.96 | 1.49 | 2.08 | 3.86 | 5.19

Single clevis 0.69 | 0.82 | 1.38 | 1.92 | 3.52 | 4.94

Double clevis 0.7 | 0.86 | 1.47 | 2.08 | 3.81 | 5.21

Trunnion 0.73 | 095 | 1.52 | 2.09 | 3.96 | 5.05

Additional weight per 50 mm of stroke | All mounting brackets | 0.11 | 0.16 | 0.26 | 0.27 | 0.42 | 0.56

Accessorie: Single knuckle joint 0.15 | 0.23 | 0.26 | 0.26 | 0.60 | 0.83

Double knuckle joint (with pin) | 0.22 | 0.37 | 0.43 | 0.43 | 0.87 | 1.27

Calculation Example) MBYB32-100Z (Basic, 832, 100 st)
® Basic weight:«eeeeeeee 0.44 (Basic, 932)
* Additional weight:--------0.11/50 stroke
® Cylinder stroke- 00 stroke
0.44 + 0.11 x 100/50 = 0.66 kg

198



Smooth Cylinder MBY Series

Standard
—
Basic: MBYB
2xRcP Y Port
G 0?’
Width across flats KA
L T, Y
s e
_ < S oRR
wla [T olm
a| & [L]
V 4
/| = =
M |H1| = ==
Width across AL MB N
flats B1 MA 2x4xd
A K||_F N
H S + Stroke
ZZ + Stroke
Dimensions (mm)
B‘iﬁﬁrﬁ'fe A|AL| B |Bi|C |D|E|F|G|H|H J K | KA [MA|MB MM N|P|s |V |z
32 22 [195]| 46] 17 [325[ 1230 13]13 [47] 6 | Mex1 6[10]16] 4 | Miox1.25 [27 [1/8] 84| 4 [135
40 |30 |27 52| 2238 |16 35| 13[14 |51 8 | Mex1 6[14]16] 4 | M1ax15 |27 |14 | 84| 4 | 139
50 |35 |32 65| 27 |46.5| 20 | 40 | 14 |[155| 58 | 11 | M8x1.25 | 7|18 | 16| 5 | M18x15 [315) 174 | 94| 5 | 156
63 |35|32 75] 27 [56.5] 20 | 45 | 14 [16.5| 58 [ 11 [ M8x1.25 | 7|18 [ 16| 5 | M18x15 [315] 358 | 94| 9 [ 156
80 | 40|37 95/ 32|72 |25] 452019 |72 13| M1ox15 [10]22]16]| 5 | M22x15 [38 | 358 | 114 | 11.5] 190
100 |40 (37 | 114|41[89 |30|55|20[19 [72] 16| M10x1.5 [10]26|16]| 5 | M26x15 |38 | 1/2 ] 114]17 | 190

199



MBY Series

Standard/With Mounting Bracket + Refer to Basic (B) for other dimensions.
Axial foot: MBYL

it
4x0oLD
i
X
LS + Stroke Y
ZZ + Stroke
Axial Foot (mm)
Boresize |\ bl y| s | LT (x| Ly |z | x| v |2z
(mm)
32 7|30 |128[3.2|32] 53 | 50[22[ 9162
40 9|33|132]3.238] 59 | 55[24[11]170
50 9]40|148]3.2[46] 725] 70][27[11]190
63 12]45[148| 3.6 56| 825[ 80|27 14 [193
80 12|55[174| 45|72 1025100 | 30 | 14 | 230
100 [14]65[178]4.5[89] 122 [120]32]16]234
Rod flange: MBYF
FE FT Port 4 xoFD

el f
£ I
=== :
L1 [ 1
Rod Flange (mm)
Boresize | e | pp |FE|FT | FX |FY | FZ | Fd
(mm)
32 50| 7|3 |10] 64|32| 79| 245
40 55| 9|3 |10| 72|36 90| 295
50 70| 9] 2 |12] 90|45 110|355
63 80| 9|2 |12[100]50 120|385
80 |100|12| 4 |16 |126|63 | 153 41
100 |120| 14| 4 |16 150 75 |178 | 46

200



Smooth Cylinder MBY Series

Standard/With Mounting Bracket + Refer to Basic (B) for other dimensions.
Head flange: MBYG

Port 4xoFD

e
2 e

FY
FB

FT Ex
ZZ + Stroke FZ
Head Flange (mm)
Boresize | pp | pp| FT| FX |FY| FZ | 22
(mm)
32 50 10| 64|32] 79141

7
40 55| 9]10| 72|36| 90|145
50 70| 9]12] 90|45|110|164
9
2

63 80 12100 | 50 | 120 | 164
80 100] 12| 16 | 126| 63 | 153 | 202
100 120| 14| 16 | 150| 75 | 178 | 202

Single clevis: MBYC

Port
CDH10

T H
i
[

Z + Stroke RR

ZZ + Stroke

Single Clevis (mm)
Bore size
(mm) CDH10 CX L|RR|U| Z zz

32 109%° | 1473 | 23] 10.5 | 13 | 154 | 164.5
40 109%° | 1433 | 23| 11 |13 ]158] 169
50 14*997° 1 20733 | 30| 15 |17 |182| 197
63 14997 | 2033 | 30| 15 |17 |182] 197
80 22°0% | 3007 | 42| 23 |26 | 228 | 251
100 22'9% | 3093 | 42|23 |26|228| 251

2282|182

201



MBY Series

Standard/With Mounting Bracket + Refer to Basic (B) for other dimensions.
Double clevis: MBYD
Port

Hole dia.: CDH10

iaiat ‘Shatt dia.: CDd9 i
AT
% il %
v, 24
L. cz
Z + Stroke RR
ZZ + Stroke
Double Clevis (mm)
B"(::ms')ze CDHio | CDas | CX |CZ|L|RR|U| Z | 2z
32 10998 | 102083 | 14353 | 28 |23 | 10.5 | 13 | 154 | 164.5
40 109%8 | 1099 | 1433 |28 |23 | 11 |13 |158 | 169
50 1429970 | 1420950 | 20:33 | 40| 30|15 |17 |182| 197
63 1479970 | 1423853 | 20333 |40 (30|15 |17|182| 197
80 2299 | 22709% | 30103 | 60 | 42 | 23 |26 | 228 | 251
100 221008 | 22008 | 30103 | 60 | 42 | 23 | 26 | 228 | 251

Center trunnion: MBYT

Z + 1/2 Stroke

Ry
/J
N
B — ﬁ
T X a
TZ s
Center Trunnion (mm)
Boresize | rpy |vr|TX |TY|TZ| Z
(mm)

32 12230% | 17| 50| 49| 74| 89
40 16992 | 22| 63| 58| 95| 93
50 162052 | 22| 75| 71[107|105
63 202353 | 28| 90| 87130105
80 202004 | 34 110|110 | 150| 129
100 2500949 | 40 |132[136 | 182 129

202



Smooth Cylinder MBY Series

Pivot Bracket/Trunnion and Double Clevis Pivot Bracket

Part No.

—_Boresize| yp3s | MBO40 | MBS0 | MBO63 | MBS0 | MBLI100
Description
Trunnion pivot bracket Nte) | MB-S03 MB-S04 MB-S06 MB-S10
Double clevis pivot bracket MB-B03 I MB-B05 I MB-B08

Note) Order 2 trunnion pivot brackets per cylinder.

Trunnion pivot bracket Tz
Z + 1/2 Stroke TO X TO

TF
TH
oTD

[

(mm)

Part no. B"g;i)ze B |TA|TL|TU|TC|TX |TE|TO |TR|TT | TS | TH | TF | Z** | TDH1o
MB-S03 32 46| 62| 45 | 85| 62| 50| 74| 12 [ 7 | 13 [ 10 | 35 | 47| 89| 129"
MB-S04 40 52| 80| 60 [10 | 80| 63| 97| 17 | 9 | 17 | 12 | 45 | 60| 93| 16%°°
50 65| 80| 60 [10 | 92| 75[109| 17 | 9 | 17 | 12 | 45 | 60 |105| 16%°°

MB-S06 62 75]100 | 70 [15 | 110 90130 | 20 |11 | 22 | 14 | 60 | 80 | 105 | 20°9%*
80 95100 | 70 |15 | 130|110 | 150 | 20 |11 | 22 | 14 | 60 | 80 | 129 | 20°9%*

MB-S10 | 100 | 114|120 90 |15 | 158 | 132 | 184 | 26 |13.5] 24 | 17 | 75 | 100 | 129 | 2573%%

Double clevis pivot bracket B
Z + Stroke DX
4 x oDT
Iv
oo
4xoDR po| | bc | |po
pu| | oL | |pu DE
DA
(mm)
Part no. B‘i:ﬁms')ze B |DA|DB|DL|DU|DC|DX|DE|DO|DR|DT|DS|DH|Z* | DDHw0
MB-B03 32 46| 42 [ 32 [ 22 [10 | 44 | 14| 62| 9 | 66| 15 | 7 | 33 [154| 103%®
40 52| 42 [ 32 | 22 [10 | 44 [ 14 | 62| 9 | 66] 15| 7 | 33 [158 ] 109%°
o | 65| 53 | 43 [ 30 [11.5] 60 | 20 | 81[105] 9 |18 | 8 | 45 [182] 149"
63 75| 53 | 43 | 30 |11.5] 60 | 20 | 81105 9 | 18 8 | 45 [ 182 14%9%°
MB-B08 80 95| 73 | 64 | 45 [14 | 86 | 30 [111[125[11 | 22 | 10 | 65 | 228 | 22'3%*
100 | 114] 73 [ 64 | 45 [14 | 86 | 30 [ 111[125[11 | 22 | 10 | 65 | 228 | 22'3%

Rotating Angle

Bore size A | B | Ac+ B+ 00°
(mm)
32, 40 25° | 45° 160°
50, 63 40° | 60° 190°

80, 100 30° | 55° 175°

203



MBY Series

Dimensions of Accessories

Rod end nut 30 q Knuckle joint pin -
(Standard) Clevis pin 2xod 3
Y o
o  —
mll ¢ ]
L
Bore size Bore size (mm) d Applicable
Part no. (mm) d i 3 © w PR Clevis[Knuckle BB L] ¢ m 0l hrough) split pin
NT-03 32 M10x1.25 6 17 19.6 | 16.5 CD-Mo03 32,40 103567 | 44 | 36 | 4 3 23x18¢
NT-04 40 M14x 1.5 8 22 | 254 | 21 CD-M05 50,63 | 14383 | 60 | 51 |4.5| 4 04x25¢
NT-05 50, 63 M18x 1.5 1 27 31.2 26 CD-Mo08 80, 100 22393 (82|72 | 5 4 24 x35¢
NT-08 80 M22 x 1.5 13 32 37.0 31 Note) Split pins and flat washers are included.
NT-10 100 M26 x 1.5 16 4 47.3 39
Y type
It Double knuckle joint
ype MM NDH1o =~ o
Single knuckle joint NNy %
'{Q‘I i SN
A1 U1 - 1z
L U1
L1
Partno. | B9 S8 A | a1 [Li| MM |Ri|Ut|NDuio| NX Partno. |BO®SZ8 gyl 14| MM [Ri|Ui|NDHo| NX | NZ
(mm) (mm)
1-03M 32 40[14]20|30 |M10x1.25/ 12|16 | 100%° | 14 Y-03M 32 20|30 |M10x1.25{10| 16| 100°* | 14133 | 28
1-04M 40 50 /19|22 |40 | M14x1.5[12.5/19 | 10%° | 14 Y-04M 40 22|40 | M14x15[11]19]10%%° | 14 28
1-05M 50,63 |64 |24 |28|50| M18x1.5[165]24 | 1457 | 20 Y-05M 50,63 |28 |50 | M18x1.5 | 14 |24 | 140°° | 20 402
1-08M 80 80|26 |40 |60 | M22x 1.5 |23.5| 34 | 2270%* | 30 Y-08M 80 40| 65| M22x1.5 | 20| 34| 22'3°* | 30: 60
I-10M 100 802640 |60 | M26 x 1.5 [23.5) 34 | 223° | 300 Y-10M 100 40 65| M26x1.5 | 20| 34| 223°* | 30; 6025
Note) A pin, split pins and flat washers are included.
Bracket Combinations
Bracket combination available - ---PRefer to the figure below.
iacketior . . . Single Double Clevis
rkpie
,o,cyh,‘\de, Lgecel Single clevis DD @l knuckle joint knuckle joint pivot bracket
Single clevis — ® — @ —
Double clevis —_ @ — ®
Single knuckle joint — ® — ® —
Double knuckle joint @ — ® — )
No. Appearance No. Appearance
Single clevis + Double clevis — Single knuckle joint + Double knuckle joint —
® 2 > ® @
= EEE—R
Single clevis + Double knuckle joint S Double knuckle joint +
Single clevis A
—
® = ® fle== o
CIEES [© = I
Double clevis + Single clevis . Double knuckle joint + Single knuckle joint —
5 A o . E=SErdle
e s
Double clevis + Single knuckle joint — Double clevis + Clevis pivot bracket E—
® : €§? ® ;‘i% i
Single knuckle joint + Double clevis Double knuckle joint + Clevis pivot bracket —
© 9 © -8
— by

204




MBY Series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Tie-rod mounting> <Band mounting>
D-M9CI/M9CIV D-Z701/Z80 D-A30/G39/K39
D-M9TIW/M9CIWV D-Y5900/Y69L/Y7P/Y7TPV

D-M9TJA/M9TIAV D-Y7OW/Y7OWV/Y7BA

D-A9CJ/A90IV
Auto switch Auto switch =Hs
L 5 F[ —%5 H[ [ A@ Eﬁ@
LA LB
D-A5C1/A60] D-A44
D-A59W
Auto switch Auto switch =Hs
- o
-—&] ST o
= el e
A H.

D-F501/J59
D-F50W/J59W/F5BA
D-F59F/F5NT

Auto switch =Hs

D-P3DWA

Auto switch =Hs

D-P4DW

Auto switch =Hs

205



MBY Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto D-Z70]
switch D-z8[]
D-M9C]
model | p_porv D-A30 |D-Ys9O
D-MOOW | D-AS | D-ASO | pacow | pgs | persnt | DAY |DYER | paowa| ppaow
D-M9CIWV | D-A9LIV D-A6[] D-G39
D-F59F D-Y7PV
D-M9IA D-K39 | py7H
D-M9CIAV D-Y7OIW
D-Y7OWV
Boresize \| A B A B | A B A B | A B A B | A B A B | A B A B
32 10 8 6 | 4 0 0 4 2 65| 45 |115] 95| 0 0 35 | 15| 55|35 | 3 1
40 9 9 5 |5 0 0 3 3 55| 55 | 105|105 0 0 25 |25 | 45| 45 | 2 2
50 10 9 6 |5 0 0 4 3 65|55 |11.5|105| 0 0 35 | 25 | 55| 45 | 3 2
63 10 9 6 |5 0 0 4 3 65| 55 | 115|105 | 0 0 35 | 25 | 55|45 | 3 2
80 145 | 115|105 | 75 | 45 | 1.5 | 85 | 55 | 11 8 |16 |13 |45 |15 |8 5 |10 |7 75 | 45
100 14 |12 |10 |8 4 2 8 6 |105| 85 155|135 4 2 75 | 55| 95|75 |7 5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Proper Mounting Height (mm)
Auto D-F5[] v
switch D-MoC] D-J59 g-go‘]
model D-MOCIW D-MoIV D-A50] D-F59F D-A30] D-Y597] D-Y69]
D-MOCIA D-M9CJWV| D-A9CIV | D-A6C] D-F5C0W | D-G39 D-A44 D-Y7P D-Y7PV | D-P3DWA| D-P4DW
D-M9JAV D-A59W | D-J59W D-K39 D-Y7COWV
D-A9] D-F5BA D-Y7OOW
D-F5NT DAL
Boresize\| Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht
32 |245|23 [305|23 |275|23 [35 [245(325|25 |67 |275| 77 |275|255|23 |265(23 [38 [31 |38 |31
40 | 285|255|34 |255|31.5|255)|38.5|27.5|36.5|27.5| 71.5/27.5| 81.5/27.5/29.5/26 |30 |26 |39 |[255|42 |33
50 |335|31 |385|31 |36 |31 |435|345|41 |34 |77 | — |87 | — |335|31 |345|31 |43 |31 |465|39
63 |385(36 |43 |36 |405(36 |485)|395|46 |39 | 835 — | 935 — |39 |36 (40 |36 |48 |36 |51.5|44
80 |465|45 |52 |45 |49 |45 |55 |46.5|525|465| 925 — [103 | — |47.5|45 |485|45 |565|45 |58 |51.5
100 |54 |535|595|535|57 |535|62 |55 |59.5|55 |103 | — [113.5) — |55.5|53.5|56.5|53.5 | 64.5| 53.5| 65.5| 60.5
Operating Range
————————
(mm)
A itch del Bore size
uto switch mode 32 | 40 | 50 | 63 | 80 | 100
D-M9L/M9IV
D-M9IW/MOIWV 4 4.5 5 6 6 6
D-M9CJA/MOLIAV
D-A9LV/A9LIV 7 75| 85| 95| 95| 105
D-Z7(1/Z80 75| 85| 75| 95| 95| 105
D-A5C1/A6C] 9 9 10 11 11 11
D-A59W 13 13 13 14 14 15
D-A3[/A44 9 9 10 11 11 11
D-Y59C1/Y69[]
D-Y7P/Y7CIV
D-YZLW/Y7OWY 55| 55| 7 75| 65| 55
D-Y7BA
D-F5(/J59
D-F5C]W/J59W
D-F5BA/F5NT 35| 4 4 45| 45| 45
D-F59F
D-G39/K39 9 9 9 10 10 11
D-P3DWA 3 45| 45| 5 5 5.5
D-P4DW 4 4 4 45 | 4 45

* Values which include hysteresis are for guideline purposes only, they are
not a guarantee (assuming approximately +30% dispersion) and may
change substantially depending on the ambient environment.

206



Minimum Stroke for Auto Switch Mounting/Mounting Brackets other than Center Trunnion

Auto Switch Mounting MBY Series

n: Number of auto switches (mm)

Auto switch Number of lounting brackets other than center trunnion
M ing brack her th i
model auto switches mounted 232, 040, 050, 063 \ 280, 2100
2 (Different surfaces, same surface) 15
D-M90) !
D-MOW N 15+ 40052
(n = 2Y 4’ 6Y 8) Note 1)
2 (Different surfaces, same surface) 10
D-M9CIV !
D-M9CIWV N 10+30¥
(n=2,4,6,8...) Note 1)
2 (Different surfaces, same surface) 1
1 5
D-M9JA _
n 15+ 40052
(n=2,4,6,8...)Note )
2 (Different surfaces, same surface)
] 15
D-MSCJAV —
N 15430052
(n=2,4,6,8...)Note 1)
2 (Different surfaces, same surface) 15
1
D-A90] N
N 15+ 4002
(n=2,4,86,8.)Note1)
2 (Different surfaces, same surface)
1 10
D-A9CIV —
N 10+30 052
(n=2,4,6,8...) Note 1)
2 (Different surfaces) 35
2 (Same surface) 100
D-A30 . 35+30 (n-2)
D-G39 n (Different surfaces) (=23 4.
D-K39 100 + 100 (n - 2)
n (Same surface) (=23, 4
1 10
2 (Different surfaces) 35
2 (Same surface) 55
. 35+30(n-2)
D-Ad44 n (Different surfaces) (=23, 4.
55 + 50 (n — 2)
n (Same surface) (=23, 4
1 10
2 (Different suriac195, same surface) 15 20
D-A50 "2 w2
D-A60] n-2) -2
n (Different surfaces) 15+5575 20+55 =
(n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note )
2 (Different surfaces, same surface) 20 25
(n-2) n-2
D-A59W n (Same surface) 20+55 7 25+557
(n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note 1)
1 15 25
D-F50J 2 (Different surfaces, same surface) 15 25
D-J50 2 2
D-F50W 15+ 5502 25455052
D-J59W n (Same surface) 2 2
D-FSBA (nN=2,4,6,8...)Note 1) (n=2,4,6,8.)Note 1)
D-F59F 1 10 25
2 (Different surfaces, same surface) 15 25
(n-2) (n-2)
D-F5NT n (Same surface) 15+5575 25+55 5
(nN=2,4,6,8...)Note 1) (n=2,4,86,8...)Note 1)
1 10 25
D-Z700 2 (Different surfaces, same surface) 15
D-Z80 1
D-Y5901 _
D-Y7P n 15+ 4002
D-Y7OW (n=2,4,86,8..)Note 1)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

207



MBY Series

Minimum Stroke for Auto Switch Mounting/Mounting Brackets other than Center Trunnion

n: Number of auto switches (mm)

Auto switch Number of Mounting brackets other than center trunnion
model auto switches mounted 032, 040, 950, 063, 080, 100
2 (Different surfaces, same surface) 10
D-Y69C] 1
D-Y7PV (n-2)
D-Y7OWV n 10+3055=

(n=2,4,6,8.)Note1)

2 (Different surfaces, same surface)

1 20
AL n 20 + 4502
(n=2,4,6,8...)Note 1)
2 (Different surfaces, same surface) 15
D-P3DWA ,
n 15+50 022
(N=2,4,6,8...)Note 1)
2 (Different surfaces, same surface)
1 15
D-P4DW _
N 15+ 65 122

(n=2,4,6,8.)Note 1)
Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Minimum Stroke for Auto Switch Mounting/Center Trunnion

n: Number of auto switches (mm

Auto switch Number of Center trunnion
model auto switches mounted 232 040 \ 050 263 280 2100
2 (Different sunazes‘ same surface) 75 80 85 90 95
D-M9OI
D-M9CIW N 75+ 40024 80+ 40024 85+400-% | 004+400-% | 9544000°%
(n=4,8,12, 16-) Note2) (n=4,8,12,16.-.) Note 2) (n=4,8,12,16--) N2 |(n=4,8, 12, 16-) Noe2) | (n =4, 8, 12, 16---) Note2)
2 (Different suriac195, same surface) 50 55 60 65 70
D-M9CIV
D-M9CIWV n 50+30 054 55+30 5% 60+3005% | 65430059 | 70430054
(n=4,8,12,16---) Noee2l (n=4,8,12, 16...) Note 2) (n=4,8,12,16.-) e | (n=4,8, 12, 16-) Noe2)| (= 4,8, 12, 16--) Noe2)
2 (Different sunaaes, same surface) 80 85 90 95 100
D-M9JA _ _ — Z N
n 80+40 054 85+40 5% 90+40059 | 95440054 | 100+ 40052
(n=4,8,12,16--) Noe2) (n=4,8,12,16-.) Note2) (n=4,8,12,16.) N2 | (14,8, 12, 16.) N2 | (1= 4,8, 12, 16.--) Noe2)
2 (Different sunac1es, same surface) 55 60 65 70 75
D-M9JAV _ - - Z N
n 55+30 024 60 +30 024 65+300-% | 704+300°8 | 75,300°9
(n=4,8, 12,16--) Noe2) (n=4,8,12,16-.) Note2) (n=4,8,12,16.) N2 | (14,8, 12, 16.) N2 | (1= 4,8, 12, 16.--) Noe2)
2 (Different sunac1es, same surface) 70 75 80 85 95
D-A90] _ _ Z _ _
n 70 + 40054 75440024 80+400-%8 | 54 400°8 | 954400079
(n=4,8, 12,16--) Noe2) (N=4,8,12,16--) Note2) (1=4,8,12,16-) N2 | (14,8, 12, 16.) N2 | (1= 4,8, 12, 16.--) Noe2)
2 (Different suriac1es, same surface) 45 50 55 60 70
D-A9CIV _ _ Z — N
= n 45+3004 50 + 30 124 55430024 | 60430074 | 704300Y
(n=4,8, 12,16--) Noe2) (n=4,8,12,16-.) Note2) (n=4,8,12,16.)Noe2 | (124,8,12, 16.) N2 | (1= 4,8, 12, 16.--) Noe2)

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

208



Auto Switch Mounting MBY Series

Minimum Stroke for Auto Switch Mounting/Center Trunnion

n: Number of auto switches (mm)

Auto switch model

Number of

Center trunnion

auto switches mounted 032 040 I 250 263 280 2100
2 (Different surfaces) 60 65 75 80 85
2 (Same surface) 90 95 100 105 110
D-A30 ) 60 + 30 (n - 2) 65 +30 (n - 2) 75+30(N-2) | 80+30(N—2) | 85+30(n-2)
D-G39 n (Different surfaces) (n=2,4,6,8..)Noe 1) (n=2,4,6,8...)Note 1) (n=2,4,6,8-)Noet)|(n=2, 4,6, 8- )Note!)|(n=2, 4 6 8.)Note!)
D-K39 n (Same surface) | 90+ 100 (n=2) 95 +100 (n - 2) 100 + 100 (n - 2) [ 105 + 100 (n - 2) [ 110 + 100 (n - 2)
(n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note 1) (n=2,4,6,8-)Note")|(n=2, 4,6,8-)Notel)|(n=2,4,6,8...)Note )
1 60 65 75 80 85
2 (Different surfaces)
2 (Same surface) 0 I 8 8
) 70 +30 (n-2) 75+30 (n-2) 80 +30 (n-2) 85 + 30 (n - 2)
D-A44 n (Different surfaces) (n=2,4,6,8)Noe1) (n=2,4,86,8...)Note 1) (N=2,4,86,8...)Note 1) (n=2,4,6,8)Noe )
n (Same surface) | 70+50(=2) 75+50 (n - 2) 80 +50 (n - 2) 85+ 50 (n - 2)
(n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note 1) (n=2,4,6,8...)Noe1)
1 70 75 80 85
2 (Different surfaces, same surface)
60 80 105 110 115
D-A50] 1
D-A60] 60 +55 "4 80+550-% | 10545504 | 11045504 | 11545504
n (Same surface) 2 2 2 2
(n=4,8,12,16..)Note?) (n=4,8,12,16-) N2 | (n1=4,8,12, 16 )Nm52 (n=4,8,12,16-)N2) | (n=4,8, 12, 16 Note2l
2 (Different surfaces, same surface) 60 70 85 110 115 120
(n-4) (n-4) (n-4) (n-4) (n-4) (n-4)
D-A59W n (Same surface) 60 + 55 -—— 70 +55—— 85 +55-—— 110+55°—— | 115+55—— | 120 +55——
(n=4,8,12,16) M2 | (1=4,8, 12, 16-) N2 | (n=4,8,12,16--) V62 | (n=4, 8, 12, 16-)\1ed | (n=4,8,12, 16--)Noe2) | (n =4, 8, 12, 16-) Noe2)
1 60 70 85 110 115 120
D-F501/J59 2 (Different surfaces, same surface) 90 95 110 115 120
D-F500W (n-4) (n-4) (n-4) (n-4) (n-4)
D-J59W n (Same surface) 90 +55—— 95 +55—— 110 +55—— | 115+55—— | 120 +55——
D-F5BA (n=4,8,12, 16 Noe2) (n=4,8,12,16..)Note 2) (n=4,8,12,16-) N2 | (14,8, 12, 16-)N9e2)| (n= 4,8, 12, 16.--) Noe2)
D-F59F 1 90 95 110 115 120
2 (Different surfaces, same surface) 100 105 120 125 130
-4 -4 -4 -4 -4
D-F5NT n (Same surface) 100 + 55— 105 + 55 120 + 55— | 125+55-— 130 + 55—
(n=4,8,12, 16--) Note2) (n=4,8,12,16..-)Note2) (n=4,8,12,16-) N2 | (1=4, 8,12, 16--)Nte2) | (n=4, 8,12, 16 ote2)
1 100 105 120 125 130
D-Z701 2 (Different surfaces, same surface)
D-Z80 80 85 90 95 100
BZ¥§3‘] N 80+400-% | 8544007 % 90 + 40024 95+40 0% | 100 4409
D-Y7OW (n=4,8,12,16-)Ne2) | (n=4, 8, 12, 16 Vote?) (n=4,8,12,16---) Note 2) (n=4,8,12,16--) N2 | (n=4, 8, 12, 16--) Note2)
2 (Different surfaces, same surface)
D-Y69C1 60 65 70 75 85
D-Y7PV - _ _ Z —
D-Y7OWV n 60+30 0% 65+30 0% 704300548 | 75,3004 | 8543004
(n=4,8, 12, 16...) Note2) (n=4,8,12, 16...) Note 2) (n=4,8,12,16.--)Ne2) [ (n=4, 8, 12, 16--) Nole2) | (n = 4,8, 12, 16...) Note2)
2 (Different surfaces, same surface) 85 % 100 105 110
AR n 85+ 4504 90 + 45024 100+ 45059 | 105+ 4509 | 11044509
(n=4,8,12, 16--) Note2) (n=4,8,12, 16:+-) Note 2) (n=4,8,12,16-)Ned) [ (n=4,8, 12, 16--) Nole2) | (n = 4,8, 12, 16---) Note2)
2 Different sunaies, same surface) 80 85 2 95
D-P3DWA n 80+ 50024 85+ 4504 90 + 45024 95+50 124
(n=4,8, 12, 16--) Note2) (n=4,8,12,16+)Note2) (n=4,8,12,16:+-) Note 2) (n=4,8,12, 16-)Nete2)
2 (Different suﬁaies, same surface) 120 130 140
D-P4DW N , N
N 120 + 65054 130 + 65 024 140 + 65024
(n=4,8,12, 16:--)Note 2) (n=4,8,12,16:-+) Note 2) (n=4,8,12, 16:--)Note 2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

209



MBY Series

Auto Switch Mounting Brackets/Part No.

Bore size (mm)

Auto switch model

832

240 250

263 280

2100

D-MOCIW/MOCIWV
D-M9CIA/M9LIAV
D-M9LC/MOLIV
D-A9CVA9LCIV

BMB5-032

BMB5-032 BA7-040

BA7-040 BA7-063

BA7-063

D-A3LV/A44
D-G39/K39

BMB2-032

BMB2-040

BMB1-050

BMB1-063 | BMB1-080

BMB1-100

D-A5C1/A6L/A59W
D-F5(1/J59
D-F5CIW/J59W
D-F59F/F5BA
D-FSNT

BT-03

BT-03 BT-05

BT-05 BT-06

BT-06

D-P3DWA

BA10-032S

BA10-040S

BA10-050S

BA10-050S | BA10-063S

BA10-063S

D-P4DW

BMB3T-040

BMB3T-040

BMB3T-050

BMB3T-050 | BMB3T-080

BMB3T-080

D-Z7(1/Z80
D-Y59L1/Y69[]
D-Y7P/Y7PV
D-Y7OOW/Y700WV
D-Y7BA

BMB4-032

BMB4-032

BMB4-050

BMB4-050 BA4-063

BA4-063

[Stainless Steel Mounting Screw]

The following stainless steel mounting screw kit (including set screws) is available. Use it in
accordance with the operating environment. (Since the auto switch mounting bracket is not included,

order it separately.)

BBA1: For D-A5/A6/F5/J5 types
Note 1) Refer to page 1447 for details on the BBA1.

The above stainless steel screws are used when a cylinder is shipped with the D-F5BA auto

switch. When only the auto switch is shipped independently, the BBA1 is attached.

Note 2) When using the D-M9JA(V) or Y7BA, do not use the steel set screws which are included with
the auto switch mounting brackets above (BMB5-032, BA7-CJ0ICI, BMB4-0J00, BA4-0JO0).
Order a stainless steel screw kit (BBA1) separately, and use the M4 x 6 L stainless steel set

screws included in the BBA1.

AL
Switch mounting bolt*/&ﬁ

- The figure shows the mounting
example for the D-A9CI(V)/MOLI(V)/
MOCIW(V)/MITIA(V).

<Mounting example for 632, D-P3DWA>

=

# The switch mounting bolt is supplied with

the switch.

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 1341 to 1435 for the detailed specifications.

210

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1410 and 1411.
+ Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)/Y7G/Y7H) are also available. For details, refer to pages 1360 and 1362.

1

1

1

1 Type Model Electrical entry Features

! D-A93V/A96V Grommet (Perpendicular) - - _ -

1 D-A90V Without indicator light

1 Reed D-B35

! D-A53/A56/273/276 Grommet (In-line) -

: D-A67/Z80 Without indicator light

1 D-M9NV/MIPV/M9OBV _

1 D-Y69A/Y69B/Y7PV

1 D-MONWV/M9PWV/M9BWV G . Diagnostic indication

1 D-Y7NWV/Y7PWV/Y7BWV rommet (Perpendicular) (2-color indicator)

! D-M9NAV/M9PAV/M9BAV Water resistant (2-color indicator)

: D-P4DW Magnetic field resistant (2-color indicator)
. D-F59/F5P/J59

: Solid state D-Y59A/Y59B/Y7P —

1 D-Y7H

1 D-F59W/F5PW/J59W Grommet (In-line) Diagnostic indication

1 D-Y7ZNW/Y7PW/Y7BW (2-color indicator)

: D-F5BA/Y7BA Water resistant (2-color indicator)

1 D-FSNT With timer

1 D-P5DW Magnetic field resistant (2-color indicator)

1

1

3



Smooth Cylinder

CAZ2Y series

240, 50, 063, 280, 3100

!

How to Order

BN cA2v[B
[ cDA2Y(B]

40
40

é
©
ve)
=
i

With auto switchT
(Built-in magnet) Made to Order
) .m. Refer to page 212 for details.
Mounting . [N | oot bracket |
B Basic Bore size # Only for D and T mounting types Number of auto switch
L Axial foot # Pivot bracket is shipped together ~
F Rod flange %% with the product, but not Nil | 2pes.
mm . S 1 pc.
G H‘eaclj flialngé 63 [ 63mm _ Accessories 2 3 [ 3pos.
C Single cf ovis 80 | 80 mm Nil i No bracket‘ i n_ |'m pos.
D Double clevis 100 | 100 mm Vv Single knuckle joint
T Center trunnion w Double knuckle joint L—e Auto switch
# A knuckle joint pin is not provided
Built-in M t Cvlinder Model Port thl’f!ad type e B e ot [ Nil_[ Without auto switch
uilt-in Magnet Cylinaer Node Nil Rc * Rod end bracket is shipped together « For applicable auto switches,
If a built-in magnet cylinder without an TN | NPT ~ with the product, but not assembled. refer to the table below.
auto switch is required, there is no need TF G Cylinder stroke (mm)
to enter the symbol for the auto switch. Refer to *Standard Strokes” on page 212.
(Example) CDA2YB40-100Z + Refer to “Ordering of Cylinder A y” on page 213.
Applicable Auto Switches/Refer to pages 1341 to 1435 for further information on auto switches.
. - Load voltage Auto switch model |Lead wire length (m)|, . .
Type|  Special function E'ef]:”ca' g";‘”gt oG ac | Terod | Band | 05 [1]3[5 Pre-wired) - licable load
entry (Output) mounting | mounting | (Nil) (M) (L) | z) |conmecter
3-wire (NPN) MON = e _e/00| O
= G59 ® —| e 0 o 1 i
5V,12V MoP — ° ol e O 6} IC circuit
Grommet 3-wire (PNP) | 24V — — G5P e —el0O o
. M9B = ® o e O o
£ 2-wire 12V — K59 e — e O o _
-‘é Terminal 3-wire (NPN) 12V G39C G39 — |=|l—=1= —
H conduit 2-wire K39C K39 = |—=|l=]=] =
[] . MONW = ® o e O o
3 Lo e (NPR) SV 12V — 1 G59W | @ |- (@[O0 © iCcircut| Relay,
2 Diagnostic indication e 3-wire (PNP) ’ MOPW — e (@@ O [¢) PLC
% (2-color indicator) — G5PW ® [—|®|O [¢)
z owire | 24v | 12v | — [MOBW L —— e _0/00| O -
3 Grommet | I3 ire (NPN) weNAT o o [oTetol o
(] N -wire = -
Wate tant |
e S-vire (PNP) 5V 12v MOPA* | — | O [o|elo| o |Ccru
(2-color indicator) 2-wire 12V M9PA™ | — o [olefo] © —
With diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V F59F G59F o |— o O [IC circuit
Magnetic field resistant 2-wire _ P3DWA — e —e|e o _
(2-color indicator) (Non-polar) P4DW = — | —e]e@® O
3-wire -
< Yes| (NPN equivalent) | 5V — A96 [ BN AN AN ] O  |ICcircuit| —
£ 100V | A93 — o e[efe]| O° —
H Grommet 5] 100V orless] A — ® (@ ®|®| O |Cacircui| Relay,
] —_— [Yes| 100V,200V| A54 B54 e — 0|0 — PLC
3 No 12V [200Vorless| A64 B64 e — 0| — —
T g
g Torminal 2-wire 24V — A33C A33 T B 5IC
O conduit A34C A34 — [ —==1= —
« DIN terminal ' 1000, 200V g A& A4 B R:|Lacy,
Diagnostic indication (2-color indicator) | Grommet — — A59W B59W o |—o | — —
=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
«2 The load voltage used is 24 VDC.
il (Example) MONW = Auto switches marked with “O” are produced upon receipt of order.

= Lead wire length symbols: 0.5 m
1m: M (Example) MONWM

L (Example) MONWL

Z (Example) MONWZ

= Since there are other applicable auto switches then listed above, refer to page 224 for details.

= For details about auto switches with pre-wired connector, refer to pages 1410 and 1411.

* The D-A90/M9TIOICI/P3DWAD auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled for the D-A9C/M9CIOO before shipment.)

211




CA2Y series

Specifications

Bore size (mm)

40 50 63 80

100

Action

Double acting

Piston speed

5 to 500 mm/s

Fluid Air
Proof pressure 1.05 MPa
i perating pi 0.7 MPa

Without auto switch: —10°C to 70°C

Ambient and fluid temperature With auto switch: —10°C to 60°C

(No freezing)

Cushion None
Lubrication Not required (Non-lube)
Mounting Basic, Axial foot, Rod flange, Head flange

Single clevis, Double clevis, Center trunnion
0.5 L/min (ANR)

A leal rate

Symbol
Without cushion

Minimum Operating Pressure

Unit: MPa

\ Bore size (mm) [ a0 | 50 | 3 80 100 |
:SI ‘Minimumoperating pressure ‘ 0.02 ‘ 0.01 ‘

Standard Strokes

Made to Bore size (mm) Standard stroke (mm) Max. stroke (mm)
order | Made to Order - 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 1000
Click here for details 350, 400, 450, 500
Symbol Specifications 50,63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 1000
-XAO | Change of rod end shape ’ 350, 400, 450, 500, 600
R Tie-rod, Cushion valve, Tie-rod nut, etc. 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
XC7 made of stainless steel 80,100 350, 400, 450, 500, 600, 700 1000

-XC14 | Change of trunnion bracket mounting position
-XC15 | Change of tie-rod length

Double clevis and double knuckle joint pins
-XC27| 1 2de of stainless steel ome
-XC28 | Compact flange made of SS400
-XC29 | Double knuckle joint with spring pin
-XC30 | Rod trunnion

Note 1) Intermediate strokes not listed above are also available.

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” in the Web Catalog. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.

Accessories/ror details, refer to page 219.
—

Made of stainless steel .
-XC65 - : 0 Rod Head | Single | Double | Center
(Combination of XC7 and XC68) MG Basic | Foot | fiange | flange | clevis | clevis |trunnion
R Made of stainless steel Rod end nut [ ] [J [ ] [ ] [ J [ (]
XC88| ,ith hard chrome plated piston rod) Standard > = pin — — — — — ° —
Single knuckle joint| @ [ [ [ ] [ ] [ J [ J
Replacement Parts/Seal Kit Option | Double knuckle joint
(with pin) i hd hd hd
SR Kit no. Contents
(mm)
40 CA2Y40Z-PS
Rod seal 1pc.
50 CA2Y50Z-PS |
Piston seal 1pe.

63 CA2Y63Z-PS
80 CA2Y80Z-PS
100 CA2Y100Z-PS

Cylinder tube gasket 2 pcs.
Grease pack (10 g) 1pc.

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

® 212



https://www.smcworld.com/content/en-jp/products/custom/index.html

Smooth Cylinder CA2Y Series

Ordering Example of Cylinder Assembly

Cylinder model:
CDA2YD40-150Z-NW-M9BW

Double clevis

Mounting D: Double clevis

Pivot bracket  N:Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

# Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

Weights/Aluminum Tube

(kg)
Bore size (mm) 40 50 63 80 100
Basic 0.73 1.06 1.53 2.73 3.71
Axial foot 0.91 1.25 1.83 3.40 4.64
. . Flange 1.09 1.48 2.28 418 5.57
Basic weight - -
Single clevis 0.95 1.37 212 3.84 5.43
Double clevis 0.99 1.46 2.28 413 5.95
Trunnion 1.08 1.51 2.29 4.28 5.93
Additonal weight | A\ o unting brackets | 020 | 025 | 031 046 | 058
per 50 mm of stroke
. Single knuckle joint 0.23 0.26 0.26 0.60 0.83
Accessories T
Double knuckle joint (with pin) 0.37 0.43 0.43 0.87 1.27

Calculation (Example) CA2YL40-100Z (Axial foot, 240, 100 st)

® Basic weight---

® Additional weight: 0.20/50 stroke

® Cylinder stroke--- 00 stroke
0.91 + 0.20 x 100/50 = 1.31 kg

0.91kg

213



CA2Y series

Basic: CA2YB

G

2x

p

4xd Width across flats KA 2 x Cushion valve G
MM ”T[Tg%
=H- -
AN
waf ] g r
M ]
H1 = i
lAL, | WA WA
A K N
F N
H S + Stroke M
ZZ + Stroke
(mm)
Bolosiee A AL B B1 c D E F G H H1 J K KA
(mm)
40 30 27 60 22 44 16 32 10 15 51 8 M8 x 1.25 6 14
50 35 32 70 27 52 20 40 10 17 58 11 M8 x 1.25 7 18
63 35 32 85 27 64 20 40 10 17 58 11 M10 x 1.25 7 18
80 40 37 102 32 78 25 52 14 21 71 13 M12 x 1.75 10 22
100 40 37 116 41 92 30 52 14 21 72 16 M12x1.75 10 26
SR M MM N P s WA | zz
(mm)
40 11 M14 x1.5 27 1/4 84 | 185 | 146
50 11 Mi8x1.5 30 3/8 90 | 185 | 159
63 14 M18x1.5 31 3/8 9 23 170
80 17 M22 x 1.5 37 12 | 116 | 285 | 204
100 17 M26 x 1.5 40 12 | 126 | 285 | 215
Axial Foot: CA2YL
H G
‘ A K 2xP 4(_;»
Bi 4xd ‘ AL F : 2 x Cushion valve
MM H: — \"‘, ‘1‘"' =
I —~ ' Lt7
[lian wlafl T 4x0LD
O| m| X0
5 TR s N
=i » Widith across flats KA| ;,{J ! 15 y L
= _N | N |
LX [: X S + Stroke X
C Y LS + Stroke Y
B ZZ + Stroke
(mm)
B"(::r:')ze AlA | B |[B | Cc|D|E|F |G| H|H J K | KA | LD | LH | LS | LT
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 15 | 51 | 8 | M8x125 | 6 | 14 | 9 | 40 | 138 | 32
50 35 | 8 | 70 | 27 | 52 | 20 | 40 | 10 | 17 | 58 | 11 | M8x1.25 | 7 | 18 | 9 | 45 | 144 | 32
63 35 | 82 | 85 | 27 | 64 | 20 | 40 | 10 | 17 | 58 | 11 | M10x1.25 | 7 | 18 | 115 | 50 | 166 | 32
80 40 | 37 [ 102 | 32 | 78 | 25 | 52 | 14 | 21 | 71 | 13 | Mi2x1.75 | 10 | 22 | 135 | 65 | 204 | 45
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 | 21 | 72 | 16 | Mi2x1.75 | 10 | 26 | 135 | 75 | 212 | 6
Boresize |y |y MM N | P | s | x| VY |z
(mm)
40 42 | 70 | Mi4x15 | 27 | 1/4 | 84 | 27 | 13 | 175
50 50 | 80 | Mi8x15 | 30 | 3/8 | 90 | 27 | 13 | 188
63 59 | 93 | M18x15 | 31 | 3/8 | 98 | 34 | 16 | 206
80 76 | 116 | M22x15 | 37 | 1/2 | 116 | 44 | 16 | 247
100 92 | 183 | M26x1.5 | 40 | 1/2 | 126 | 43 | 17 | 258

214



Smooth Cylinder CA2Y Series

Rod Flange: CA2YF

2xP
_9» _(_3!> 4xoFD 4xd
2 x Cushion valve
Width across flats KA
MM !: 1 J_Iu:Fﬁ . &
==
of : U< o m
. 1 =
Width across flats B1 H1 ‘} 1 é} @ Eet
lLAL | i
K [of
A | FI.N N B
H S + Stroke M FX
ZZ + Stroke FZ
(mm)
B‘Z::rﬁ')ze A |[AL| B |B | C | D |E |FB|FD|FT|FV |FX|FY|FZ| G | H |H J K
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 71 | 9 | 12 | 60 | 80 | 42 | 100 | 15 | 51 | 8 |M8x1.25]| 6
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 81 | 9 | 12 | 70 | 90 | 50 | 110 | 17 | 58 | 11 |M8x1.25] 7
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 101 | 115 15 | 86 | 105 | 59 | 130 | 17 | 58 | 11 |Mi0x1.25] 7
80 40 | 37 | 102 | 32 | 78 | 25 | 52 | 119 | 135 | 18 | 102 | 130 | 76 | 160 | 21 | 71 | 13 |Mi2x1.75] 10
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 133 | 135 18 | 116 | 150 | 92 | 180 | 21 | 72 | 16 |M12x1.75 10
Boresize | yp | MM N| P | s |2z
(mm)
20 14 | 11 | M14x15 | 27 | 1/4 | 84 | 146
50 18 | 11 | M18x15 | 30 | 3/8 | 90 | 159
63 18 | 14 | M18x15 | 31 | 3/8 | 98 | 170
80 22 | 17 | M22x1.5 | 37 | 1/2 | 116 | 204
100 26 | 17 | M26x1.5 | 40 | 1/2 | 126 | 215
Head FIange: CA2YG
4xoFD B1 4xd Width across flats KA ‘g’ 2xP . _(_5_
2 x Cushion valve
AN
w o FH e o |
Hl =& -
! =
AL
F N N
A ||K
H S + Stroke FT|
2ZZ + Stroke
(mm)
B‘J(z:')ze A |AL| B | B | C D E F |FB | FD | FT | FV | FX | FY | FZ | G H | Hi
20 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 71 9 | 12 | 60 | 80 | 42 | 100 | 15 | 51 8
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 81 9 [ 12 | 70 | 90 | 50 | 110 | 17 | 58 | 11
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 101 | 115 | 15 | 86 | 105 | 59 | 130 | 17 | 58 | 11
80 40 | 37 | 102 | 32 | 78 | 25 | 52 | 14 | 119 | 135 | 18 | 102 | 180 | 76 | 160 | 21 | 71 | 13
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 | 133 | 135 | 18 | 116 | 150 | 92 | 180 | 21 | 72 | 16
SO e J K | KA MM N P s | zz
(mm)
40 M8 x 1.25 6 | 14 | Mi4x15 | 27 | 1/4 | 84 | 147
50 M8 x 1.25 7 | 18 | M18x1.5 | 30 | 38 | 90 | 160
63 M10x125 | 7 | 18 | Mi8x15 | 31 | a8 | 98 | 171
80 Mi2x1.75 | 10 | 22 | Me2x15 | 37 | 1/2 | 116 | 205
100 Mi2x1.75 | 10 | 26 | M26x1.5 | 40 | /2 | 126 | 216

215



CA2Y series

Single Clevis: CA2YC

Width across flats KA

2xP

= 2 x Cushion valve 5CDH1o
MM —H
AL T %_
w a
Q s\¢ AH/ @L_f/
Width across flats B1 Hi =i T rFt: B
K LNy
| LN
S + Stroke L
Z + Stroke RR
ZZ + Stroke
(mm)
B"(;ﬁ;')ze A | AL | B c CDH10 cx D | E F |G | H J K | Ka
40 30 | 27 | 60 44 10°9%¢ 1501 16 | 32 [ 10 | 15 | 51 M8x1.25 | 6 14
50 35 | 32 70 52 12370 1833 20 | 40 10 17 58 M8x125| 7 18
63 35 32 85 64 167307 25391 20 40 10 17 58 M10x125 | 7 18
80 40 | 37 [ 102 78 2079% 31.533 25 | 52 14 | 21 71 M12x175 | 10 22
100 40 37 | 116 92 25%0% 35.551 30 52 14 21 72 M12x1.75 | 10 26
SR L MM P | RR u z | zz
(mm)
40 30 M14 x 1.5 1/4 | 10 16 | 165 | 175
50 35 M18 x 1.5 38 | 12 19 | 183 [ 195
63 40 M18 x 1.5 38 | 16 23 | 196 | 212
80 48 M22 x 1.5 1/2 | 20 [ 116 | 28 | 235 | 255
100 58 M26 x 1.5 1/2 | 25 | 126 | 36 | 256 | 281
Double Clevis: CA2YD
V]
[ Hole diameter: 9CDH1o
Shaft diameter: 0CDas
G 2xP G
Width across flats KA 2 x Cushion valve
MM =]
AN
wl of FER i
Hh i A
Width across flats B1 4&
A N
F| |_N D
H S + Stroke
Z + Stroke RR1
ZZ + Stroke
* A pin and retaining rings are shipped together with double clevis and/or double knuckle joint. (mm)
B"(ﬁnﬁ')ze A |AL | B c | cDuio cx cz| b | E|F |G| H J K | KA
40 30 | 27 | 60 44 10'0%%® 15593 295 | 16 | 32 10 15 | 51 M8x125| 6 14
50 3 | 32 | 70 52 Tep 1803 38 | 20 | 40 | 10 [ 17 | 58 M8x1.25| 7 18
63 35 | 32 | 85 64 16707 25192 49 [ 20 | 40 | 10 | 17 | 58 M10x125 | 7 18
80 40 | 37 | 102 78 20%0% 31.5:93 61 25 | 52 | 14 | 2 71 M12x1.75| 10 | 22
100 40 | 37 | 116 92 25'0%% 355303 64 | 30 | 52 | 14 [ 21 72 M12x175] 10 | 26
SR L MM P |RR1 |RR2| S | U | z | 2z
(mm)
40 30 | Mi14x1.5 1/4 | 10 | 16 [ 84 | 16 | 165 | 175
50 35 | Mi18x1.5 38 | 12 [ 19 [ 90 | 19 [ 183 [ 195
63 40 [ M18x15 38 | 16 | 23 | 98 | 23 [ 196 | 212
80 48 | M22x15 12 | 20 | 28 [ 116 | 28 | 235 | 255
100 58 | M26x1.5 1/2 | 25 | 235|126 | 36 | 256 | 281

216

+ A clevis pin, flat washers and split pins are included.



Smooth Cylinder CA2Y Series

Center Trunnion: CA2YT

Z + 1/2 Stroke 2 x Cushion valve
Width across G P G
flats KA 2x
e gy 1o
o] L 1
wol F et o E
= ( N [
Hi S e
AL T
ALK T, N
F N D
H S + Stroke
ZZ + Stroke
(mm)
B"(:ﬁ;')ze A|AL| B |B | C | D]|E F |G | H | H J K | KA MM N P
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 15 | 51 8 | M8x125]| 6 14 | M14x15] 27 | 1/4
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 17 | 58 | 11 |M8x1.25]| 7 18 | M18x1.5| 30 | 3/8
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 17 | 58 | 11 |Mi0x125]| 7 18 | M18x15] 31 | 3/8
80 40 [ 37 [ 102 [ 32 | 78 | 25 [ 52 | 14 [ 21 71 13 [M12x1.75] 10 | 22 [ M22x15] 37 | 1/2
100 40 | 37 | 116 | 41 92 [ 30 | 52 [ 14 | 21 72 | 16 [M12x1.75] 10 | 26 | M26x1.5] 40 | 1/2
Bolckes s TDes T X | TY (T2 | z | 2z
(mm)
40 84 15052 22 | 85 [ 62 [ 117 [ 93 [ 140
50 90 15002 22 | 95 | 74 | 127 | 103 | 154
63 98 1835 28 | 110 | 90 | 148 | 107 | 162
80 116 2505 34 | 140 | 110 | 192 [ 129 | 194
100 126 2505 40 | 162 | 130 | 214 | 135 | 206

+ Do not disassemble the trunnion type. (Refer to the standard type.)

217



CA2Y series

Trunnion and Double Clevis Pivot Bracket

@ Strength is the same as cylinder brackets.

Type
Boresize|  ca20140 | CA20050 | CA2063 | CA20180 | CA201100

Description

Trunnion pivot bracket CA2-S04 CA2-S06 MB-S10

Double clevis pivot bracket CA2-B04 ‘ CA2-B05 CA2-B06 CA2-B08 ‘ CA2-B10
* Order 2 trunnion pivot brackets per cylinder.
Trunnion pivot bracket TE 4xoTT
Material: Cast iron 4x0TR

Z + 1/2 Stroke

I al w
Bzl F
=
Bl [Z]
i v N
TC
(mm)
Part no. B‘z;ﬁri')ze TA | TL | TU | TC | T™X | TE | TO | TR | TT | TS | TH | TF | TY | Z | TD-H10 (Hole)
40 80 | 60 | 10 | 102 | 85 | 119 | 17 9 17 | 12 | 45 | 60 | 62 | 93 157
CA2-S04
50 80 60 10 | 112 | 95 | 129 | 17 9 17 12 45 60 74 | 103 157
CA2-506 63 100 | 70 | 15 | 130 | 110 | 150 | 20 | 11 22 | 14 | 55 | 73 | 90 | 107 B
MB-S10 80 120 | 90 | 15 | 166 | 140 | 192 | 26 | 135 | 24 | 17 | 75 | 100 | 110 | 129 255
100 120 | 90 15 | 188 | 162 | 214 | 26 | 135 | 24 17 75 | 100 | 180 | 135 2579

Double clevis pivot bracket
Material: Cast iron

Z + Stroke

'S
a
Be
Rotating Angle
Bore size (mm) | A° | B° A° + B° + 90°
40
to 12° | 60° 162°
100 i 1:1
(mm)
Part no. B‘;:Te]ms'lze DA | DL | DU | DC | DX | DE | DO | DR | DT | DS | DH | DF | B | Z | DDH10 (Hole)
CA2-B04 40 57 35 11 65 15 85 10 9 17 8 40 52 60 | 165 1079
CA2-B05 | 50 57 | 35 | 11 | 65 | 18 | 8 | 10 | 9 | 17 | 8 | 40 | 52 | 70 | 183 iy
CA2-B06 | 63 67 | 40 | 135 | 80 | 25 | 105 | 125 | 11 | 22 | 10 | 50 | 66 | 85 | 196 1657
CA2-B08 | 80 93 | 60 | 165 | 100 | 315 | 130 | 15 | 135 | 24 | 12 | 65 | 90 | 102 | 235 205
CA2-B10 | 100 | 93 | 60 | 165 | 100 | 355 | 130 | 15 | 135 | 24 | 12 | 65 | 90 | 116 | 256 2590

218



CAZ2Y series
Dimensions of Accessories

Y Type Double Knuckle Joint

Shait diameter oNDso Split pin Material: Cast iron (mm)
Hole diameter oND: X Applicable it o Flat
o clameter e Flat washer: Part | esie |Ar|Ei|Di|Li| MM |RRi|Us [ND| NX |Nz| L | SPRPIN | yasher
MM Polished round no. (mm) size size
=1 )
_ Y-04D| 40 [22|24|10|55|M14x15|13|25| 12| 1633 | 38 |555| 03x 18¢ g‘ﬂfgfg
i —— xiNn
‘-gL [ zlz - Polished
Y-05D| 50,63 |27|28 |14 |60 | Mi8x 1.5 15|27 |12| 1653 | 38 |555| 03x 18¢
J round 12
oY=
© v-08D| 80 |37(36|18|71|M22x15[19|28|18| 2837 | 55 |765| o4 x25¢ | FOhed
As Ut A 01 ’ round 18
L1
x 103 Polished
& Y-10D| 100 |37|40|21|83|M26x 15|21 |38 (20| 3057 | 61|83 | 04x30¢ | H o0
% = A knuckle pin, split pins and flat washers are included.
Clevis Pin/Knuckle Pin
Material: Carbon steel (mm)
pewen I il cabSlborsloizc] 1 t|'m Dfi" Included | Included
2 xod é’ “| clevis | Knuckle hrough split pin | flat washer
; 2 cDP-2A| 40 — 10342 | 46 | 38 | 4 | 3 | 03x18¢ |Poishedround 10
M i CDP-3A| 50 [40,50,63| 12332 |555|475| 4 | 3 | @3x18¢ |Poishedromd 12
m| ¢ CDP-4A 63 — 169399 | 71 | 61 5 4 | o4x25¢ |Polihedound 16
L CDP-5A | — 80 18352 | 765|665 5 | 4 | @4x25¢ |Poishedrond 18
CDP-6A| 80 100 | 20%% | 83 | 73| 5 | 4 | @4x30¢ |poishedromnd20
CDP-7A| 100 — 259% | 88 | 78 | 5 | 4 | 04x36¢ |Polshedround2s

* Split pins and flat washers are included.

Rod End Nut (Standard)

g@ e

Material: Free cutting sulfur steel (mm) Material: Rolled steel (mm)

Part \kpleabetoe) p | o | g | Ly | MM | R | Ur | NDWO | NX Part no, |APpicable bore d H B c D
no. size (mm) size (mm)

104A| 40 | 69 | 22 | 24 | 55 |M14x15]155] 20 | 12:°° | 163} NT-04 | 40 M14x15 8 22 | 254 | 21
1-05A | 50,63 | 74 | 27 | 28 | 60 |M18x1.5155] 20 | 129 | 1633 NT-05 | 50,63 M18x15 11 27 | 312 | 2
1-08A| 80 | 91|37 |36 71 |M22x15|225| 26 | 189" | 283} NT-08| 80 M22 x 1.5 13 | 32 | 370 | 31
I10A| 100 |105] 37 | 40 | 83 |M26x1.5/245] 28 | 20%™ | 303} NT-10| 100 M26 x 1.5 16 | 41 | 473 | 39

219



CAZ2Y Series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Tie-rod mounting>

D-M9C/M9LIV
D-M9OIW/MOCIWV
D-M9TIA/MOTIAV

D-Z701/Z80
D-Y5901/Y69L1/Y7P/Y7PV
D-Y7OW/Y70O0WV

D-A9/A9CIV D-Y7BA
LA Auto switch =Hs
P TR«
sl o= T ORWE
B E PR
= S L
il
D-A50/A60
~Hs
S
D-A30C
D-G39C/K39C G1/2
A 49 Applicable cable O.D.: 06.8 to 09.6
36 / B HW
T H
Eiﬁ’?’@ @gﬁn—.
o) il
T il
= (S g
D-F501/J59 D-F500W/J59W
D-F5NT D-F5BA/F59F
Auto switch
%@*i@m I
.—L:n =
fon S —_1H
A_l30 LB
D-A44C G1/2
/Applicable cable 0.D.: 06.8 to 911.5
B
ngf— 2=
o e e 1
oy il
T il
fo = = g
D-P3DWA
A_ Auto switch =Hs
,_qrf’nF =i =) =F 7
=} g g
Ryt = LN
zolle
D-P4ADW Auto switch
A% B
Eqrf’glﬁ*:iﬂ =
el A
e il
fon S S g

220

<Band mounting>
D-B501/B64/B59W

Auto switch =Hs

bl W .
Al el or B
Bl rSEry T

fon = = g

A_.33 B
D-A30]
D-G39/K39 a1
A 49 Applicable cable O.D.: 6.8 to ©9.6
36 B_ =Hs

FF e = [0
\_H_Lﬁ«%: é :é 7%: %
D-G501/K59 D-G5BAL
D-G50W/K59W D-G59F/G5NTL

Auto switch =Hs

i LR
SES g iR L=

=5 ‘*i iz

A 33 =B

D-A44 G1/2

Applicable cable O.D.: 06.8 to 811.5




Auto Switch Mounting CA2Y Series

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto D-Y590] D-G39
switch D-Y69L] D-G39C
model | p-mor] D-Y7P D-F50] D-K39 gfgg‘j
D-M9LIV D-Y7PV D-J59 D-K39C | preonr
D-M9CIW | D-A9C] |D-Y7OOW D-F59F D-A50] D-B50]
D-M9OWV| D-A9ClV | D-y7rowy | D-PSDWA | D-PADW | py pomyy | D-ASSW | D-FSNT |y pgry g:ﬁgslajv\\;v D-B64
D-M9LIA D-Y7BA D-J59W D-A3D | ool
D-M9LIAV D-Z70) D-F5BA D-A3CIC | " foor
D-Z80 D-A44
e D-B59W D-A44C
size A[B|A|[B|A][B|A][B|A]B]A AlB|A|[B|A][B|]A[B|]A]B
40 9 9 5 5 25| 25 45| 45 2 2 55| 55 3 3 105 | 105 | O 0 1 1 0 0
50 9.5 8.5 55| 45 3 2 5 4 25| 15 6 35| 25|11 10 0 0 1505 | 0 0
63 125 | 11.5 8.5 7.5 6 5 8 7 55| 45 9 8 65| 55|14 13 25 1.5 45| 35 | 3 2
80 165 | 135 | 125 | 9.5 | 10 7 12 9 95| 65 |13 10 105 | 75|18 15 6.5 3.5 85| 55 | 7 4
100 18 16 14 12 115] 95 [ 135 | 115 | 11 9 145 | 125 | 12 10 195|175 | 8 6 10 8 8.5 6.5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Mounting Height (mm)
Auto D-B50]
switch D-B64
model D-z70 D-B59W g'jggm
D oy DMV Dz80 - |D-vesr oSy | D-A30 D-A5C] |D-F50W|D-A3CIC
D-MoCIa |PMITIWV|D-ASCIV| 20~ | D-Y7PV | D-PIDWA D-PADW| "ot | D-G39 | D-Ad4 |D-A6C] |D-J59W |D-G39C | D-A44C
D-AoC] |P-MeCIAV D-y7BA |DY7OWV p.csrw| D-K39 D-A59W B—_r;ssg,: D-K39C
D-Y700W D-K59W T
D-G5BA
Bore D-G59F
size Hs | Ht |Hs | Ht ([Hs | Ht |Hs | Ht [ Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht
40 30 30 |34 30 |31 30 |30 (30 |30 |30 |37.5| 35 |42.5/33 37 715 81.5 |38.5/31.5/38 |31.5| 73 69| 81 69
50 34 | 34 (38 34 |35 34 |34 (34 |34 (34 |(415] 39 |46.5|37.5| 42 76.5 86.5 (42 |35.5(42 |35.5| 785 77| 865 77
63 41 41 |44 41 [415| 41 |41 |41 |41 (41 |50 | 41 |52 |43 49 83.5 93.5 [46.5(43 |47 |43 | 855 91| 935 91
80 49.5| 49 |52.5| 49 |50 49 |149.5/49 |49.5/49 |58 | 49 |58.5|51.5| 57.5 92 102 53.5|51 |53.5|51 94 107 |102 | 107
100 |56.5| 56 |61 56 [58.5| 56 |56.5|55.5|57.5(55.5|66 56 |66 |58.5| 68 102.5 1125 |61.5/57.5|61 [57.5(104 |121 112 |121
Operating Range
(mm)
Bore size Bore size
Auto switch model Auto switch model
40 50 63 80 100 40 50 63 80 100
D-MOLC/MOCIV D-Y59C1/Y69(]
D-MOLIW/MICIWV 45 5 55 5 6 D-Y7P/Y70IV s 7 55 65 65
D-M9JA/M9LIAV D-Y7CIW/Y7OIWV
D-Y7BA
D-A9[ VA9V 7.5 8.5 9.5 9.5 10.5 D-F5C1/J59/F500W
D-Z7(1/Z80 85 75 9.5 9.5 10.5 D-J59W/F5BA 4 4 45 45 45
D-F5NT/F59F
D-A3[/A44
b D-G5L/K59/G5CIW
D-A3(IC/A44C
9 10 1 1 1 D-K59W/G5BA 5 6 6.5 65 7
D-A5CV/A6] D-G5NT/G59F
D-B5L1/B64 D-G39/K39
9 9 10 10 1
D-G39C/K39C
DeASIW 13 13 i i 1 D-P3DWA 45 45 55 55 55
D-B59W 14 14 17 16 18 D-P4DW 4 2 45 4 45

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially
depending on the ambient environment.

221



CA2Y series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of auto  [Mounting brackets other| Center trunnion
model switches mounted | than center trunnion 240 ‘ 250 263 280 2100
2 (Different surfaces
D-M9C] and same surface) 1 15 80 85 0 95
D-MOCIW N 15440052 80+40 054 85+4005% | 90+4005% | 95440052
(=2, 4,6,8-)Nore 1) (n=4,8 12, 16..) Note?) (n=4,8,12,16-)"92) | (n=4, 8,12, 16-) V2| (n = 4, 8, 12, 16-) \oe2)
2 (Different surfaces 10 55 60 65 70
d same surface) 1
D-M9IV an
D-MICIWV N 10+30 252 55+30 054 60+3005% | e54+3005% | 70430054
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16..) Note?) (n=4,8,12,16--)N9¢2)| (=4, 8,12, 16-)N0e2)| (n = 4, 8, 12, 16-) Noe2)
2 (Different surfaces 15 80 85 95 100
and same surface) 1
D-M9[JA _ _ _ _ _
o N 15440052 80+40 5% 85+4005% | 95440059 | 100+4005%
(1=2,4,6,8-)Note 1) (n=4,8, 12, 16-)Note2) (n=4,8,12,16-) N2 | (n=4, 8, 12, 16-) N2 | (n=4, 8, 12, 16-) Noe2)
2 (Different surfaces 10 60 65 70 75
and same surface) 1
D-M9[JAV _ N _ _ _
o N 10+30 052 60+ 30054 65+3005% | 70430052 75+30 054
(N=2,4,6,8.)Note1) (n=4,8,12, 16...)Note2) (n=4,8,12,16-)N%2) | (n =4, 8, 12, 16-) N2 | (n = 4, 8, 12, 16-..) Note2)
2 (Different surfaces 15 75 80 85 %0
and same surface) 1
D-A9 _ _ _ _ N
g N 15+ 40052 75+ 400548 80+ 40054 85+4005% | 9044004
(n=2,4,6,8-)Note1) (n=4,8,12, 16...) Note 2) (n=4,8,12,16--)Ne2 | (n=4,8, 12, 16.)Nele2)| (n = 4, 8, 12, 16.-) Note2)
2 (Different surfaces 10 50 55 60 65
and same surface) 1
D-A9[V (n-2) n-4) n-4 n-4) n-4)
n 10+ 30 2 50 +30 55+30 60 +30— 65 +30
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16..) Note2) (n=4,8,12,16--)N9¢2)| (=4, 8,12, 16-)Noe2)| (n = 4, 8, 12, 16-) Noe2)
D-ASJ/A6 in(c?:;erfe"‘sj::s:ﬁ 15 90 100 110 120
D-F501/J5
D-F5IW/J59W 15455052 90+ 55 054 100455054 | 110455054 | 1204550549
D-F5BA/F59F n (Same surface) 2 2 2 2 2
(=2, 4,6,8-)Noe 1) (n=4,8,12,16.) Note2) (n=4,8,12,16--)N9¢2)| (n=4, 8,12, 16-)Noe2)| (n = 4, 8, 12, 16 Nok2)
2 (Different surfaces 20 % 100 110 120
and same surface) 1
- (n-2) (n-4) (n-4) (n-4) (n-4)
D-A59W n (Same surtace) | 20+557% 90 +55 05 100 +55 5 110 + 555 120 + 5505
(n=2,4,6,8-)Nte 1) (n=4,8,12,16-)Note 2 (n=4,8,12,16-)N9e2 | (n= 4,8, 12, 16-) N2 | (n=4,8, 12, 16-) Note2)
1 15 90 100 110 120
2 (Different surfaces
25 110 120 130 140
and same surface) 1
D-F5NT , , N , ,
25+ 55 052 110 + 55 054 120455054 | 130455054 | 140455059
n (Same surface) 2 2 2 2 2
(n=2,4,6,8-)Ne ) (n=4,8,12, 16...)Note2) (n=4,8,12,16-)N0e2 | (n=4,8, 12, 16-) N2 | (n=4, 8, 12, 16.) Noe2)
D-B5C/B64 2 Different surfaces 15 %0 100 110
) Same surface 75
D-G50L/K59
D-G5IW Diferent suraces| 15+ 50 "52 90+50 054 100+ 50 254 110+50 054
D-K59W n (n=2,4,6,8-)Note ) (n=4,8, 12, 16.) Note2) (n=4,8, 12, 16.-) Nae2) (n=4,8, 12, 16.-)Note2)
g'ggsp same surface | 75 +50(-2) 90 +50 (n-2) 100 + 50 (n - 2) 110+ 50 (n - 2)
D-GSNT n=2,3,4-) (n=2,4,6,8.)Note1) (n=2,4,6,8.)Note) (N=2,4,6,8.)Note1)
1 10 90 100 110
Different surfaces 20
1 1
Same surface 75 © © 0
(n-2) (n-4) (n-4) (n-4)
Different surfaces | 20+ 50 % 90 +50 100 + 50 5 110 +50 05
D-B59W n (n=2,4,6,8.)Note ) (n=4,8,12,16...)Note2) (n=4,8,12, 16 Noe2) (n=4,8,12, 16...)Note 2)
Same surface | 7550 (-2 90 + 50 (n -2) 100 + 50 (n - 2) 110 + 50 (n - 2)
(n:2Y 3, 4) (n:2, 4,6, 8) Note 1) (n:2Y 4,6, 8_,,)Nole\) (n:2Y 4,6, 8) Note 1)
1 15 90 100 110

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

222




Auto Switch Mounting CA2Y Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of auto  [Mounting brackets other| Center trunnion
model switches mounted | than center trunnion 240 ‘ 250 263 280 ‘ 2100
Different surfaces 35 75 80 90
Same surface 100 100 100 100
D-A3[] 35+30(n-2) 75+30(n-2) 80+30(n-2) 90+30(n-2)
D-G39 Diferent surfaces | (n=2,3,4-) (n=2,4,6,8-)N0D (n=2,4,6,8-)"e (1=2,4,6,8-) N
n
D-K39 Same surface 100 +100 (n - 2) 100 +100 (n -2)
(n=2,3,4-) n=2,4,6,8..)Nte1)
1 10 75 80 90
Different surfaces 35
2 7!
Same surface 55 5 8 %
Different surfaces | o> *3 ("=2) 75+30(n-2) 80+30(n-2) 90 +30 (n-2)
D-A44 (n=2,34") (n=2,4,6,8-)Notet) (N=2,4,6,8.)Note1) (N=2,4,6,8.)Note1)
n
Same surface 55+50 (n-2) 75+50 (n-2) 80+50(n-2) 90 +50 (n-2)
(n=2,3,4-) (nN=2,4,6,8-)Note 1) (n=2,4,6,8.)Noe) (n=2,4,6,8..)Note)
1 10 75 80 90
2 Different surfaces 20 75 80 90
Same surface 100 100 100 100
D-A3[IC 20+35(n-2) 75+35(n-2) 80+35(n-2) 90+35(n-2)
D-G39C Different surfaces (n=2,3,4-) (n=2,4,6,8...)Note 1) (n=2,4,6,8..)Note?) (n=2,4,6,8..)Note 1)
n
D-K39C Same surface 100 + 100 (n - 2) 100 +100 (n -2)
(n=2,3,4,5-) n=2,4,6,8..)Note
1 10 75 80 90
Different surfaces 20
2 Same surface 55 I 8 ©
Different surfaces | 20+ 3% (1 =2) 75+35(n-2) 80+35(n-2) 90 + 35 (n-2)
D-A44C (n=2,3,4-) (n=2,4,6,8...)Note 1) (n=2,4,6,8..)Note?) (n=2,4,6,8..)Note 1)
n
Same surface 55+50 (n-2) 75+50 (n-2) 80 +50 (n-2) 90 +50 (n-2)
(n=2,3,4-) (nN=2,4,6,8-)Note 1) (n=2,4,6,8.)Noe) (n=2,4,6,8..)Nte)
1 10 75 80 90
2 (Different surfaces
D-Z7(/Z80 and same surface) 1 15 80 85 90 95 105
D-Y59C1/Y7P (n-2) -4 (n-4) -4 (n-4) (n-4)
DY7LW n 15+40 "5 80 +40 15 85+40"5 90 +40 15 95+40'"3 105 + 40 5
(N=2,4,6,8-)Note )| (n=4,8,12,16-)N0e2 | (=4, 8,12, 16-) N2 | (n=4,8, 12, 16-) N2 | (1=4, 8, 12, 16--)\te2)| (1=4, 8, 12, 16.-) Noe2)
e 0 o 75 ao so
D-Y69L/Y7PV
D-Y7OWV N 10+30052 65+30 054 75+3005% | 80+3005 90+30 054
(n=2,4,6,8.)Note) (n=4,8,12,16...)Note2) (n=4,8,12,16-)N0e2) | (n=4,8, 12, 16-) N2 | (n=4,8, 12, 16.) Nore2)
2 (Different surfaces 20 95 100 105 110
and same surface) 1
LARLLS N 20445052 95+45 054 100+45858 | 105445058 | 110445058
(n=2,4,6,8.)Note) (n=4,8,12,16...)Note?) (n=4,8,12,16-)N0e2) | (n=4,8, 12, 16-) N2 | (n=4,8, 12, 16 Nore2)
2 (Different surfaces 15 85
and same surface) 1
D-P3DWA ) 15450052 85+50 054
(n=2,4,6,8.)Noe 1) (n=4,8,12, 16...)Note2)
2 (Different surfaces 15 120 130 140
and same surface) 1
DB N 15465052 120+ 65 054 130 + 65 054 140+ 65 054

(n=2,4,6,8.)Nte1)

(n=4,8,12, 16...)Note2)

(n=4,8,12, 16 Noe2)

(n=4,8,12, 16...)Note2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

223



CA2Y series

Auto Switch Mounting

Brackets/Part No.

<Tie-rod mounting>

<Band mounting>

Auto switch Bore size (mm) Auto switch Bore size (mm)
model 40 50 63 80 100 model 40 50 63 80 100
g:,\%%%mgng g‘égg’;:: BDS-04M | BDS-05M | BMB1-063 | BMB1-080 | BMB1-100
D-MOTIA/MOIAV BA7-040 | BA7-040 | BA7-063 | BA7-080 | BA7-080 i
D-B5[1/B64
D-A9[V/A9LIV
D ASgAGS e
D-A59W g:g:g’vﬁgsgw BH2-040 | BA5-050 | BAF-06 | BAF-08 | BAF-10
D-F5[1/J59 BT-04 BT-04 BT-06 BT-08 BT-08 D-G59F
D-F5]W/J59W D-G5NT
D-F59F/F5NT
D-A3[IC/A44C Note 1) The auto switch mounting bracket is included in the D-A30C/A44C/
D-G39C/K39C BA3-040 | BA3-050 | BA3-063 | BA3-080 | BA3-100 G39C/K39C types. Specify the part number as follows depending on
a the cylinder size when ordering.
D-Z7(/280 (Example) 940: D-A30JC-4, 050: D-A3[]C-5, 963: D-A3[]C-6, 280:
D-Y59[ /Y69 D-A30C-8, 6100: D-A3CIC-10
D-Y7P/Y7PV BA4-040 | BA4-040 | BA4-063 | BA4-080 | BA4-080 [Stainless Steel Mounting Screw]
D-Y7OIW/Y7CIWV X ! . . .
D-Y7BA The_followmg st_a\_nless steel mounting screw kit (|nclud|n_g set screws) is also
available. Use it in accordance with the operating environment.
D-P3DWA BK7-040S | BK7-040S | BA10-063S|BA10-080S |BA10-080S (Since the auto switch mounting bracket is not included, order it separately.)
D-P4DW BAP2-040 | BAP2-040 | BAP2-063 | BAP2-080 | BAP2-080 BBAT1: For D-AS/AG/FSIJS types

BBA3: For D-B5/B6/G5/K5 types

Note 2) Refer to pages 1439 and 1447 for details on the BBA1 and BBA3.

The above stainless steel screws are used when a cylinder is shipped with
D-F5BA or G5BA auto switches. When only an auto switch is shipped
independently, the BBA1 or BBA3 is attached.

Note 3) When using the D-M9CIA(V) or Y7BA, do not use the steel set screws
which are included with the auto switch mounting brackets above
(BA7-000, BA4-000). Order a stainless steel screw kit (BBA1)
separately, and use the M4 x 6L stainless steel set screws included in

the BBA1.

Note 4) There is a difference in the cylinder tube thickness depending on the
cylinder model. When a band mounting type is used as an applicable
auto switch and a cylinder model is changed, use caution.

+ The figure shows the mounting example for the D-A9CJ(V)/M9I(V)/MITIW(V)/MOTIA(V) types.

R e e e e e e e e e T R

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 1341 to 1435 for the detailed specifications.

224

= With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1410 and 1411.
= Normally closed (NC = b contact) solid state auto switches (D-M9CIE(V)/Y7G/Y7H) are also available. For details, refer to pages 1360 and 1362.

1
1
1
1 Type Model Electrical entry Features
1 D-A93V/A96V . —_
Grommet (Perpendicular,
1 Reed D-A90V (Perpendicular) Without indicator light
1 D-A53/A56/B53/273/276 ) -
1 Grommet (In-line) - — -
; D-A67/Z80 Without indicator light
1 D-MONV/M9PV/M9BV
1 D-Y69A/Y69B/Y7PV
1 D-MONWV/MOPWV/MIBWV Grommet (Perpendicular) Diagnostic indication
1 D-Y7NWV/Y7PWV/Y7BWV (2-color indicator)
1 D-MONAV/MIPAV/M9BAV Water resistant (2-color)
! . D-Y59A/Y59B/Y7P
1 Solid state —
1 D-F59/F5P/J59
1 D-Y7NW/Y7PW/Y7BW Diagnostic indication
1 D-F59W/F5PW/J59W Grommet (In-line) (2-color indicator)
1 D-F5BA/Y7BA Water resistant (2-color)
! D-FSNT/GSNT With timer
: D-P5DW Magnetic field resistant (2-color)
1
1
3

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
4



Smooth Cylinder

S2Y Series

2125, 9140, 2160

How to Order

] CSZY|160| —|3oo| -]
I—l
wc?szv |160| —|3oo|

With auto switch Number of auto switches
(Built-in magnet) =
Nil | 2pes.
Smooth cylinder 1 pe. l—
! 3 pes. Made to Order
Mounting®&———— “n” pes. Refer to page 226 for details.

B Basic .

L oot Bore size ch

F [ Rodflange 125, 125 mm [ Nil_] without auto switch |

G Head flange 140/ 140 mm + For applicable auto switches,

C Single clevis 160| 160 mm refer to the table below.

D | Double clevis ) )

T | Center trunnion Port thread type: Suffix for cylinder

Nil Rc J Nylon tarpaulin
TN NPT Fod boot K Heat resistant tarpaulin

Built-in Magnet Cylinder Model TF G A | With double-side cushion
If a built-in magnet cylinder without an With/without | R Wim rod Cushiw
auto switch is required, there is no need Cylinder stroke (mm) cushion H With head cushion
to enter the symbol for the auto switch. Refer to “Maximum Strokes” Nil Without cushion
(Example) CDS2YL125-200 on page 226. * When more than one symbol is specified, indicate

them in alphabetical order.

Applicable Auto Switches/Refer to pages 1341 to 1435 for further information on auto switches.

- o Load voltage Auto switch model | Lead wire length (m) a—
Type Special function ez M) Tie-rodl |} Band 05 | 1] 3|5 | W applicable load
enty | §| (Outeu) =e AC | mounting | mounting | (Ni) || (L) | @|®™"
3-wire (NPN) M9ON = [ ] ® ® | O [©) .
5V, 12V IC it
Grommet | [3-wire PNP)| 24v |°" — MoP — e |@e|/@|O| O ered
5 —_— 2-wire 12V M9B = e (@ & O o —
-‘; Terminal 3-wire (NPN) 5V, 12V — G39 — —|—|— — IC circuit
3 conduit 2-wire 12V = K39 — === = —
o -
€ : . 3-wire (NPN) 5V 12V MINW — [ ] ® e O O 1C circuit
1 Dlagnosm.: indication Ves| 3-wire (PNP) s MOPW — ° ele O 16} circuit| Relay,
9 (2-color indicator) h PLC
s 2-wire 24V 12V _ M9BW = ® (@ & O o —
) 3-wire (NPN) MINA*! — O |O|@|O [e)
3z i G t " 5V, 12V ” IC circuit
2| Cooormiomon | | [vie®Ne) MPAT | — | o |o|e|o| o |°%
@ 2-wire 12V M9BA*! — O |[O|@|O| O —
Diagnostic indication (2-color indicator) 4-wire (NPN) 5V,12V F59F = ® |—|®|O O |IC circuit
Magnetic field resistant (2-color indicator) 2-wire (Non-polar) — P3DWA — [ —|®|® [e) —
v Sire (\PNequivalent) | — 5V — A96 — [ ) [ AK 2K ] O |ICcircuit] —
5 | 12V | 100V | A93 — o (e|efe| O | —
.'é Grommet |No| 5V,12V|100Vorless) A90 = [ ] ® | ®|® | O* |ICcircuit| Relay,
) Yes| 100V,200V|  A54 = [ ) — e e PLC
= Yes|
2 No| 200Vorless|  A64 = e — | —| —
3 2-wi 24V
: Terminal wire 12V — — A33 — === = _ PLC
E conduit — A34 — |[—=]=]=] =
1
« DIN terminal| 1007, 2000 —— T ———— Reley,
Diagnostic indication (2-color indicator) | Grommet — — A59W — e —\ 0| —| —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

#2 The load voltage used is 24 VDC.

= Lead wire length symbols: 0.5 m Nil (Example) MONW 3m
im M (Example) MONWM 5m

= Auto switches marked with “O” are produced upon receipt of order.

= Since there are other applicable auto switches than listed, refer to page 236 for details.

= For details about auto switches with pre-wired connector, refer to pages 1410 and 1411.

* The D-A90I/MICI/MITIW/MOLIA/P3DWALI auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

225

L (Example) MONWL
Z (Example) MONWZ




CS2Y series

Designed with a low sliding

resistance of the piston, this

air cylinder is ideal for applica-

tions such as contact pressure

control, which requires smooth

movements at low pressure.

Low sliding resistance
Min. operating pressure — 0.005 MPa

Auto switch mounting
is possible.

Symbol
Double acting/Without cushion

-

to
Mgffer Made to Order

=mge= Click here for details

Application Example

Low friction cylinder is used in combination with precision regulator (IR series).

Driving roller Winding roller

Precision regulator
Precision regulator

Wi

(Moving object)

Specifications
Bore size (mm) 125 140 160
Action Double acting, Single rod
Direction of low friction Both directions
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Without auto switch: 0°C to 70°C

Ambient and fluid temperature With auto switch: 0°C to 60°C

(No freezing)

All ble leak Less than 0.5 L/min (ANR)

Cushion Without cushion® (manufacturable with cushion)
Lubrication Not required (Non-lube)

Mounting Basic, Foot, Rod flange, Head flange,

Single clevis, Double clevis, Center trunnion

«+ If an air cushion is not used, set the energy at the stroke end to 0.36J (9125, 8140) or less,
0.3J (2160) or less.

Minimum Operating Pressure

Unit: MPa
\ Bore size (mm) [ 125 [ 140 160 |
‘ Minimum operating pressure ‘ 0.005 MPa* ‘

Symbol Specifications
-XACI |Change of rod end shape
-XC3 |Special port position

Adjustable stroke cylinder/Adjustable

-XC9 | etraction type

-XC10 | Dual stroke cylinder/Double rod type
-XC14 | Change of trunnion bracket mounting position
-XC15 | Change of tie-rod length

-XC26 With split pins for double clevis pin/double
knuckle joint pin and flat washers

= |f a cushion is used, this value will not include the operating pressure within the cushion stroke.

Maximum Strokes

Double clevis and double knuckle pins
ez made of stainless steel

-XC30 | Rod side trunnion

Made of stainless steel
-Xce8 (with hard chrome plated piston rod)

(mm)
Mounting
bracket Basic, Head flange, F
) : ) oot,
Single clevis, Double clevis, Rod flange
Bore size Center trunnion g
(mm)
125
1000 or less 1600 or less
140
160 1200 or less 1600 or less

Accessories/For details, refer to page 233.

-XC86 | With rod end bracket

Refer to pages 234 to 236 for cylinders with auto
switches.

*Auto switch proper mounting position (detection
at stroke end) and its mounting height

* Minimum stroke for auto switch mounting

* Operating range

 Auto switch mounting brackets/Part no.

226

Mounting Basic | Foot | e | fange | olovis | dievis frunmion
Standard | Clevis pin — — — — — o —
Rod end nut [ J [ J [ ) [ ] [ ] [ [
Single knuckle joint [ ] [ ) [ ) ] [ [
tion o
T | gy ® | @ | @ | o e e e
Rod boot [ J (] (] (] [ ] (] [J



https://www.smcworld.com/content/en-jp/products/custom/index.html

Mounting Brackets/Part No.

Smooth Cylinder CSZY Series

Rod Boot Material

Bore size (mm) 125 140 160 Symbol Material Max. ambient temperature
Foot* Ccs2-L12 CS2-114 CS2-116 J Nylon tarpaulin 70°C
Fl.ange . CS2-F12 CS2-F14 CS2-F16 K [Heat resistant tarpaulin 110°C*
Einglslcleyis cs2-C12 Cs2-C14 C82-C16 * Maximum ambient temperature for the rod boot itself.
Double clevis™* CS2-D12 CS2-D14 CS2-D16

* Order two foot brackets per cylinder.

+# When ordering the double clevis type, the clevis pin and 2 split pins are included as accessories.

Weights Replacement Parts: Seal kit.
——
(kg)
Bore size (mm) 125 140 160 Bore size (mm) Kit no. Content
Basi 5.46 6.50 9.07 -
Fasu: 9 950 24 125 CS2Y125A-PS Without cushion
oot 7. .5 .45 .
140 cs2via0a-pg | - Rod seal Tee.
Rod flange 8.51 12.03 15.80 4$Isl§0n Seil 1pc.
i . 2 .
‘S;Z'ﬁt Head flange 8.51 12.03 15.80 160 CS2Y160A-PS ube gasket pos
Single clevis 8.53 10.79 14.56 125 CS2Y125AA-PS With single-side cushion
Double clevis 8.99 11.54 15.41 - Rod seal 1 pe.
Trunnion 9.59 12.23 15.47 140 CS2Y140AA-PS . C‘ushlon seal 2 pes.
- Piston seal 1 pc.
Additional weight with magnet 160 CS2Y160AA-PS | . Tube gasket 2 pes.
(With built-in magnet and auto switch) 0.07 0.07 0.08
- With single-side cushion
Additional weight per 100 mm of stroke 1.55 1.67 2.23 125 CS2Y125AR-PS . Rod segil 1 pe.
Single knuckle 0.91 1.16 1.56 140 CS2Y140AR-PS | - Cushion seal 1 pe.
N - Piston seal 1 pe.
Accessories | DOUDIe knuckle (With 1.37 1.81 2.48 160 CS2Y160AR-PS | . Tube gasket 2 pes.
Knuckle pin, Split pin)
« Seal kit does not include a grease pack.
Rod end nut 0.16 0.16 0.23 Order with the following part number when only the grease pack is needed.

Calculation: (Example) CS2Y160-500
® Basic weight--- -12.45 (kg)
* Additional weigh .23 (kg/100 mm)
® Cylinder Stroke: ... 500 (mm)
12.45 + 2.23 x 500/100 = 23.60 kg

Sliding Resistance

Grease pack part number: GR-L-005 (5 g), GR-L-010 (10 g),
GR-L-150 (150 g)

0125
0140

0.010

|

%//meo

0.005

Sliding resistance (MPa)
(Converted into cylinder operating pressure)
1

0.3 0.4 0.5 0.6 0.7
Pressure (MPa)

227



CS2Y series

Relationship between Cylinder Size and Maximum Stroke

The below table shows the applicable maximum stroke (in cm units), found by calculation assuming
the case where the force generated by the cylinder itself acts as buckling force on the piston rod, or

piston rod and cylinder tube.

Therefore, it is possible to find the applicable maximum stroke for each cylinder size using the
relationship between the size of the operating pressure and the cylinder support type, regardless of

the load ratio.

[Reference] If it is stopped with the external stopper on the cylinder extension side, even with a light
load, the maximum generated force of the cylinder will act on the cylinder itself.

(cm)

Mounting o Applicable maximum stroke according to buckling strength (cm)
Support bracket nominal symbol Nominal (MPa) T am T
and schematic diagram symbol
Foot:L | Fodflenge: | Head flange: 03 108 92 113
E-M L, F 0.5 79 70 86
N 0.7 66 58 72
0.3 45 38 47
@ G 0.5 33 27 34
0.7 26 22 27
Clevis: C, D Cegleguuniicn: 03 9% 83 106
C,D 0.5 71 61 76
0.7 59 50 62
:' 0.3 135 119 147
T 0.5 101 89 111
0.7 84 74 91
Rod flange: | Head flange: 0.3 301 267 330
F G
L, F 0.5 231 207 253
0.7 193 172 212
0.3 144 126 156
G 0.5 109 94 118
0.7 90 78 97
0.3 433 386 476
L, F 0.5 334 297 367
0.7 281 250 309
0.3 210 185 229
G 0.5 160 141 175
0.7 134 117 129

228



Dimensions

Basic: CS2YB
With rod boot

Smooth Cylinder CSZY Series

Width across flats KA G G_ WV _
2xP 4x4d Cushion valve
MM (R, NPT, G) —
L HH S
=S == t
NN
wiaf ] ® o
AL | | E5 |
T 1 T T
. A k- F [N N e
ZZ+ ¢ H S + Stroke M OB
1+ ¢ + Stroke 77 + Stroke
(mm)
B‘ﬁnﬁi)ze A | A | 0B |DOc| D E F G J vV |w | K |[ka | m MM
125 50 47 143 115 32 71 43 15 M14x 1.5 15 17 15 27 27 M30x 1.5
140 50 47 157 128 32 71 43 15 M14x 1.5 15 17 15 27 27 M30x 1.5
160 56 53 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 30.5 M36 x 1.5
(mm)
Bore size N P s Without rod boot With rod boot
(mm) H 2z e f h ¢ 2z1
125 30.5 1/2 98 110 | 235 75 40 133 1/5 Stroke 258
140 30.5 1/2 98 110 | 235 75 40 133 1/5 Stroke 258
160 34.5 3/4 106 120 | 256.5 75 40 141 1/5 Stroke 277.5
* The minimum stroke with rod boot is 30 mm or more.
«# For auto switch mounting position and its mounting height, refer to page 234.
i Refer to “Minimum Stroke for Auto Switch Mounting” on page 235.
Foot: CS2YL
With rod boot H S + Stroke
K
Width across flats KA A F |G G Port wvV
AL 2xP 4xd Cushion valve
MM (Re, NPT, G) —
[ 1= ¥ ==
== == t
L N N
g ] 1HTery 81y <l ° ® >
wxaso | TSR
e=l Al (B = 1
= M= — © €
e == S A
et AL x N N x [y L]
h+¢ LS + Stroke oc
ZZ1 + ¢ + Stroke ZZ + Stroke B
(mm)
B‘z;ﬁ;i)ze A|A [B| B |Oc|D|E|F | a J V| WwW| K | KA|LD|LH|LS
125 50 47 143 143 115 32 71 43 15 M14x 1.5 15 17 15 27 19 85 | 188
140 50 47 157 157 128 32 71 43 15 M14x 1.5 15 17 15 27 19 100 | 188
160 56 53 177 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 19 106 | 206
(mm)
Bore size Without rod boot With rod boot
LT LX LY MM N P X Y
(mm) s H 2z e f h ¢ 721
125 8 100 | 156.5| M30x 1.5 30.5 1/2 98 45 20 110 273 75 40 133 1/5 Stroke 296
140 9 112 | 1785| M30x 1.5 30.5 1/2 98 45 30 110 283 75 40 133 1/5 Stroke 306
160 9 118 | 1945| M36x1.5 34.5 3/4 106 50 25 120 301 75 40 141 1/5 Stroke 322

* The minimum stroke with rod boot is 30 mm or more.
«# For auto switch mounting position and its mounting height, refer to page 234.
=+ Refer to “Minimum Stroke for Auto Switch Mounting” on page 235.

229



CS2Y series

Dimensions
—
Rod flange: CS2YF
. Port
With rod boot Width across flats KA ) G 4xd wv_
2xP 4 xoFD Cushion valve
MM (Rc, NPT, G) xo ~n e
H Tk 4 HH =
"B ORI ©
N ]
j wlq] ° of o &
= AL | |FT T ] T
A FIN oe
he¢ K- LN 0B
ZZ1 + ¢ + Stroke H S + Stroke M FX
ZZ + Stroke FZ
(mm)
B‘z:ﬁms')ze A | AL | 0B| B |OC| D E F | FD | FT | FX | FY | FZ | G J v
125 50 47 143 145 115 32 71 43 19 14 190 100 230 15 M14x 1.5 15
140 50 47 157 160 128 32 71 43 19 20 212 112 255 15 M14x 1.5 15
160 56 53 177 180 144 38 78.5 42 19 20 236 118 275 18 M16x 1.5 15
(mm)
Bore size Without rod boot With rod boot
w K KA M MM N P S
(mm) H zz e f h ¢ 2z
125 17 15 27 13 M30x 1.5 30.5 12 98 110 221 75 40 133 1/5 Stroke 244
140 17 15 27 13 M30x 1.5 30.5 1/2 98 110 221 75 40 133 1/5 Stroke 244
160 20 17 34 15 M36 x 1.5 34.5 3/4 106 120 241 75 40 141 1/5 Stroke 262
* The minimum stroke with rod boot is 30 mm or more.
## For auto switch mounting position and its mounting height, refer to page 234.
s Refer to “Minimum Stroke for Auto Switch Mounting” on page 235.
Head flange: CS2YG
Port
With rod boot
Width across flats KA -G P G 4xd wv_
2x 4xoFD Cushion valve
MM (Re, NPT, G) X0
=4 " Lo %o
=1 o o ‘
8 ey s & o oE | ;
—F : ‘ : {?
E1m AL — | o
¢ | f A | |[_.F |N
het e L1 oc
7z H S + Stroke FT 0B
1+ ¢ + Stroke 77 + Stroke FX
FZ
(mm)
B‘z;ﬁ;i)ze A |A |oB| B |OC| D | E F | | FT [ X | FY | FZ | @ J v
125 50 47 143 145 115 32 71 43 19 14 190 100 230 15 M14x 1.5 15
140 50 47 157 160 128 32 71 43 19 20 212 112 2b5) 15 M14x 1.5 15
160 56 53 177 180 144 38 78.5 42 19 20 236 118 275 18 M16x 1.5 15
(mm)
Bore size Without rod boot With rod boot
w K KA MM N P
(mm) s H zz e f h ¢ 2z
125 17 15 27 M30x 1.5 30.5 1/2 98 110 222 75 40 133 1/5 Stroke 245
140 17 15 27 M30 x 1.5 30.5 1/2 98 110 228 75 40 133 1/5 Stroke 251
160 20 17 34 M36 x 1.5 34.5 3/4 106 120 246 75 40 141 1/5 Stroke 267

* The minimum stroke with rod boot is 30 mm or more.
«# For auto switch mounting position and its mounting height, refer to page 234.

«#+ Refer to “Minimum Stroke for Auto Switch Mounting” on page 235.

230



Smooth Cylinder CSZY Series

Dimensions
Single clevis: CS2YC

With rod boot

Width across flats KA G G Port wv
T 2x ~ oCDH10  4xJ ”7kCush\on valve
MM (Rc, NPT, G) —
T ' 5
\ ﬁ
[
O Ilgl %I O W) 1’
=E — koS o)
| AL LU
hse A F N N lcT CX]
Z1 + ¢ + Stroke L oc
2Z1 + ¢ + Stroke H S + Stroke L cB
Z + Stroke RR
ZZ + Stroke
Double clevis: CS2YD
With rod boot
Width across flats KA .G_ .G_ Port wv
MM 2xP oCD hole H10 4xd Cushion valve
. (Re, NPT, G) Axis d9
= == : I {2}
\ T 0|
0w DI P o P\.\ 4 A
Ol el = = S J kil I I
=E 2 (o8 o)
| AL
h+e A F N N|_|cT CX|
Z1 + ¢ + Stroke L cz
ZZ1 + ¢ + Stroke H S + Stroke L oc
Z + Stroke RR OCB
ZZ + Stroke
(mm)
Boresize | , |l | oo | oes | @ | & Single clevis| Double clevis D E E G J v w
(mm) cX cX cz
125 50 | 47 | 143 | 115 | 145 |25 | 17 | 32%) | 3283 | 645, | 82 | 71 43 | 15 M14x 1.5 15 17
140 50 47 | 157 | 128 | 160 | 28%* | 17 | 3631 | 36107 | 728, | 32 | 71 43 15 M14x1.5 15 17
160 56 53 | 177 | 144 | 180 | 327%™ | 20 | 4033 | 40%% | 805, | 38 | 785 | 42 18 M16x 1.5 15 20
(mm)
Bore size Without rod boot With rod boot
K | KA L MM N P RR
(mm) . 5 H z 2z e f h ¢ 21 | zza
125 15 | 27 | 65 |M30x15| 305 | 1/2 98 | 35 | 29 | 110 | 273 | 302 | 75 | 40 | 133 [1/5Stroke| 296 | 325
140 15 | 27 | 75 |M30x15| 305 | 1/2 98 | 40 | 32 | 110 | 283 | 315 | 75 | 40 | 133 [1/5Stroke| 306 | 338
160 17 | 34 | 80 |M36x15| 345 | 3/4 | 106 | 45 | 36 | 120 | 306 | 342 | 75 | 40 | 141 |1/5Stroke| 327 | 363

* The minimum stroke with rod boot is 30 mm or more.
## For auto switch mounting position and its mounting height, refer to page 234.
=+ Refer to “Minimum Stroke for Auto Switch Mounting” on page 235.

231



CS2Y series

Dimensions

Center trunnion: CS2YT

With rod boot

Z + 1/2 x Stroke

Width across flats KA G P G Port WV
- i 2x i ™~ 4xd [T T Cushion valve
Z1 + ¢+ 1/2 x Stroke - W
1 \ @ e t g
< E
|| N N\ EN s
ol | . Lol w QI o ! o >
s [ Q| ®, = f f 7 -
e 7
= Y |
AL
¢ | f -
) F |.N N
h+¢ " " BLLN oc
ZZ1 + ¢ + Stroke - 0B
H S + Stroke M X
ZZ + Stroke TZ
(mm)
B‘z:ﬁms')ze A | AL |DB|OC| D | E F | G V | W | K |KA| M MM N
125 50 47 143 115 32 71 43 15 M14x 1.5 15 17 15 27 13 M30 x 1.5 30.5
140 50 47 157 128 32 71 43 15 M14x 1.5 15 17 15 27 13 M30x 1.5 30.5
160 56 53 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 15 M36 x 1.5 34.5
(mm)
Bore size Without rod boot With rod boot
P R S TD. TT X TY TZ
(mm) 8 H]z [z ]|e [t [nhn ¢ z1 | zz1
125 12 1 98 32060 50 170 164 234 110 159 221 75 40 133 1/5 Stroke 182 244
140 1/2 1.5 98 3656 55 190 184 | 262 110 159 | 221 75 40 133 1/5 Stroke 182 | 244
160 3/4 1.5 106 | 4000 60 212 | 204 | 292 120 173 | 241 75 40 141 1/5 Stroke 194 | 262

232

# The minimum stroke with rod boot is 30 mm or more for 8125, 140 and 35 mm or more for 8160.
For auto switch mounting position and its mounting height, refer to page 234.
Refer to “Minimum Stroke for Auto Switch Mounting” on page 235.



CS2Y Sseries

Dimensions of Accessories

1 Type Single Knuckle Joint*

A2
oNDH10 MM At

T “J

Knuckle Pin/Clevis Pin

L
. Material: Cast iron Material: Carbon steel
(mm) (mm)
3 Applicable Applicable Applicable
Part no.| boresize| A1 | Az | E1 | L1 MM NDn10 NX  (RRi| Us Part no.| bore size Das L|L|m mn”ﬂw pn’
(mm) (mm) frougt) - split pin
I-12A| 125 | 8 54|46 |100|M30 x 1.5| 25°3% | 3231 |27]33 IY-12| 125 | 2535%% [795/695| 5 | 4 |04x40
I-14A| 140 | 8 |54 |48|105/M30x 1.5| 28°3%¢ | 36703 |30|39 1Y-14| 140 | 285%% [865/765| 5 | 4 |04 x40
1-16A| 160 | 8 |60 |55 |110|M36 x 1.5| 3273 4053|3439 1Y-16| 160 | 320% |945(845| 5 | 4 |04x40

Y Type Double Knuckle Joint*

* Split pins are included.

Rod End Nut

oND hole H10 MM A
Shaft &9 f NI g
Tﬁ ] 9
Sl ] s
= ) : B
u, Material: Cast iron
L (mm) Material: Rolled steel
Appiicable (mm)
. boresize| A1 | E1 [ La | MM ND#1o NX NZ |RRi| Ut -
) Partno.|teee| d | H | B |c|D
125 | 8 |46 |100|M30x1.5| 2573° | 3283 | 643} |27 |42 | (mm)
140 | 8 |48 |105|M30x 1.5| 28°6°*| 36167 | 72355 |30|47 NT-12 | 125,140 M30x 1.5| 18 | 46 |53.1| 44
160 | 8 |55|110|M36x 1.5| 32°%' | 40157 | 8055 |34|46 NT-16 | 160 |[M36x 1.5/ 21 | 55 [63.5| 53

« Use a single knuckle joint or a double knuckle joint individually.
(Screw it entirely over the rod end threads and tighten it.)
« Extend the dimensions of A, H. when using a single/double knuckle joint together with a rod end nut.
(To extend dimensions A, H, refer to the below table, and specify the product as made-to-order -XAQ.)
# A pin and split pins are included with the double knuckled joint.

@ “Made to Order” with rod end bracket (-XC86) is available when ordering cylinders and
accessories together. Refer to page 1621 for details.

Single/Double Knuckle Joint

H
A a

—H
=S

@)
-/

\
1

=¢
L1 -
H1
A, H Dimensions when Mounting a
(mm) Single/Double Knuckle Joint together
Symbol Applicable knuckle joint part number with a Rod End Nut (mm)
Bore H A a L1 Hi - F
size (mm) I type single knuckle | Y type double knuckle Bore size (mm) A H
125 110 50 3.5 100 156.5 I-12A Y-12A 125 65 125
140 110 50 3.5 105 | 161.5 I-14A Y-14A 140 65 125
160 120 56 3.5 110 | 170.5 I-16A Y-16A 160 76 140

233



CS2Y series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Band mounting>

D-A30
D-G3/K3

<Tie-rod mounting>
D-M9CI/MOCIV
D-M9OIW/M9CIWV
D-M9CJA/M9LIAV

D-Z701/Z280
D-Y5901/Y69LI/Y7P/Y7PV
D-Y7OW/Y70O0WV

<Applicab\e cable O.D> D-A9C1/A9C1V D-Y7BA
G1/2\26.8 to ©9.6
A__49 S A Auto switch ~Hs
=) =)
—=1] . G o
=1 j& =0 VS
=Z e =2 S
36 s s
Auto switch
D-A44 (Ag%li?am; gable o.o) D-A50/A60]
G1/2\06.8 to 09.
A__345 A_33 Auto switch ~Hs
= S B H =
o —
=l 5 —= sl
I_HLL T Ui:l_fn \_L\éu\f \ =
= =S = il
t i C—————————1"
36 I 5
Auto switch * The indicator light faces
the inside.
D-F501/J59/D-FSNT D-P3DWA
D-F5BA/F59F
D-F500W/J59W
A% Auto switch =Hs i’j: Auto switch =Hs_
B K 4] £ Jmu‘ i EJ‘V
— Rl r= ' —l 5 !
Ex
B B
Auto Switch Proper Mounting Position (mm)
Auto switch| D-MQL] D-Z70)/Z80 | D-A50 D-F50W
model| p-MoCIV D-Y5C)/Y6L] | D-A6L] D-J59W
D-M9CIW D-A90 D-Y7P/Y7PV| D-A30 D-F5BA
D-M9OWV | D-A9CIV |D-YZOW D-Asa | D-ASSW | ppsp DFECHINN R SDWA
D-M9CIA D-Y7OWV D-G39 D-J59
D-MSLIAV D-Y7BA D-K39 D-F59F
Bore size A B A B A B A B A B A B A B A B
125 13 12 9 8 6.5 55 3 2 7 6 9.5 8.5 145 | 185 | 85 7.5
140 13 12 9 8 6.5 5.5 3 2 7 6 9.5 8.5 145 | 135 | 85 7.5
160 13 12 9 8 6.5 5.5 3 2 7 6 9.5 85 | 145 | 135 | 85 7.5
« Provided as guidelines for auto switch proper mounting position (detection at stroke end).
Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-Z701/Z280 D-F501
model| D-M9CI D-Y50/Y60 D-J59
D-M9COW | D-M9OV  |D-Y7P D-A30 D-A50 D-F50O0W
D-M9CJA | D-M9OWV |D-Y7PV D-G39 D-A44 D-A60] D-J59W D-P3DWA
D-A90] D-M9UAV |D-Y7OW D-K39 D-A59W D-F5BA
D-A9CV D-Y7OWV D-F59F
D-Y7BA D-F5NT
Bore size Hs Ht Hs Ht Hs Ht Hs Hs Ht Hs Ht Hs Ht
125 69 69.5 | 71.5 | 69.5 69 69.5 116 75.5 | 69.5 | 745 | 70 76 69.5
140 76 76 775 | 76 76 76 124 81 76.5 | 80 76.5 82 76
160 85 85 86 85 85 85 134.5 144.5 89 87.5 | 88 87.5 91 85

234



Auto Switch Mounting CSZY Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

With n pcs.

(n=2,4,6,8-)Note1)

(n=4,8,12, 16-- )Nmm

(n=4,8,12, 16 )NcMi

Auto switch NI Er 66 avie STiEes Mounting brackets other Center trunnion
model than center trunnion 2125 2140 2160
With 2 pes. (Different surfaces,
D-M9C] Same surface), With 1 pc. 15 105 110 15

o (n-2) (n-4) 4) n-4) 4) (n—4)

D-M9CIW With n pes. 15+40 % 105 + 40 110 + 40 115 +40——
(n=2,4,86,8-)Note 1) (n=4,8,12,16- )the 2) (n=4,8,12,16- )Ncle?i (n=4,8, 12, 16--) Note 2)
With 2 pes. (Different surfaces,

o Same surface), With 1 pc. 10 80 85 90
SHAEONY (n-2) (n-4) (n-4) (n-4)
D-MOCIWV With n pes. 10 +30 05 80 +30 5 85+30 "5 90 +305

(n=2,4,86,8-)Note 1) (n=4,8,12, 16-..) Note 2) (n=4,8,12, 16 Note 2) (n=4,8,12, 16 Note 2)
With 2 pes. (Different surfaces,
PR Same surface), With 1 pc. 20 15 120
a (n-2) (n-4) 4) (n—4)
With n pes. 20 +40— 115 + 40 120 +40 —5
(n=2,4,6,8-)Note 1) (n=4,8,12,16- )the 2) (n=4,8,12, 16-..) Note 2)
With 2 pes. (Different surfaces,
PR Same surface), With 1 pc. 15 90 9%
H (n-2) (n-4) (n-4)
With n ps. 15+30 05~ 90 +30 5 95 +30 5
(n=2,4,6,8-)Note) | (n=4,8,12,16..)Note?) (n=4,8,12,16.--) Note )
With 2 pes. (Different surfaces,
P Same surface), With 1 pc. 15 100 105 110
- (n-2) (n-4) 4) (n-4) 4) (n—4)
With n pes. 15+40 100 + 40 105 + 40 110 + 40—
(n=2,4,6,8-)Note) | (n=4,8,12, 16 )NwE 2 | (n=4,8,12, 16 )NmZi (n=4,8,12, 16...) Note2)
With 2 pes. (Different surfaces,
Py Same surface), With 1 pc. 10 75 80 85
- (n-2) (n—4) (n—4) (n-4) 4)
With n ps. 10 +30 05 75+30 5 80 +30 "5 85+ 30
(n=2,4,6,8-)Noe) | (n=4,8,12,16.)Note?) | (n=4,8,12,16.)Note? | (n=4,8, 12, 15 ) Note 2)
D-A5/A6L] | Wi i
ASSV With 2 pes. (DlﬂerenF surfaces, 25 125 135
D-F5( 1/J59 Same surface), With 1 pc.
D-F5[ ] = = -
D-J5oW With n pes. 25+ 55132 125+ 55124 135+ 55 19
D-FSOF (Same surface) (n=2,4,6,8-)Note1) (n=4,8,12, 16-- )the 2) (n=4,8,12,16.--) Note )
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 35 145 185
R With n pes. 35+55 052 145 455 124 155 + 55 129
(Same surface) (N=2,4,6,8-)Noen | (n=4,8 12, 16- )NmE 2 (n=4,8, 12, 16--) Note2)
< ¢| Different surfaces 35 110
& Same surface 100
D-A30] 21 o _ 110+ 30 (n-2)
D-G39 g Different surfaces 35+30(n-2) (n=2, 4,6, 8--) Note 1)
D-K39 < 110+ 100 (n - 2)
g Same surface 100 + 100 (n - 2) (n=2, 4,6, 8:) Nole 1)
With 1 pc. 15 110
£ ¢| Different surfaces 35 110
=& Same surface 55
g B 110 +30 (n-2)
D-A44 a Different surfaces 35+30(n-2) (n=2, 4,6, 8.) Note 1)
< - 110 + 50 (n—2)
S Same surface 55+55(n-2) (n=2, 4,6, 8--) Note 1)
With 1 pc. 15 110
D-Z7(] With 2 pes. (Different surfaces,
g%gglj Same surface), With 1 pc. 15 105 110 15

B (n-2) (n-4) 4) (n-4) 4) (n-4)
D-Y7P With n pes. 15+40 =~ 105 + 40 110 + 40 115 +40 052
D-Y7OW (N=2,4,6,8-)Note!) | (n=4,8 12, 16- )No'e 2 | (n=4,8,12, 16- )N01e2i (n=4,8,12,16--) Note2)

With 2 pes. (Different surfaces,
g-zsg%‘ Same surface), With 1 pe. 10 90 95 100
- n-2) (n-4) (n-4) (n-4) 4)
D-Y7OWV With n pes. 10 +30 05~ 90 +30 5 95 +30 5 100 + 30
(n=2,4,6,8:.)Note) (n=4,8,12, 16-..)Note 2) (n=4,8,12, 16...) Note 2) (n=4,8,12,16- )NoleZ)
With 2 pes. (Different surfaces,
PR Same surface), With 1 pc. 20 15 120 125
- (n-2) ( 4) (n-4) 4) (n—-4)
With n pes. 20+45°— 115 + 45 120 + 45 125+ 45—
(N=2,4,6,8.)Note 1) (n=4,8,12, 16- )Nole 2) (n=4,8,12,16- )NcleZi (n=4,8,12,16---) Note2)
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 20 105 110 15
RN 20+50 02 105 + 50 174 110450 174 115+ 50 074

(n=4,8,12, 16...) Note 2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

235



CS2Y series

Operating Range Auto Switch Mounting Brackets/Part No.
—————— —
(mm)
§ Bore size § Bore size (mm)

Auto switch model 125 140 160 Auto switch model 2125 2140 2160
D-M9C/M9CIV D-M9LC/M9IV
D-M9CIW/MOCIWV 6 6.5 6.5 D-M9OCIW/M9CIWV . : .
D-M9TJA/MOTIAV D-MOCIA/MOCIAV BS5-125 BS5-125 BS5-160
D-A9LVA9LIV 12 [ 125 [ 115 D:ASE/AITY

= ' : D-A5L/A60]
D-Z7/Z80 14 | 145 [ 13 D-AB59W
D-A3[1/A44 D-F5[1/J59
D-A5C/A6L] 1010 )10 D-F5NT BT-12 BT-12 BT-16

-, D-F5(JW/J59W
D-A59W 17 17 17 D-F5BA/F59F
D-Y59C1/Y69[] -
D-Y7P/Y7PV 12 13 - g.églgj/KA;: BS1-125 BS1-140 BS1-160
D-Y7OW/Y7OOWV
D-Y7BA D-Z701/Z80

D-Y59L1/Y69[]

D-F5C1/J59/F5(1W D-Y7P/Y7PV BS4-125 BS4-125 BS4-160
D-J59W/F5BA 5 5 5.5 D-Y7OW/Y7CIWV
D-F5NT/F59F D-Y7BA
D-G39/K39 11 1 10 D-P3DWA BS7-125S BS7-125S BS7-160S
D-P3DWA 7 7 7 [Stainless Steel Mounting Screw]

« Values which include hysteresis are for guideline The following stainless steel mounting screw kit (including set screws) is available. Use it in
purposes only, they are not a guarantee accordance with the operating environment. (Since the auto switch mounting bracket is not
(assuming approximately +30% dispersion) and included, order it separately.)
may change substantially depending on the BBA1: For D-A5/A6/F5/J5 types
ambient environment. The above stainless steel screws are used when a cylinder is shipped with the D-F5BA auto

switch. When only the auto switch is shipped independently, the BBA1 is attached.

Note) When using the D-M9JA/M9OLIAV or Y7BA, do not use the steel set screws which are
included with the auto switch mounting brackets above (BS5-000, BS4-000). Order a
stainless steel screw kit (BBA1) separately, and use the M4 x 8L stainless steel set screws
included in the BBA1.

Note) Refer to page 1447. for details on the BBA1.

= The figure shows the mounting example for the
D-A90I(V)/MOLI(V)/MITIW(V)/MITIA(V) types.

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. !
: Refer to pages 1341 to 1435 for the detailed specifications. :
1 Type Model Electrical entry Features 1
D-AgoVv . Without indicator light
1 Grommet (Perpendicular) 1
- S |
1 = - 1
Reed D-A53/A56 . "
1 D-AGT Grommet (In-line)
1 . Without indicator light 1
I D-Z80 I
I D-F59/F5P/J59 _ I
I D-Y59A/Y59B/Y7P I
1 D-FSOW/FSPWNSOW Grommet (In-line) 2-color indicator 1
1 D-YZNW/Y7PW/Y7BW 1
1 D-F5BA/Y7BA Water resistant (2-color indicator) 1
1 Solid state D-F5NT With timer 1
1 D-MINV/M9OPV/M9BV _ 1
1 D-Y69A/Y69B/Y7PV 1
1 D-MINWV/MIPWV/M9BWV Grommet (Perpendicular) 2-color indicator 1
1 D-Y7ZNWV/Y7PWV/Y7BWV 1
1 D-MONAV/M9PAV/M9BAV Water resistant (2-color indicator) 1
1 * With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1410 and 1411. 1
1 * Normally closed (NC = b contact) solid state auto switches (D-M9OIE(V)/Y7G/Y7H) are also available. For details, refer to pages 1360 and 1362. 1
b oon o e e e e e e e e e e e e e R e e R e e R e e e e e e e e e e e o e



CS2Y Series
A Specific Product Precautions

Be sure to read this before handling the products. Refer to page 9 for safety
instructions and pages 10 to 19 for actuator and auto switch precautions.

\ Disassembly/Replacement

/A Caution

1. Do not replace the bushing.

As the bushing is press-fit, replace the cover assembly when
the bushing must be replaced.

\ Operating Precautions \

AWarmng

. Do not use the cylinder as a shock absorber.
Using the cylinder as a shock absorber may cause damage.

N

. Do not open the cushion valve beyond the stopper.
As a retaining mechanism for the cushion valve, retaining ring
is installed, and the cushion valve should not be opened beyond
that point.

If not operated in accordance with the above precautions, the
cushion valve may be ejected from the cover when air pressure
is supplied.

To adjust the cushion valve, use the JIS B 4648 hexagon wrench
key 4 (width across flats of cushion valve: 4).

2. When a seal is replaced, apply grease to the new seal
before it is assembled.
If the cylinder is put into operation without applying grease to
the seal, it could cause the seal to wear significantly, leading
to premature air leakage.

3. Do not disassemble the trunnion type cylinder
because the mounting precision is required.
The trunnion type cylinder may lose dimensional accuracy and
malfunction when it is disassembled and reassembled because
the axial center of the trunnion and that of the cylinder will not
be aligned easily.

3. Use the air cushion at the end of cylinder stroke.

ACautlon

. Do not use a pneumatic type as an air-hydro cylinder.
It can cause oil leak.

N

. Do not rotate the piston rod when the rod boot is
fixed.
Before rotating the piston rod, loosen the band to avoid twisting
the rod boot.

W

. Install the rod boot with the breathing hole facing
downwards or in a direction suitable to prevent dust,
moisture etc. from entering easily into the rod boot.

-y

. Regarding the installation of a knuckle joint
Please contact SMC if a knuckle joint must be installed on the
piston rod by using the rod end nut.

o

. Regarding the screw-in of fittings when piping
When ports and fittings are screwed in, tighten them with the
proper tightening torque below.

Bore size [mm] Connecting thread nominal size | Proper ti ing torque N-m
125, 140 1/2
160 34 281030

[}

. Do not deform cushion rings when removing and
assembling.
Cushion rings are press molded products. If a cushion ring
bumps with something when removing and assembling, the air
cushion may not function properly due to cushion ring
deformation.

~

. Do not place tape or other objects onto the painted
surface of the unit.
The paint of the CS cylinder is dried naturally, so it may peel off
if tape or another object is placed onto it.

237



Smooth Cylinder

CQSY Sseries

212, 016, 620, 025

How to Order
BN casy -g
20-30D

With auto switch o] e £3Y[=] -[M9BW

With auto switch Number of auto
(Built-in magnet) " " switches
ounting Nil | 2pcs
B | Through-hole/Both ends tapped S 1ppc‘,
L Foot Note) n “n’ pcs
LC Compact foot E e —
F Rod flange Auto switch
g fleac flande [ Nil_[ Without auto switch |
louble clevis .
+ For applicable auto switches,
* Mounting bracket is shipped together with refer to the table below.
the product, (but not assembled).
Bore size Rod end thread
12 [ 12mm ‘ Nil ‘ Standard (Female rod end) ‘
16 | 16 mm ‘ M ‘ Male rod end ‘
20 | 20 mm
25 | 25 mm Cushion
Cylinder stroke (mm) Rubber bumper
Refer to “Standard Strokes” Action
on page 239. . .
[D [ Double acting Built-in Magnet Cylinder Model
. a built-in magnet cylinder without an
Body option If a built gnet cylind thout
- auto switch is required, there is no need
[ Nil ] i Standard ‘ to enter the symbol for the auto switch.
|__F__ | with boss on head end | (Example) CDQSYL25-30DC

Applicable Auto Switches/Refer to pages 1341 to 1435 for further information on auto switches.

- 5 e Load voltage Auto switch model Lead wire (m) 5 ired
. . ectrical |5 iring re-wire .
Type Special function g . . 0.5 1]13|5 Applicable load
entry £ (Output) DC AC |Perpendicular | In-line Nyl Ol@ connector
3-wire (NPN) MONV M9N (] ® e O O -
s — Bwire (PNP) sv.12v MOPV | MoP | e |e|e|o| o |
% 2-wire 12V M9BV M9B [ ] ® e O o —
) . o 3-wire (NPN) MONWYV | MONW [ ] ® e O o -
%5 | Diagnostic indication o 5V, 12V IC circuit
= (2-color indicator) Grommet | 8 3-wire fPNP) 24V _ M9PWV | MOPW [ ] ® e | O O Relay,
o > 2-wire 12V M9BWV M9BW| @ |e@|® | O [¢) — PLC
2 3-wire (NPN) MONAV*'[MONA*| O |O|@[O [6)
) V,12Vv - IC circuit
B | ey 3-wire (PNP) 5V, M9PAV [M9PA*| O |o|e|o| o o
3 2-wire 12V M9BAV*!' [M9BA*!| O cO|@|O @] _
R A 2-wire (Non-polar) — — PIDWA*| @ |—|@ | @ O
g g poie || sy — | A%V | A% | © |e|e|®| O |Ccrcut| —
E -5 @ | (NPN equivalent)
8 H —_ Grommet | >
xgo LL o oire 24V 12v 100V | A93V A93 [ ] [ AK 3K ] O*2 — | Relay,
H No 100Vorless) A90V A90 ] o e |0 Ox2 IC circuit| PLC
«1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
#2 The load voltage used is 24 VDC.
= Lead wire length symbols: 0.5 m « Nil (Example) MONW * Auto switches marked with “O” are produced upon receipt of order.
im +M  (Example) MONWM ## The D-P3DWO is only compatible with 625.
3m -L  (Example) MONWL It is mounted away from the port side to avoid interference with fittings.
5m (Example) MONWZ

= Since there are other applicable auto switches than listed, refer to page 245 for details.

= For details about auto switches with pre-wired connector, refer to pages 1410 and 1411.

= Auto switches are shipped together, (but not assembled).

Note) The D-A90IV/M9IV/MOCIWV/MOLIAV auto switches may not be mounted on the port side depending on the cylinder stroke or the fitting size of piping.

238



Symbol
Rubber bumper

Replacement Parts/Seal Kit

Smooth Cylinder CQSY Series

Specifications
Bore size (mm) 12 16 [ 20 [ 25
Type Pneumatic (Non-lube)
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and
fluid temperature

Without auto switch: —10°C to 70°C

With auto switch: ~10°C to 60°C (O eezing)

Cushion

Rubber bumper

Rod end thread

Female thread

Stroke length tolerance

+1.0 mm Note)
0

Piston speed

5 to 500 mm/s

Allowable | rate

0.5 L/min (ANR) or less

Note) Stroke length tolerance does not include the amount of bumper change.

Minimum Operating Pressure

Bore size .
(mm) Kit no. Contents
12 CQSY12-PS | pigion seal 1 pc.
16 CQSY16-PS | Rod seal 1pc.
20 CQSY20-PS | Tube gasket 1 pc.
25 CQSY25-ps | Grease pack (10 g) 1 pc.

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

Accessorx

= For details about the single knuckle joint,
double knuckle joint, knuckle pin, and rod end
nut, refer to page 257.

Unit: MPa
\ Bore size (mm) [ 12 [ 16 [ 20 25
‘ Minimum operating pressure ‘ 0.03 ‘ 0.02 ‘
Standard Strokes
—————————
Bore size (mm) Standard stroke (mm)
12,16 5,10, 15, 20, 25, 30
20, 25 5, 10, 15, 20, 25, 30, 35, 40, 45, 50
Theoretical Output
[Tl "™ yuen

Bore size Rod size Operating Piston area Operating pressure (MPa)
(mm) (mm) direction (mm?) 0.3 05 07
IN 84.8 25 42 59

12 6
ouT 113 34 57 79
IN 151 45 75 106

16 8
ouT 201 60 101 141

IN 2 71 1 1

20 10 36 8 65
ouT 314 94 157 220
IN 378 113 189 264

25 12
ouT 491 147 245 344

Intermediate Stroke

Method Installation of spacer on standard stroke body.
Model no. Refer to page 238 for standard model no.
Intermediate strokes at 1 mm intervals are available by
Method N ¥ .
using spacers with standard stroke cylinders.
SN Bore size (mm) Stroke range (mm)
stroke 9
Stroke range 12,16 1t029
20, 25 11049
Part no.: CQSYB25-47DC
CQSYB25-50DC with 3 mm width spacer inside.
Example B dimension is 77.5 mm.

Calculation:@25, B dimension 27.5 mm (without auto switch)
27.5 (B dimension) + 50 (st) = 77.5 (mm)

239



CQSY series

For standard strokes

Weights/Without Auto Switch - © Calculation: (Example) CQSYD20-20DCM
Bore size Cylinder stroke (mm) « Basic weight: CQSYB20-20DC ---
(mm) 5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50  Additional weight: Male rod end
12 37 43 50 57 63 70 — — — — : Double clevis -
16 49 57 66 74 83 92 — — — —
20 75 88 101 114 | 127 | 140 | 153 | 165 | 178 | 191
25 109 125 140 156 172 188 | 204 | 220 | 236 | 252
Weights/With Auto Switch (Built-in magnet) (9)
Bore size Cylinder stroke (mm)
(mm) 5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50
12 45 51 58 65 71 78 —_ —_ —_
16 59 67 76 85 94 103 — — — —
20 106 119 132 145 157 170 183 | 195 | 208 221
25 151 167 | 183 199 | 215 | 231 246 | 262 | 278 | 294
Additional Weights (9)
Bore size (mm) 12 16 20 25
[ Malethread | 1.5 3 6 12
Male rod end Nut 1 P) 2 P
With boss on head end 0.7 13 2 3
Foot (Including mounting bolt) 55 65 159 181
Compact foot (Including mounting bolt) 32 40 97 116
Rod flange (Including mounting bolt) 58 70 143 180
Head flange (Including mounting bolt) 56 66 137 171
Double clevis (Including pin, retaining ring, mounting bolt) 34 40 92 127

Mounting Bolt for CQSYB without Auto Switch

Mounting method: Mounting bolt for through-hole Cylinder model Cc D | Mounting bolt part no. Cylinder model (9 D | Mounting bolt part no.

mounting type of the CQSYB is CQSYB12-5DC 30 | CQ-M3X30L CQSYB20-25DC 50 | CQ-M5X50L

Fefor o the fol _avafulabledas_ an optiov:‘. -10DC 35 X35L -30DC 55 X55L

efer to the following for oraering proce_ ures. '15Dc 40 X40L -3500 60 X60L

Order the actual number of bolts that will be used. 20DC 6.5 25 X45L 40DC 6.5 65 X65L

Example) CQ-M3X30L 4 pcs. -25DC 50 X50L -45DC 70 X70L

-30DC 55 X55L -50DC 75 X75L

CQSYB16-5DC 30 | CQ-M3X30L CQSYB25-5DC 35 | CQ-M5X35L

-10DC 35 X35L -10DC 40 X40L

-15DC 6.5 40 X40L -15DC 45 X45L

-20DC : 45 X45L -20DC 50 X50L

-25DC 50 X50L -25DC 85 55 X55L

-30DC 55 X55L -30DC | 60 X60L

CQSYB20-5DC 30 | CQ-M5X30L -35DC 65 X65L

Note) When mounting a cylinder with -10DC 65 35 X35L -40DC 70 X70L

through-hole, be sure to use the -15DC : 40 X40L -45DC 75 X75L

attached plain washer. -20DC 45 X45L -50DC 80 X80L

Material: Chromium molybdenum steel

Mounting Bolt for CDQSYB with Auto Switch Surface treament: Zine chromated
—

Mounting method: Mounting bolt for through-hole Cylinder model C D | Mounting bolt part no. Cylinder model (9 D | Mounting bot part no.

mounting type of the CDQSYB CDQSYB12-5DC 35 | CQ-M3X35L CDQSYB20-25DC 60 | CQ-M5X60L

Refer to the foIIowii\sgélf‘/o?iﬁzleeriansgiﬁozpet;ﬂ:es aCi 0 2 oS 55 R S

© >aures. -15DC 45 X45L -35DC 70 X70L

Order the actual number of bolts that will be used. 20DC 6.5 50 X50L 20DC 6.5 75 X75L

Example) CQ-M3X35L 4 pcs. -25DC 55 X55L -45DC 80 X80L

-30DC 60 X60L -50DC 85 X85L

CDQSYB16-5DC 35 | CQ-M3X35L CDQSYB25-5DC 45 | CQ-M5X45L

E Mounting bolt -10DC 40 X40L -10DC 50 X50L

i -15DC 65 |48 X45L -15DC 55 X55L

i -20DC| [ 50 X50L -20DC 60 X60L

LC -25DC 55 X55L -25DC 85 65 X65L

-30DC 60 X60L -30DC| 70 X70L

D CDQSYB20-5DC 40 | CQ-M5X40L -35DC 75 X75L

Note) When mounting a cylinder with -10DC 6.5 |45 X451 -40DC 80 X80L

through-hole, be sure to use the -15DC | 50 X50L -45DC 85 X85L

attached plain washer. -20DC 55 X55L -50DC 90 X90L

240

Material: Chromium molybdenum steel
Surface treatment: Zinc chromated



Smooth Cylinder CQSY Series

Dimensions: g12 to 925
Standard (Through-hole/Both ends tapped): CQSYB/CDQSYB

o012
216 2x4x00B H thread effective depth C 2xM5x08 Auto switch
counterbore depth RB /24 x OA effective depth RA Note) Lead wire min.
/ bending radius 10
Q I_li
HE4 ST -
o S =
3
<
S I = [ =
a ___\( I =z
T B AL 2
21 i B B %
e
B — - \
Flat washer )
L B + Stroke
| A + Stroke
220, 225
Male rod end With boss on head end
Width across flats B1
MM I it
IS S I G =" [ /) @
=
=
) B @0 T T 3 ©
]
C1 G
X
L1
Male Rod End With Boss on Head End (mm)
Bore size (mm) | B1 | C1 | H1 | L1 MM X Bore size (mm)| G Th9
12 8 | 9] 4 |14|M5x08 |10.5 12 1.5 150,043
16 10 |10 | 5 |155| M6x1.0 | 12 16 15 205,052
20 13 (12| 5 [185| M8x1.25 | 14 20 2 130043
25 17 | 15| 6 |225]|M10x1.25|17.5 25 2 150,043
Note) The product with boss on head end is
applicable to only the standard stroke.
Standard
Bore size | Stroke range | Withoutauto switch | With auto switch
(mm) (mm) A B A B Cc D E F H | K L M N OA OB| Q |RA|RB | T
12 510 30 255| 22 |305| 27 | 6 6 25 | 5 |M3x05| 32 | 5 |35 |155]| 35 |[M4x07|65|75| 7 4 105
16 510 30 255| 22 |305| 27 | 8 8 29 | 5 |M4x0.7| 38 | 6 | 35|20 | 35 |M4x07|65 |75]| 7 4 |05
20 5to 50 29 |24.5| 39 |345| 7 10 | 36 | 55 |[M5x0.8| 47 | 8 | 45 |255|54 [M6x1.0| 9 8 10| 7 1
25 5to 50 325|275|425|375| 12 | 12 | 40 | 55 |[M6x1.0] 52 | 10 5 28 | 54 (M6x1.0| 9 9 10| 7 1

Note) Threaded through-hole is used for the standard of 820 with 5 to 10 mm strokes and @25 with a 5 mm stroke.

241



CQSY series

Dimensions: 212 to 025

Foot: CQSYL/CDQSYL

L B + Stroke Special cap bolt
i i j,
e
o e
i
! T— =
X F\ 4xoLD v_ 5 F\T x|l LG
Lz LS + Stroke
A + Stroke

Male rod end

Compact foot: CQSYLC/CDQSYLC

Foot

Bore size | Stroke range | Without auto switch With auto switch
(mm) (mm) A B LS A B LS
12 5 to 30 403 | 22 | 10 [ 453 ] 27 | 15
16 5 to 30 403 | 22 | 10 [ 453 ] 27 | 15
20 5 to 50 462 | 245 | 125 | 562 | 345 | 225
25 5 to 50 49.7 | 275 | 125 [ 59.7 | 375 | 225

B‘:'ne"ﬁ')ze L |Li|[LD|LG|LH|LT|LX|LY|LZ|X | Y
12 135/ 24 [45]28] 17 | 2 | 34 [295]/ 44 | 8 [ 45
16 135[255/ 4528 19| 2 |38 [335/ 48] 8 | 5
20 145(285/ 66| 4 |24 |32 48 |42 |62 [9.2]58
25 15 [325]6.6 | 4 | 26 [32] 52 | 46 | 66 |10.7] 5.8

Compact Foot

Foot bracket material: Carbon steel
Surface treatment: Nickel plating

A + Stroke Bore size | Stroke range | Without auto switch With auto switch
L__ B.Stoke (mm) (mm) A B LS A B LS
, , 12 510 30 49.6 22 40.6 | 54.6 27 45.6
B i Special cap bolt 16 510 30 50.6 22 40.6 | 55.6 27 45.6
—— 20 51050 | 625 | 24.5 | 50.9 | 725 | 34.5 | 60.9
: l_-.l { i 25 5to 50 65.5 | 27.5 | 53.9 | 75,5 | 37.5 | 63.9
| x eatn ] . B‘i'rﬁni')ze L | L |LD|LH|LT|LX|LY|LZ| X |Y
Lz LS + Stroke 12 135| 24 | 45 | 17 2 |155|295| 25 | 9.3 | 45
16 185|255| 45 | 19 2 20 |335|29 |93 | 5
Male rod end {’ 20 145|285| 6.6 | 24 | 3.2 |[255| 42 | 36 |13.2]| 5.8
H 25 15 |325| 6.6 | 26 | 3.2 | 28 | 46 | 40 [13.2] 5.8
{ Compact foot bracket material: Carbon steel
== Surface treatment: Zinc chromated
L1
Rod flange: CQSYF/CDQSYF Rod Flange
Bore size | Stroke range | Without auto switch | With auto switch
T : S (mm) (mm) A B A B
_@ @ l_l IR 12 5 to 30 355 | 22 | 405 | 27
Q z T 16 5 t0 30 355 | 22 | 405 | 27
L) ﬁl 20 5to 50 39 245 49 34.5
I o LFT 25 5to 50 425 | 275 | 525 | 375
FX 2xal L~ | B+ Stroke -
Bore size
74 A + Stroke i) FD | FT | FV | FX | FZ | L | Lt
12 45 | 55 | 25 45 55 | 135 | 24
Male rod end E 16 45 | 55 | 30 45 55 | 13.5| 25.5
20 6.6 8 39 48 60 | 14.5| 28.5
25 6.6 8 42 52 64 15 | 32.5

Rod end nut’

-y
i =

242

Flange bracket material: Carbon steel

Surface treatment: Nickel plating

* For details about the rod end nut and accessory brackets,

refer to page 257.



Smooth Cylinder CQSY Series

Dimensions: g12 to g25

Head flange: CQSYG/CDQSYG

Head Flange
e Bore size | Stroke range | Without auto switch | With auto switch
i ' '@ @ (mm) (mm) A B A B
 — 2 z 12 510 30 31 | 22 | 36 | 27
. 16 5 to 30 31 22 36 27
[ e M - 20 5 t0 50 37 | 245 | 47 | 345
Ll Bxstoke | LFT FX 2xoFD 25 5t0 50 405 | 27.5 | 50.5 | 37.5
A + Stroke FZ
Male rod end Bcz’nfms')ze FD | FT | FV | FX | FZ | L | Ls
12 45 | 65| 25 | 45 | 55 | 35 | 14
16 45 | 55| 30 | 45 | 55 | 35 | 155
20 66 | 8 | 39 | 48 | 60 | 45 | 185
25 66 | 8 | 42 | 52 | 64 | 5 |225
L “\_Rod end nut* Flange bracket material: Carbon steel
Surface treatment: Nickel plating
Double clevis: CQSYD/CDQSYD Double Clevis
Lp ot Bore size |Stroke range | Without auto switch | With auto switch
‘ ‘ oCD hole H10 (mm) (mm) A | B|CL|A|B]|CL
/ Aois d9 12 51030 |455| 22 |39.5|505| 27 |445
o I 16 5t030 [46.5] 22 [40.5|51.5] 27 [45.5
B r 20 5t050 | 56 [24.5] 47 | 66 |34.5] 57
CT.licy 25 5t050 |62.5|27.5|52.5|72.5|37.5|62.5
L|| B+swoke [ CW]| |RR
£L+ Sioko Benz® | B |co et |cujew|ex|cz| L [ L |RR
12 12| 5 4| 7 [14]5[10]35][14] 6
Male rod end 16 14 | 5 | 4 | 10| 15 |65 12 | 35 |155] 6
E 20 20| 8 | 5 [12] 18] 8 | 16 [45][185] 9
saeit 25 24 [10 | 5 [14 |20 ] 10 ] 20 [ 5 [225] 10
\a Double clevis bracket material: Carbon steel
L rod end nut* Surface treatment: Nickel plating

+ For details about the rod end nut and accessory brackets,
refer to page 257.

243



CQSY series

Simple Joint (CQSY): 012 to 925

Joint/Mounting Bracket (Type A/B) Part Nos.

Bore size Joint Type A TypeB
[mm] mounting bracket | mounting bracket
12 YU-012 YA-012 YB-012
16 YU-016 YA-016 YB-016
20 YU-020 YA-020 YB-020
25 YU-025 YA-025 YB-025
<Ordering>

Joints are not included with type A or B mounting brackets. Order

them separately.

(Example)

Bore size 912 Part no.
@Type A mounting bracket...... YA-012
@Joint..

Allowable Eccentricity [mm]
Bore size [mm] 12 ‘ 16 20 ‘ 25
Eccentricity tolerance +0.5
Axial direction backlash 0.5
Type A Mounting Bracket Type B Mounting Bracket
V] T 2xeD —
1l ! - o
I
~ ~ | e
5 PN > o] ol ==
S A =
s ‘::j I—N¢> &;”}/ == —— \Joint
1 ;7
) Joint B 2xoD through /| |
L E E
B |
Material: Chromium molybdenum steel (Nickel plating) Material: Stainless steel
[mm] [mm]
Boesie | Patno. | B | D | E | F M| T |T Boesie | Patno. | B | D | E |4 |M|T
12 YA-012 8 | 35| 10 3 20 | 25 | 4 12 YB-012 5 | 35| 14 5 17 | 25
16 YA-016 8 3.5 10 3 24 | 25 5 16 YB-016 5 3.5 16 6 20 | 25
20 YA-020 12 | 45 13 5 30 | 35 6 20 YB-020 7 4.5 18 7 |255| 3.5
25 YA-025 | 125| 55 15 5 33 3.5 7 25 YB-025 75 | 55 20 8 28 3.5
Bore size A Bore size "
[mm] Part no. U Vv W | Weight [g] fmm] Part no. T2 Vv W | RS | Weight[g]
12 YA-012 3 |85 30 9 12 YB-012 4 | 86| 25 2 11
16 YA-016 | 3 11 | 34 1 16 YB-016 5 | 11 ] 29 |25 15
20 YA-020 5 |1835] 42 27 20 YB-020 6 |136| 36 3 28
25 YA-025 5 |165]| 45 34 25 YB-025 7 |16.6| 40 | 35 36
Joint
_ H Material: Chromium molybdenum steel (Nickel plating)
(With locking agent) [mm]
] ] Bore size Weight
v T T Part no. UA C di H K L uT
3 1 [mm] ]
[ ] 12 YU-012 9.5 5 6 M3 x 0.5 3 3 2 2
16 YU-016 9.5 7 8 M4 x 0.7 4 3 2 4
uri_ L 20 YU020 | 115 | 6 | 10 | M5x08 | 5 | 4 | 3 | 7
UA Cc di 25 YU-025 12 11 12 M6 x 1.0 6 4.5 3 11

® 243-1



\)



CQSY series
Auto Switch Mounting

Minimum Stroke for Auto Switch Mounting

(mm)

. D-M9OOWV D-M9COIW ote 1)

Number of auto switches D-M9CIV D-A9CIV D-MOCAV D-A90] D-M9TIA D-M9O] D-P3DWA Mete !
With 1 pc. 5 5 10 10 (5) 15 (10) 15
With 2 pes. 5 10 10 10 15 (10) 55 15

Note 1) 925 is only applicable for the D-P3DWAL.
Note 2) The dimensions stated in ( ) shows the minimum stroke for the auto switch mounting when the auto switch does not project from
the end surface of the cylinder body and hinder the lead wire bending space. (Refer to the figure on the right.)
Order auto switches separately.

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

212 216 to 025
Mounting Mounting
a) b) a) b)
D-M9C1V
D-M9CIWV
D-M9CJAV
D-A90IV
w
W
I
Auto Switch Proper Mounting Position (mm)
Auto switch -
model| D-MOC/MOCIW Dmgﬁgéﬂzmwv D-M9UJA D-A9[] D-A9CIV D-P3DWA
Bore size A B w A B | Hs | A B w A B w A B | Hs | A B | Hs
12 10 5 5 | 10 5 | 195 | 10 5 7 6 1 35| 6 1 17 — | = | =
16 9.5 5.5 4.5 9.5 15} 215 9.5 55 6.5 5.5 15 3 55 1.5 19 = = =
20 13 95 | 05| 13 95 |25 | 13 95| 25 | 9 55 | -1 9 55 | 225 | — | — | —
25 14 | 115 | 15|14 |115]27 |14 |[115] 05 | 10 75 | -3 |10 75 | 245 | 95 7 33

Note 1) Adjust the auto switch after confirming the operating condition in the actual setting.
Note 2) The product is shipped out of the factory in installation state “a)”. To change the electrical entry direction of the switch on the head, refer to installation state “b)”.
Note 3) Negative figures for W indicate an auto switch is mounted inward from the edge of the cylinder body.

® 244




Auto Switch Mounting CQS Y Series

Operating Range

(mm)

Bore size
12 | 16 | 20 | 25

Auto switch model

D-M9CI/M9CIV
D-MOCIW/MOCIWV | 3 | 35| 55| 45
D-M9CJA/M9LIAV
D-A9C/A9CIV 6 | 75|10 |10
D-P3DWA — | -] —16
= Values which include hysteresis are for guideline purposes only, they

are not a guarantee (assuming approximately +30% dispersion) and

may change substantially depending on the ambient environment.
e e e e e e e e e e e e e e e e e m === —

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. 1
+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1410 and 1411. 1

L Normally closed (NC = b contact) solid state auto switches (D-M9LJE(V)) are also available. For details, refer to page 1360. 1
U |
e |
1 Be sure to read this before handling the products. 1
1 Refer to page 9 for safety instructions and pages 10 to 19 for actuator and auto switch precautions. 1
-

o o o o o o o e e e e e e e e e e e e e e e e e e e e e Em e e e e e e e e e e e e e

«If the cylinder is used in an application in
which a magnetic material is placed in close
contact around the cylinder as shown in the
figure on the right (including cases in which
even one of the sides is in close contact) the
operation of auto switches could become
unstable.

Magnetic substance
(Iron plate etc.)

Magnetic substance
(Iron plate etc.)

245 ®



Smooth Cylinder

CQ2Y series

232, 040, 850, 63, 380, 2100

BN co2vB
[ With auto switeh [l »]ePA4[=][KP]

With auto switch
(Built-in magnet)

How to Order
-30/D
-130

OH

Mounting

B | Through-hole (Standard)
A | Both ends tapped Bore size &————
L Foot Note) 32 | 32mm

LC Compact foot 40 | 40mm Thread type
F Rod flange 50 | 50 mm Nil Rc
G Head flange 63 | 63mm TN NPT
D Double clevis 80 | 80mm TF G

* Mounting bracket is shipped 100 | 100 mm

together with the product,
(but not assembled).

Cylinder stroke (mm)

OHO

Number of

auto switches
Nil | 2 pcs.
S 1 pc.
n “n” pcs.
Auto switch
[Nl Without auto swich |

+ For applicable auto switches,
refer to the table below.

Auto switch mounting groove

Refer to “Standard Strokes” n
on page 247.
Action Body option 2
Built-in Magnet Cylinder Model [[D [ Double acting | il_[ Standard (Female rod end) |
e - " Male rod end ‘
If a built-in magnet cylinder without an
auto switch is required, there is no need Body option 1
to enter the symbol for the auto switch. [Nl ] Standard Cushion
(Example) CDQ2YL40-50DCZ [_F [Withbossonheadend| [ C | _Rubber bumper
Applicable Auto Switches/Refer to pages 1341 to 1435 for further information on auto switches.
A =3 i Load voltage Auto switch model Lead wire (m) pa— Pl
Type Seecaiinctod entry Eg (OU‘P'-?U DC AC | Pemendicular| In-line (?\"ﬁ) (Ijll) (E) (g) T?\;‘)e connector pTﬂad
3-wire (NPN) 5V, MONV MON ® (/@ O|—| O | . .
5 — Bwire (PNP) 12V MOPV | MoP | e @@ O —| o |co
E 2-wire 12V M9BV MB (© @ @ O|—| O —
-g Diagnostic indication | Swire (NPN) | EE:’:: 152\/\'/ mgngv\\; l\'\::ngv : : : 8 — 8 IC circuit
pliges @ | 3-wire — Relay,
o | (Beolorindiaton ) Grommet | £l T 24V oy~ [yoBwv | MoBW | @ (e e o — o | — PLC
2 Water resistant 3-wire (NPN) 5V, MONAV*!| MONA*' | O |O | @O |—| O C gircuit
=z (2-color indicator) 8-wire (PNP) 12v M9PAV*' | MOPA*' | O |O | @ |O|—| O
3 2-wire 12V M9BAV*!' | M9BA*' | O |O | @ |O|—| O —
Magnetic field resistant (2-color indicator) 2-wire (Non-polar) — — P3SDWA | @ — @ |0 | — O —
vE @ | e (NPN equivalent) | — 5V — A96V A96 o0 0o o — O  |ICcircuit] —
éz — Grommet | > | 2-wite oay |12V | 100V A93V A93 ® 0|0 0 | O — | Relay,
= No 5V,12V[100Vorless) A9OV A90 ® @@ @ | O |(Ccircuit| PLC

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

#2 The load voltage used is 24 VDC.
= Lead wire length symbols: 0.5 m -
im -
3m -
5m -

Nil
L

(Example) MONW

(Example) MONWM
(Example) MONWL
Z (Example) MONWZ

= Since there are other applicable auto switches than listed, refer to page 262 for details.
= For details about auto switches with pre-wired connector, refer to pages 1410 and 1411.

® 246

* Auto switches marked with “O” are produced upon receipt of order.




Symbol
Rubber bumper

Replacement Parts/Seal Kit

Smooth Cylinder CQZY Series

Specifications
Bore size (mm) 32 40 50 | 63 | 80 100
Type Pneumatic (Non-lube)
Fluid Air
Proof pressure 1.05 MPa
i perating pressure 0.7 MPa

Without auto switch: —10°C to 70°C
With auto switch: —10°C to 60°C

Rubber bumper (Standard)

+1.0mm Note)
0

Ambient and

fluid temperature (No freezing)

Cushion

Stroke length tolerance
Piston speed range 5 to 500 mm/s

All ble leak rate 0.5 L/min (ANR) or less
Note) Stroke length tolerance does not include the amount of bumper change.

Minimum Operating Pressure

Unit: MPa
\ Bore size (mm) [ 32 [ 40 [ s0 63 80 | 100
‘ Minimum operating pressure ‘ 0.02 ‘ 0.01 ‘

Standard Strokes

Bore size

(mm) Kit no. Contents

32 CQ2Y32-PS
40 CQ2Y40-PS

Piston seal 1pc.
50 CQ2Y50-PS | Rod seal 1 pe.
63 CQ2Y63-PS | Tube gasket 1 pc.

80 CQ2Y80-ps | Grease pack (10 g) 1pc.
100 CQ2Y100-PS

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

Accessory

« For details about the single knuckle joint,
double knuckle joint, knuckle pin, and rod end
nut, refer to page 257.

« Stainless steel mounting brackets and
accessories are also available.

Refer to page 257 for details.

Bore size (mm) Standard stroke (mm)
32, 40 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
50, 63, 80, 100 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
Theoretical Output
[ —Pour —FN  yun
Bore size Operating Operating pressure (MPa)
(mm) direction 0.3 0.5 0.7
IN 181 302 422
32 ouT 241 402 563
40 IN 317 528 739
ouT 377 628 880
IN 495 825 1155
=S ouT 589 982 1374
IN 841 1402 1962
63 ouT 935 1559 2182
IN 1361 2268 3175
& ouT 1508 2513 3519
IN 2144 3574 5003
100 ouT 2356 3927 5498

Intermediate Stroke

Method Installation of spacer on standard stroke body.
Model no. Refer to page 246 for standard model no.
Intermediate strokes at 1 mm intervals are available by
Method . § .
Standard using spacers with standard stroke cylinders.
stroke Bore size (mm Stroke range (mm
Stroke range re size (mm) ‘ roke range (mm)
3210 100 | 11099
Part no.: CQ2YB50-57DCZ
CQ2YB50-75DCZ with 18 mm width spacer inside.
Example B dimension is 125.5 mm.

Calculation:¢50, B dimension 50.5 mm (without switch)
50.5 (B dimension) + 75 (st) = 125.5 (mm)

247



CQ2Y series

Weights

Weights/Without Auto Switch

@

Bore size Cylinder stroke (mm)
(mm) 5 10 15 20 25 30 35 40 45 50 75 100
32 134 154 174 193 213 233 252 272 291 311 457 556
40 211 232 254 275 297 318 340 361 383 404 577 689
50 — 369 402 435 467 500 533 566 598 632 902 1073
63 — 557 595 633 671 709 747 786 824 862 1189 1386
80 — 983 1043 1104 1164 1224 1284 1345 1405 1465 1985 2281
100 — 1711 1792 1872 1952 2033 2113 2194 2274 2354 3086 3494
Weights/With Auto Switch (Built-in magnet) @
Bore size Cylinder stroke
(mm) 5 10 15 20 25 30 35 40 45 50 75 100
32 191 211 230 250 270 289 309 329 348 368 468 567
40 284 305 327 348 369 391 412 434 455 477 589 701
50 — 480 513 546 579 611 644 677 710 743 915 1087
63 — 710 748 787 825 863 901 939 977 1015 1211 1408
80 — 1229 1289 1350 1410 1470 1530 1591 1651 1711 2008 2305
100 — 2070 2150 2231 2311 2391 2472 2552 2633 2713 3121 3529
Additional Weights (@
Bore size (mm) 32 40 50 63 80 100
Both ends tapped 6 6 6 19 45 45
‘ Male thread 26 27 53 53 120 175
Male rod end
‘ Nut 17 17 32 32 49 116
With boss on head end 5 7 13 25 45 96
Foot (Including mounting bolt) 142 154 243 320 690 1057
Compact foot (Including mounting bolt) 99 114 177 241 501 770
Rod flange (Including mounting bolt) 180 214 373 559 1056 1365
Head flange (Including mounting bolt) 165 198 348 534 1017 1309
Double clevis (Including pin, retaining ring, mounting bolt) 151 196 393 554 1109 1887

Calculation (Example) CQ2YD32-20DCMZ

© Basic weight:

CQ2YB32-20DCZ -
* Additional weight: Both ends tapped
Male rod end
Double clevis

248

Total

393¢g



Smooth Cylinder CQZY Series

Mounting Bolt

Mounting method: Mounting bolt for through-hole E -
mounting type of the CQ2YB is
available as an option.
Refer to the following for ordering procedures. R
Order the actual number of bolts that will be used.

Example) CQ-M5X40L 2 pcs. lc.

Mounting bolt

Mounting Bolt for CQ2YB without Auto Switch

Cylinder model C D | Mounting bolt part no. Cylinder model (o} D | Mounting bolt part no.
CQ2YB32- 5DC 40 | CQ-M5X40L CQ2YB63- 10DC 60 | CQ-M8X60L
- 10DC 45 X45L - 15DC 65 X65L

- 15DC 50 X50L - 20DC 70 X70L

- 20DC 55 X55L - 25DC 75 X75L

- 25DC 60 X60L - 30DC 80 X80L

- 30DC 9 65 X65L - 35DC |145| 85 X85L

- 35DC 70 X70L - 40DC 90 X90L

- 40DC 75 X75L - 45DC 95 X95L

- 45DC 80 X80L - 50DC 100 X100L

- 50DC 85 X85L - 75DC 135 X135L

- 75DC 120 X120L -100DC 160 X160L
-100DC 145 X145L CQ2YB80- 10DC 65 | CQ-M10X65L
CQ2YB40- 5DC 45 | CQ-M5X45L - 15DC 70 X70L
- 10DC 50 X50L - 20DC 75 X75L

- 15DC 55 X55L - 25DC 80 X80L

- 20DC 60 X60L - 30DC 85 X85L

- 25DC 65 Xe5L - 35DC | 15 90 X90L

- 30DC 75 70 X70L - 40DC 95 X95L
-3DC| 75 X75L - 45DC 100 X100L

- 40DC 80 X80L - 50DC 105 X105L

- 45DC 85 X85L - 75DC 140 X140L

- 50DC 90 X90L -100DC 165 X165L

- 75DC 125 X125L CQ2YB100- 10DC 75 | CQ-M10X75L
-100DC 150 X150L - 15DC 80 X80L
CQ2YB50- 10DC 55 | CQ-M6X55L - 20DC 85 X85L
- 15DC 60 X60L - 25DC 90 X90L

- 20DC 65 X65L - 30DC 95 X95L

- 25DC 70 X70L - 35DC | 15.5| 100 X100L

- 30DC 75 X75L - 40DC 105 X105L

- 35DC | 12.5| 80 X80L - 45DC 110 X110L

- 40DC 85 X85L - 50DC 115 X115L

- 45DC 90 X90L - 75DC 150 X150L

- 50DC 95 X95L -100DC 175 X175L

- 75DC 130 X130L Material: Chromium molybdenum steel
-100DC 155 X155L Surface treatment: Zinc chromated

249



CQ2Y series

Mounting Bolt

Mounting method: Mounting bolt for through-hole E -
mounting type of the CQ2YB is
available as an option.
Refer to the following for ordering procedures. R
Order the actual number of bolts that will be used.

Example) CQ-M5X40L 2 pcs. lc.

Mounting bolt

Mounting Bolt for CDQ2YB with Auto Switch (Built-in magnet)

Cylinder model [+ D | Mounting bolt part no. Cylinder model C D | Mounting bolt part no.
CDQ2YB32- 5 50 | CQ-M5X50L CDQ2YB63- 10 70 | CQ-M8X70L
- 10 55 X55L - 15 75 X75L

- 15 60 X60L - 20 80 X80L

- 20 65 X65L - 25 85 X85L

- 25 70 X70L - 30 90 X90L

- 30 9 75 X75L - 35 |145] 95 X95L

- 35 80 X80L - 40 100 X100L

- 40 85 X85L - 45 105 X105L

- 45 90 X90L - 50 110 X110L

- 50 95 X95L - 75 135 X135L

-75 120 X120L -100 160 X160L

-100 145 X145L CDQ2YB80- 10 75 | CQ-M10X75L
CDQ2YB40- 5 55 | CQ-M5X55L - 15 80 X80L
- 10 60 X60L - 20 85 X85L

- 15 65 X65L - 25 90 X90L

- 20 70 X70L - 30 95 X95L

- 25 75 X75L - 35| 15 | 100 X100L

- 30 75 |80 X80L - 40 105 X105L

-35| 85 X85L - 45 110 X110L

- 40 90 X90L - 50 115 X115L

- 45 95 X95L - 75 140 X140L

- 50 100 X100L -100 165 X165L

- 75 125 X125L CDQ2YB100- 10 85 | CQ-M10X85L

-100 150 X150L - 15 90 X90L
CDQ2YB50- 10 65 | CQ-M6X65L - 20 95 X95L
- 15 70 X70L - 25 100 X100L

- 20 75 X75L - 30 105 X105L

-25 80 X80L - 35 |155] 110 X110L

- 30 85 X85L - 40 115 X115L
-35|125| 90 X90L - 45 120 X120L

- 40 95 X95L - 50 125 X125L

- 45 100 X100L -75 150 X150L

- 50 105 X105L -100 175 X175L

- 75 130 X130L Material: Chromium molybdenum steel

-100 155 X155L Surface treatment: Zinc chromated

250



Smooth Cylinder CQZY Series

@32 to 050

Through-hole: CQ2YB/CDQ2YB

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Both ends tapped: CQ2YA/CDQ2YA

CDQ2YA
Oithread R R Both Ends Tapped (mm)
Bore size
(mm) 01 R
32 M6x1.0 | 10
W 40 M6x1.0 | 10
50 M8x1.25 | 14
. 2x P (Re, NPT, G) Auto switch
H thread effective depth € (Port size) Lead wire min. bending radius 10
4 x oN through Q E
8 x 00 counterbore [~ =
= m—=aC
72 7
7 K
N =
] i =
S
LK, L B + Stroke
M A + Stroke
E J
w
With boss on head end
With Boss on Head End (mm)
= Bore size
w— — ] ’7 (i) Th9
Py L 2 32 2130
U \ s 40 28 e
I — 50 353060
L2
) Male rod end
Width across flats B1
MM /
@ VA Male Rod End (mm)
| Bore size
(mm) B1 | C1 | Hi | L MM X
32 22 |20.5| 8 |285| M14x15 (235
40 22 |20.5| 8 |28.5| M14x 1.5 |23.5
G 50 27 | 26 | 11 |33.5| M18x 1.5 |28.5
X
L1
(mm)
Bore size | Stroke range |Wiioutautoswitch | With auto switch
D E F H K L M N P w 4
(mm) (mm) aAlB|Aa[B|° : © ©
5to 50 40 | 33
32 50 | 43 | 13 | 16 | 45 | 7.5 | M8x 125 | 45 | 14 7 34 |55 |9depth7 | 1/8 | 10 |495| 14
75, 100 50 | 43
510 50 46.5|39.5
40 56.5(49.5| 13 | 16 | 52 | 7.5 | M8x1.25 | 5 14 | 7 | 40 | 55 | 9depth7 | 1/8 (125| 57 | 14
75, 100 56.5|49.5
10 to 50 48.5|40.5
50 58.5(50.5| 15 | 20 | 64 |10.5| M10Ox15 | 7 17 8 50 | 6.6 | 11depth8 | 1/4 [105| 71 | 19
75,100 58.5|50.5

251



CQ2Y series

Bore Size

232 to 050

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Foot: CQ2YL/CDQ2YL Foot (mm)
L B+ Stroke Bore size | Stroke range | Without auto switch | With auto switch L | w !l
(mm) (mm) A|BJ[LS|A[B]|LS
+ + 5 to 50 57.2| 33 | 17
E Spocialcap bol 32 75,100 672 43 | 27 67.2| 43 | 27 | 17 |385| 6.6
5to 50 63.739.5|23.5
40 73.7|49.5|33.5| 17 |38.5| 6.6
— foios0 [ee7]405[ 175
1 sazad| . . B
XY‘ ’_T ﬁx LG 50 75, 100 76.71505(27.5 76.7|50.5|27.5| 18 |435| 9
LS + Stroke i
Bore size | Stroke range
A + Stroke (mm) (mm) LG |LH | LT |LX|LY|LZ| X Y
5to 50
32 4 |3 |82|57 |57 |71 |11.2]58
Male rod end g 75,100
40 75510150(()) 4 33 32|64 | 64|78 |112| 7
10 to 50
L. ﬁ? 50 75, 100 5 39 (32|79 |78 | 9 |147| 8
Foot bracket material: Carbon steel
Surface treatment: Nickel plating
Compact foot: CQ2YLC/CDQ2YLC Compact Foot (mm)
A + Stroke Bore size | Stroke range | Without auto switch | With auto switch L ||
L _ B + Stroke (mm) (mm) A | B|LS|A|B]|LS
! ! 32 755101%% ;i ig Sg: 82 | 43 |70.4| 17 |385]| 6.6
. 510 50 80.9/39.5|66.9
Special cap bolt 40 75, 100 90.9149.5(76.9 90.9|49.5|76.9| 17 |38.5| 6.6
L3 Tt 50 17‘;“1’(‘:‘3 sg‘g ;g'g ;2'2 99.9(50.5|83.9| 18 |435| 9
X X Y Bore size | Stroke range
LH | LT |LX | LY |LZ | X Y
LS + Stroke (@) S(Trr;)o
Male rod end % 32 o5 ] 30 | 32| 34 | 57 | 45 |137| 58
5to 50
40 75,100 33 |32 40 | 64 | 52 |13.7| 7
7% 10 to 50
:j 50 75, 100 39 {32 |50 |78 |64 |16.7| 8
L1 Compact foot bracket material: Carbon steel
Surface treatment: Zinc chromated
Rod flange: CQ2YF/CDQ2YF Rod Flange mm)
Special cap bolt Bore size | Stroke range | Withoutautoswich | With auto switch
(mm) (mm) A B A B FD|FT |FV |FX|FZ
T i 5 to 50 50 | 33
32 75,100 50 | 43 60 | 43 |55| 8 |48 |56 |65
5 to 50 56.5|39.5
E 40 75. 700 Too.5[405] 05| 495(55| 8 |54 (62|72
FT 10 to 50 58.5|40.5
L1 B+ Stroke 50 75, 100 6851505 68.5/50.5/6.6| 9 |67 |76 | 89
A + Stroke Bore size | Stroke range
) ) L L |m
E 5 to 50
| 32 75, 100 17 |38.5| 34
5 to 50
L _E 40 75,100 17 |38.5| 40
! 10 to 50
50 75, 100 18 |43.5| 50

252

Flange bracket material: Carbon steel

Surface treatment: Nickel plating

* For details about the rod end nut and accessory brackets, refer to page 257.



Smooth Cylinder CQZY Series

Bore Size
32 t 50 (Types with auto switch and without auto switch only differ
Q o g in the A and B dimensions. Refer to the table below.)
Head flange: CQ2YG/CDQ2YG Head Flange (mm)
Special cap bolt Bore size | Stroke range | Withoutautoswich | With auto switch Ll
L (mm) (mm) A A
+ B 5 to 50 48
F 32 75,100 58 58 7 |285
5to 50 54.5
| 40 75,100 64.5 64.5 7 |285
L || Bsstoke | | FT 4xoFD 50 1010 50 57.5 675 | 8 |335
A + Stroke 75, 100 67.5
Flange bracket material: Carbon steel
Surface treatment: Nickel plating
(+ Dimensions except A, L and L1 are the same as rod flange type.)
L1
is: i mm
Double clevis: CQ2YD/CDQ2YD Double Clevis (mm)
4xN Bore size | Stroke range Without auto switch | With auto switch
cr Cap bolt (mm) (mm) A BJCL|A]BICL CDh | CT |CU
510 50 70 | 33 | 60
t T {fmﬂ A 32 75,100 80 | 43 | 70 80 | 43 | 70 | 10 5 14
% 5 to 50 78.5|39.5|68.5
%] 1 40 75, 100 8851495785 88.5(49.5/78.5| 10 6 14
cu 50 17(;!2053 1900655 gg: ;gg 100.5/50.5|86.5| 14 | 7 | 20
L B + Stroke |CW| | RR = = = =
CL + Stroke Bore size | Stroke range ewlex|cz| L | L N RR
A + Stroke (mm) (mm) !
5 to 50
32 75, 100 20 | 18 | 36 7 |285| M6x1.0 | 10
5 to 50
40 75,100 22 | 18 | 36 7 (285 M6x1.0 | 10
10 to 50
50 75,100 28 | 22 | 44 8 |335|M8x1.25| 14

Double clevis bracket material: Cast iron
Surface treatment: Painted
# For details about the rod end nut and accessory brackets, refer to page 257.
# A double clevis pin and retaining rings are included.

253



CQ2Y series

Bore Size

263 to o100

Through-hole: CQ2YB/CDQ2YB

O+ thread

H thread effective depth € 4 x oN through

8 x 060 counterbore

e

Both ends tapped: CQ2YA/CDQ2YA

R
LI

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

0

R Both Ends Tapped (mm)
Bore size
: (mm) O1 R
] 63 M10x1.5 | 18
80 M12x1.75] 22
100 |M12x1.75] 22

2xP (Re, NPT, G)

Lead wire min. bending radius 10

(Port size)
Auto switch
e reFan
> i =
a Va a
° \
1)
L B + Stroke
A + Stroke

With boss on head end

With Boss on Head End (mm)

Bore size
40— (mm) The
63 35_0.062
N % 2 80 430052
\N & = 100 59 07
() ==
2
Male rod end
Width across flats B1
MM
\ E Male Rod End (mm)
/\ Bore size
% N (mm) B1 | C1 | H1 | L1 MM X
63 27 |26 11 |33.5| M18x 1.5 |28.5
80 32 [32.5| 13 |435| M22x 1.5 |35.5
100 41 |32.5| 16 |43.5| M26x 1.5 |35.5
C1
X
L1
(mm)
Bore size | Stroke range | Withoutauto switch | With auto switch
(mm) (mm) A B A B C D E F H J K L M N o P Q| w| z
10 to 50 54 | 46
63 64 | 56 | 15 | 20 | 77 (105 M10x15| 7 17 8 60 9 |14depth105| 1/4 | 15 | 84 | 19
75,100 64 | 56
10 to 50 63.5|53.5
80 9 735(635| 21 | 25 | 98 |125/M16x2.0| 6 | 22 | 10 | 77 | 11 [175depth135| 3/8 | 16 | 104 | 25
75, 100 73.5|63.5
10 to 50 75 | 63
100 85 | 73 | 27 | 30 {117 | 13 |[M20x25| 6.5 | 27 | 12 | 94 | 11 |175depth135| 3/8 | 23 |123.5| 25
75, 100 85 | 73

254



Bore Size

263 to o100

Foot: CQ2YL/CDQ2YL

B + Stroke

LY

Special cap bolt

7
o

& &
N Lx:r T\A‘XELD X\‘("J:T rﬁ

LG

LS + Stroke

A + Stroke

Compact foot: CQ2YLC/CDQ2YLC

Smooth Cylinder CQZY Series

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Foot e
Bore size | Stroke range | Without auto switch | With auto switch L lwulLw
(mm) (mm) A | B|LS|A|B|LS

o [t e ] e fne
- 17(;"233 gg Zg:g §g§ 95 63.5(335| 20 |535| 13
100 1721“:53 1%88 sg ig 108 | 73 | 39 | 22 |53.5| 13
Birn? ;i)ze S"Orrﬁnza)”ge LG |LH LT X |LY|LZ| X | Y

63 ;‘;‘:gg 5 | 46 | 32| 95 |915(113|162| 9

80 17(;2300 7 | 59 | 45 |118 | 114 | 140 |195| 11

100 17‘:‘1’(‘:’8 7 | 71| 6 |137]136|162| 23 |125

Foot bracket material: Carbon steel
Surface treatment: Nickel plating

Compact Foot (mm)
A + Stroke Bore size | Stroke range | Without auto switch | With auto switch L L | LD
B + Stroke (mm) (mm) A B |LS| A B | LS
, , 10to 50 |100.4| 46 |82.4
T i 63 75, 100 110.4) 56 |92.4 110.4) 56 |92.4| 18 |43.5| 11
. 10to 50 |120.5/53.5|98.5
Special cap bolt 80 75, 100 130.563.5 108.5130'5 63.5(108.5 20 [53.5| 13
£ Sy 10to50 [136] 63 [ 111
&I 100 75,100 126 73 [ 124 146 | 73 | 121 | 22 |53.5| 13
Bore size | Stroke range
x|y s (mm) LH|LT|LX|LY |LZ| X | Y
LS + Stroke 10 to 50
al dend 63 75, 100 46 | 32| 60 |915| 77 |18.2| 9
ale rod en 10 to 50
% 80 75,100 59 | 45| 77 |114| 98 |225| 11
10 to 50
% 100 75, 100 71| 6 | 94 (136|117 | 24 |125
.:j Compact foot bracket material: Carbon steel
L1 Surface treatment: Zinc chromated
Rod flange: CQ2YF/CDQ2YF Rod Flange mm)
Special cap bolt Bore size | Stroke range | Wihoutautoswich | With auto switch
(mm) (mm) A B A B FD | FT |FV |FX | FZ
1 e ! 10 to 50 64 | 46
o o> 63 75,100 74 | 56 74 | 56 | 9 | 9 |80|92|108
w 10 to 50 73.5|53.5
|2 80 75, 100 835635 83.5(63.5| 11 | 11|99 (116|134
10 to 50 85 | 63
FT
4 xoFD 100 75,100 95 | 73 95 | 73 | 11| 11 |{117|136|154
L B + Stroke
A K Bore size | Stroke range
+ Stroke (mm) (mm) L L | M
10 to 50
63 75, 100 18 |43.5| 60
10 to 50
80 75, 100 20 [53.5| 77
10 to 50
100 75,100 22 |535| 94

Flange bracket material: Carbon steel

Surface treatment: Nickel plating

+ For details about the rod end nut and accessory brackets, refer to page 257.

255



CQ2Y series

Bore Size

263 to o100

Head flange: CQ2YG/CDQ2YG

Special cap bolt

T e H%]
& S| L N
5 - L\
L | lee
L || _B+Stroke | | FT FX 4 xoFD
A + Stroke Fz
L1

Double clevis: CQ2YD/CDQ2YD
4xN
C:p bolt
cT

oCD hole H10

W
é S

L_| | B +Stroke |CW
CL + Stroke
A + Stroke

256

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Head Flange (mm)
Bore size | Stroke range | Wiioutauto switch | With auto switch Ll L
(mm) (mm) A A
10 to 50 63
63 75, 100 73 73 8 |335
10 to 50 74.5
80 75, 100 845 84.5 10 435
10 to 50 86
100 75. 100 % 96 12 1435

Flange bracket material: Carbon steel
Surface treatment: Nickel plating

(+ Dimensions except A, L and L1 are the same as rod flange type.)

Double Clevis mm)
Bo(r:] nil)ze Stro(knt? n:]e;nge W:hOU‘aBU‘OSWgT W:h autBo sw(';ih cD|CT|cu
63 170;158 1958 gg 33 108| 56 | 94 |14 |8 |20
o [ ST ol o]
100 ;gf?gg S 1s2| 73 | 130 22 1 31
BO(frﬁrﬁi)Zé S"":‘ﬂfnrf)‘"ge cw|cx|cz| L |u| N |RR
63 17‘;"233 30|22 |44 | 8 |335[M10x 15| 14
80 17%,“:58 38 |28 |56 | 10 [435[M12x1.75| 18
100 17°5f‘:g’§ 45 (32| 64| 12 |435|M12x 175 | 22

Double clevis bracket material: Cast iron
Surface treatment: Painted

« For details about the rod end nut and accessory brackets, refer to page 257.
* A double clevis pin and retaining rings are included.



CQ?2Y series

Dimensions of Accessories

Single Knuckle Joint

For I-G012, I-Z015A
1-G02, I-G03

For I-G04, I-G05
-G08, I-G10

©@NDH10
o

MM oNDH10

Ei

o

A1 [Us

Material: Cast iron
Surface treatment: Nickel plating

Material: Carbon steel
Surface treatment: Nickel plating

Double Knuckle Joint

For Y-G012, Y-Z015A For Y-G04, Y-G05
Y-G02, Y-GO03 Y-G08, Y-G10
oND hole H10 oND hole H10
MM Axis d9 |
MM
o
f C o
) :
alul L |
[ NZ l
A

Material: Cast iron
Surface treatment: Nickel plating

Material: Carbon steel
Surface treatment: Nickel plating

(mm) (mm)
Applicable Applicable Applicable
Part no. |boresze| A | A1 | E1 | La MM |"Ri| Us | NDwo | NX Part no. [boesize| A |A1|E1|Li| MM |*Ri|Us |NDuio| NX |NZ[L| "pin

(mm) (mm) part no.

1-G04 |32,40| 42 | 14 |@22| 30 |[M14x15]| 12 | 14 | 106*° | 1853 Y-GO04 |32,40|42 |16 |022| 30 | M14x15 | 12| 14 | 1008°° | 18135 |36|45| IY-G04
I-GO5 |50,63| 56 | 18 |@28| 40 |M18x15| 16 | 20 | 146°° | 22768 Y-GO05 |50, 63| 56 | 20 |@28| 40 | M18x 15 | 16 | 20 | 14'6°™ | 22135 |44|505| IY-GO5
I-GO8 | 80 | 71 | 21 |@38| 50 |M22x15| 21 | 27 | 188" | 28358 Y-GO8 | 80 |71(23|038| 50| M22x15 |21 |27 | 188" | 2815 |56/64] IY-G08
I-G10 | 100 | 79 | 21 |@44| 55 |M26x15| 24 | 31 | 22%* | 3268 Y-G10 | 100 |79 |24 |o44] 55 | M26x1.5 | 24 | 31 | 22:°* | 32:33 |64|72| IY-G10

# A knuckle pin and retaining rings are included.

Knuckle Pin (Common with double clevis pin) Rod End Nut
— PE
ois
m L m
™
L t
]
t N H
Material: Carbon steel
Material: Carbon steel Surface material: Nickel plating
(mm) (mm)
Applicable Applicable Applicable bore
Part no. bo(ryﬁjn)ze Dd9 Lid|L | m|t retaining ring Part no size (mm) d H B C
1IY-G04 | 32, 40 108872 |41.6]9.6 | 36.2| 1.55| 1.15 | Type C 10 for axis NT-04 32, 40 M14x 1.5 8 22 25.4
1IY-G05 | 50, 63 14885 |50.6| 13.4 | 44.2]2.05| 1.15 | Type C 14 for axis NT-05 50, 63 M18x 1.5 11 27 31.2
1Y-G08 80 18888 64 | 17 | 56.2|2.55 | 1.35 | Type C 18 for axis NT-08 80 M22 x 1.5 13 32 37.0
1IY-G10 100 228%% 72 | 21 |64.2]|2.55]1.35 | Type C 22 for axis NT-10 100 M26 x 1.5 16 Al 47.3

+ Type C retaining rings for axis are included.

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size (mm) | Single knuckle joint | Double knuckle joint* Rod end nut
ig 1-G04SUS Y-G04SUS NT-G04SUS
gg I-GO5SUS Y-G0O5SUS NT-05SUS
80 1-G08SUS Y-G08SUS NT-08SUS
100 1-G10SUS Y-G10SUS NT-10SUS

# A knuckle pin and retaining rings are shipped together. Refer to the
XC27 for details on stainless steel double clevis pins and double knuckle
pins. The accessories need to be ordered separately from the cylinder.

257



CQ2Y series

Simple Joint (CQ2Y): 632 to 5100

Joint/Mounting Bracket (Type A/B) Part Nos.

Bore size Joint T_ype A T_ype B =
[mm] mounting bracket | mounting bracket
32,40 YU-03 YA-03 YB-03
50, 63 YU-05 YA-05 YB-05
80 YU-08 YA-08 YB-08
100 YU-10 YA-10 YB-10
<Ordering>

Joints are not included with type A or B mounting brackets. Order
them separately.

(Example)
Bore size 940 Part no. 1
@®Type A mounting bracket...... YA-03 4
@Joint.. .YU-03
@
Allowable Eccentricity [mm]
Boresize[mm] | 32 | 40 | 50 | 63 | 80 [ 100
Eccentricity tolerance +1 ‘ +1.5 ‘ +2
Axial direction backlash 0.5
Type A Mounting Bracket Type B Mounting Bracket
u T 2xoD —
ins 5 | g
~ i 7
s N > e KRS 2|z
L Ny o =
o - = H] \Joint
I Szl = &
— Ry ;7
1T Joint B 2 x oD through
[ .~ 2 x 00 counter bore ||
LEL E E
B |
Material: Chromium molybdenum steel (Nickel plating) Material: Stainless steel
[mm] [mm]
Bore size Bore size
ool Part no. B D E F M| T | T ]| Part no. B D E J M (o}
32, 40 YA-03 18 | 6.8 | 16 6 42 | 65 | 10 32, 40 YB-03 12 7 25 9 34 [11.5depth7.5
50, 63 YA-05 20 9 20 8 50 | 65 12 50, 63 YB-05 12 9 32 11 42 |14.5depth 8.5
80 YA-08 26 11 25 10 62 | 85 16 80 YB-08 16 11 38 13 52 | 18 depth 12
100 YA-10 31 14 30 12 76 | 10.5| 18 100 YB-10 19 14 50 17 62 |21 depth 14
Bo[rr:r:i]ze Part no. U Vv W | Weight [g] Bo[l:r:i]ze Part no. T | T2 \' W | RS | Weight[g]
32,40 YA-03 6 18 | 56 55 32, 40 YB-03 65 | 10 | 18 | 50 9 80
50, 63 YA-05 8 22 | 67 100 50, 63 YB-05 65 | 12 | 22 | 60 | 11 120
80 YA-08 10 28 83 195 80 YB-08 8.5 16 28 75 14 230
100 YA-10 12 | 36 | 100 340 100 YB-10 |105| 18 | 36 | 90 | 18 455
Joint
YU-03, YU-05
YU-08, YU-10
Material: Chromium molybdenum steel (Nickel plating)
Boresize | poing | ua | ¢ | @ | e H K | L | ur |Weidht
H [mm] [d]
(With locking) 32,40 | YU-03 | 17 11 | 158 | 14 | M8x1.25 8 7 6 25
ﬁ 50,63 | YU-05 | 17 | 13 | 198 | 18 | Mi0x15 | 10 7 6 40
5 N s Q @»» 80 YU-08 | 22 | 20 |248| 23 | Mi6x2 | 183 | 9 8 | 90
@ | J = V 100 YU-10 26 26 29.8 28 M20 x 2.5 14 1 10 160

ut L
UA Cc

® 258



CQ?2Y series
Auto Switch Mounting

Auto Switch Proper Mounting_; Position (Detection at stroke end) and Its Mounting Height

D-M9CI 232 to 100 A B
D-M9COIW
D-M9CIA
D-A9CIV —————
D-M9CIV - -
D-M9COIWV e
D-M9UIAV
D-A90]
D-A70 D-F7NT 232 to 2100
D-A80 D-A73C R
D-A70H  D-A80C e@«‘fﬁ\w@
D-A80H D-J79C i ¢$ i
D-F70 D-A79W & %
D-J79 D-F7O0WV ) Q% é’g
D-F7O0W D-F700V ! T T
<0
D-J79W | A Eﬁﬁ B
D-F79F
D-P3DWA 232 to 0100
-u A .
‘ |
2 K —c [ om®
7 e N
A\ S =
- o [ 3
T 8
Auto Switch Proper Mounting Position (mm)
Auto switch| D-M9C1/D-M9OCIV D-A72/A7C1H/A80H
model| D-MOCIW D-A9C] D-A73 D-A73C/A80C/F7L0]
D-M9OIWV D-ASCIV D-AB0 D-F79F/J79/F70IV D-F7NT D-A79W D-P3DWA
D-M9CA D-J79C/F70OW
D-M9TJAV D-J79W/F7TO0WV
Bore size A B A B A B A B A B A B A B
32 18 13 14 9 15 10 15.5 10.5 20.5 15.5 12.5 75 135 85
40 21.5 16 175 12 185 13 19 13.5 24 18.5 16 105 17 11.5
50 19 19.5 15 15.5 16 16.5 16.5 17 215 22 13.5 14 14.5 15
63 215 225 175 185 185 195 19 20 24 25 16 17 17 18
80 24.5 27 205 23 215 24 22 24.5 27 29.5 19 215 20 225
100 275 33.5 235 295 245 30.5 25 31 30 36 22 28 23 29
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-F70179
model D-F7O0WN79W
D-MOOV | D-A9CV  |D-F7BA DErwy | D-7ec AT DArSC | D-ATOW | D-P3DWA
D-F79F/F7NT | " & &
D-A7CJH/A80H
Bore size u U u u u u u u U
32 30 27.5 36 36.5 39.5 34 40.5 37.5 355
40 32 30 38 40 425 375 435 40.5 38
50 375 35 435 45 48 43 49 46 43
63 425 40.5 48.5 50.5 53.5 48 54.5 51.5 48
80 51 49 57 59 615 56.5 62.5 59.5 56.5
100 59 57 65.5 67 70 64.5 71 68 65




CQ2Y series

Minimum Stroke for Auto Switch Mounting

(mm)
D-A9CIV
Number of | D-MSOV | D-A70] D-MOUWV| D-MID | oo | poao T
ato | D-F7OV | D-AB0 | D-A9C |D-M9UAV | D-F7D | DMSCW | D-ATCM | poazew | DJ7W | p-papwa
swiches | D-J79C | D-A73C D-F7TOWV | D-J79 Pty
D-A80C
With 1 pc. 5 5 10 (5) 10 15 (5) 15 (10) 15 (5) 15 20 (10) 15
With 2 pos. 5 10 10 15 15 (5) 15 15 (10) 20 20 (15) 15

Note) The dimensions stated in () shows the minimum stroke for the auto switch mounting when the auto switch does not project from the end surface of the cylinder

body and hinder the lead wire bending space. (Refer to the figure below.)
Order auto switches and auto switch mounting brackets separately.

—

iy P2y
A <7

%—H

Operating Range

(mm)

Bore size
32 40 50 63 80 100

Auto switch model

D-M9CI(V)
D-M9CIW(V) 5 5 6 65 | 7 75
D-M9TIA(V)

D-A9C(V) 9 95 | 95 | 11 105 | 105

D-A7CI(H)(C)
D-ASOTIH)C) | 105 | M8 | 11 | 13 | 115 ) 115

D-A79W 14 155 14.5 17 15 15.5

D-F70I(V)
D-J79(C)
D-F70O0W(V) 5 5 5 6 7 8
D-F7NT
D-F79F
D-P3DWA 6 6 7 75 75 75

+ Values which include hysteresis are for guideline purposes only, they are not
a guarantee (assuming approximately +30% dispersion) and may change
substantially depending on the ambient environment.

* The auto switch mounting bracket BQ2-012 is not used for 832 or more with
the D-M9OI(V)/M9OTIW(V)/MOLIA(V)/A901(V) types. The above values indicate
the operating range when mounted with the current auto switch installation
groove.

260



Auto Switch Mounting CQZ Y Series

Auto Switch Mounting Brackets/Part No.

Applicable Cylinder Series: CDQ2

bracket part no.

D-MC/MOCIV D-F7CYF70IVII79/J79C/F7CIW
Applicable D-M9CIW/MOIWV J79W/F7CJWV/D-F7BA/F7BAV D-P3DWA
auto switch D-MSCIA/MSCIAV F79F/F7NT/D-A7C1/A80/A7C1H
D-A9C/A9CIV A80H/A73C/A80C/A79W
Bore size (mm) 23210 0100
Auto switch mounting _ BQ5-032 _

® Auto switch fixing screw (M2.5 x 10 L)
® Auto switch mounting screw (M3 x 8 L)
® Auto switch spacer

© Auto switch mounting nut

mounting surface

Auto switch Weight: 3.5 g
mounting bracket _ _
fitting parts When requesting the enclosure of the auto
lineup/Weight switch mounting brackets (2 pcs.)
with the cylinder for shipment, add “BQ” to
the end of the cylinder model number.
Standard model no. + BQ
Example) CDQ2B32-30DZ-BQ
Surfaces with auto switch mounting slot A/B/C side except port side Surfaces with auto switch mounting slot
Port side ‘%
Auto switch 3 %G%m

~2n A
|

c:amg%
N
b

3
L N
&

Mounting of
auto switch

Auto switch
mounting screw

Auto switch

© When tightening the auto switch mounting screw,
use a watchmakers' screwdriver with a handle 5 to
6 mm in diameter.

Tightening torque for auto

switch mounting screw (N-m)
Auto switch model Tightening torque
D-M9CI(V)
D-M9CIW(V) 0.05100.15
D-A9C](V)
D-M9IA(V) 0.05t0 0.10

(Dinsert the nut into the auto switch mounting
slot on the cylinder tube, and place it in the
roughly estimated setting position.

(@With the lower tapered part of the auto switch
spacer facing the outside of the cylinder tube,
line up the M2.5 through hole with the M2.5
female thread of the auto switch mounting nut.

(3Gently screw the auto switch mounting nut
fixing screw (M2.5) into the thread of the auto
switch mounting nut through the mounting hole.

(@Engage the ridge on the auto switch mounting
arm with the recess in the auto switch spacer.

(5 Tighten the auto switch mounting screw (M3)
to fix the auto switch. The tightening torque of
the M3 screw must be 0.35 to 0.45 N-m.

(®Confirm where the mounting position is, and

tighten the auto switch fixing screw (M2.5) to

fix the auto switch mounting nut. The
tightening torque of the M2.5 screw must be

0.2510 0.35 N-m.

The detection position can be changed under

the conditions in step ().

Auto switch mounting screw
(M3x05x8L)

Auto switch

Auto switch fixing screw
(M25x0.45x10 L)

Auto switch spacer

/\'\ Auto switch mounting nut

(Dinsert the mounting bracket into the mating
groove of the cylinder tube.

(2)Check the detecting position of the auto switch
and fix the auto switch firmly with the hexagon
socket head cap screw (M2.5 x 12L).*

3l the detecting position is changed, go back to
step (.

Note 1) Ensure that the auto switch is covered
with the mating groove to protect the
auto switch.

Note 2) The tightening torque for the hexagon
socket head cap screw (M2.5 x 12L) is
0.2t0 0.3 N-m.

Hexagon socket head cap screw
(Included with auto switch) (M2.5 x 12 L)

Note) Auto switch mounting bracket and auto switch are enclosed with the cylinder for shipment.
The auto switch mounting bracket for the D-F7BA(V) type uses the BQ5-032 with the normal specifications (iron screw).

261 ®



CQ2Y series

R e e e e e e e e e T R

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 1341 to 1435 for the detailed specifications.

262

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1410 and 1411.
* Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)) are also available. For details, refer to page 1360.
+ Trimmer auto switch (D-F7K) and heat resistant solid state auto switch (D-F7NJ) are not available.

1

1

1

1 Type Model Electrical entry Features Applicable bore size

1 D-A72 —

1 D-A73 ) —

1 Grommet (Perpendicular) - — -
D-A80 Without indicator light

: D-A79W Diagnostic indication (2-color indicator)

1 Reed D-A75C Connector (Perpendicular) —

1 D-A80C Without indicator light

1 D-A72H -

: D-A73H/A76H Grommet (In-line) —

. D-A80H Without indicator light 232 t0 8100

1 D-F7NV/F7PV/F7BV —_

1 D-F7NWV/F7BWV Grommet (Perpendicular) | Diagnostic indication (2-color indicator)

1 D-F7BAV Water resistant (2-color indicator)

1 D-J79C Connector (Perpendicular) —

1 Solid state D-F79/F7P/J79 —

! D-F79W/F7PW/J79W Diagnostic indication (2-color indicator)

: D-F7BA Grommet (In-line) Water resistant (2-color indicator)

1 D-F79F With diagnostic output (2-color indicator)

1 D-F7NT With timer

1

1

1

=



	Smooth/Low Speed Cylinders: C□Y/C□X Series
	Features
	Compact foot brackets
	Part numbers with rod end bracket and/or pivot bracket available
	Smooth Cylinder: C□Y Series
	CJ2Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes, Mounting and Accessories
	Ordering Example of Cylinder Assembly, Mounting Brackets/Part No.
	Weights, Precautions
	Dimensions/Basic (B), Single foot (L)
	Dimensions/Double foot (M), Rod flange (F)
	Dimensions/Head flange (G), Double clevis (D)
	Dimensions/Double-side bossed (E)
	Dimensions of Accessories
	Auto Switch Mounting

	CM2Y-Z1: Smooth Cylinder
	How to Order
	Specifications, Mounting Brackets/Part No., Mounting and Accessories, Standard Strokes, Replacement Parts/Rod Seal, Grease Pack for Maintenance
	Ordering Example of Cylinder Assembly, Weights, Precautions
	Dimensions/Basic (Double-side Bossed) (B)
	Dimensions/Axial Foot (L), Rod Flange (F)
	Dimensions/Head Flange (G)
	Dimensions/Single Clevis (C), Double Clevis (D)
	Dimensions/Rod Trunnion (U)
	Dimensions/Head Trunnion (T)
	Dimensions/Integrated Clevis (E)
	Dimensions of Accessories
	Auto Switch Mounting

	CM2Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Mounting Brackets/Part No.
	Mounting and Accessories, Standard Strokes, Replacement Parts/Rod Seal, Grease Pack for Maintenance
	Ordering Example of Cylinder Assembly, Weights, Same Mounting Dimensions as the Low Friction Cylinder, Precautions
	Dimensions/Basic (Double-side Bossed) (B)
	Dimensions/Axial Foot (L), Rod Flange (F)
	Dimensions/Head Flange (G)
	Dimensions/Single Clevis (C), Double Clevis (D)
	Dimensions/Rod Trunnion (U)
	Dimensions/Head Trunnion (T)
	Dimensions/Integrated Clevis (E)
	Dimensions of Accessories
	Auto Switch Mounting

	CG1Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes
	Ordering Example of Cylinder Assembly, Replacement Parts/Seal Kit
	Mounting Brackets/Part No., Weights, Mounting Procedure
	Dimensions/φ20 to φ100
	Dimensions/Mounting Bracket
	Dimensions of Accessories
	Auto Switch Mounting

	MBY: Smooth Cylinder
	How to Order
	Specifications, Standard Strokes, Accessories, Mounting Brackets/Part No.
	Minimum Operating Pressure, Replacement Parts/Seal Kit
	Ordering Example of Cylinder Assembly, Weights
	Dimensions/Standard
	Dimensions/With Mounting Bracket
	Pivot Bracket/Trunnion and Double Clevis Pivot Bracket
	Dimensions of Accessories, Bracket Combinations
	Auto Switch Mounting

	CA2Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes, Accessories, Replacement Parts/Seal Kit
	Ordering Example of Cylinder Assembly, Weights/Aluminum Tube
	Dimensions/Basic, Axial Foot
	Dimensions/Rod Flange, Head Flange
	Dimensions/Single Clevis, Double Clevis
	Dimensions/Center Trunnion
	Trunnion and Double Clevis Pivot Bracket
	Dimensions of Accessories
	Auto Switch Mounting

	CS2Y: Smooth Cylinder
	How to Order
	Application Example, Specifications, Minimum Operating Pressure, Maximum Strokes, Accessories
	Mounting Brackets/Part No., Weights, Rod Boot Material., Replacement Parts: Seal Kit, Sliding Resistance
	Relationship between Cylinder Size and Maximum Stroke
	Dimensions/Basic, Foot
	Dimensions/Rod flange, Head flange
	Dimensions/Single clevis, Double clevis
	Dimensions/Center trunnion
	Dimensions of Accessories
	Auto Switch Mounting
	Specific Product Precautions

	CQSY: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes
	Theoretical Output, Intermediate Stroke, Replacement Parts/Seal Kit
	Weights, Mounting Bolt
	Dimensions/φ12 to φ25
	Simple Joint (CQSY): ø12 to ø25
	Auto Switch Mounting

	CQ2Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes
	Theoretical Output, Intermediate Stroke, Replacement Parts/Seal Kit
	Weights
	Mounting Bolt
	Dimensions/φ32 to φ50
	Dimensions/φ63 to φ100
	Dimensions of Accessories
	Auto Switch Mounting




